PISCO

DRIVEN EQUIPMENT

PNEUMATIC scries



INDEX

BTV o

Solenoid Valve 'ti - J

PTV100 -

PTV156 o

PTV188 - ;_‘E
» P

PCOS s

Slide Cylinder

PCKA scrrs

Clamp Cylinder r«i
) P.SQ ‘O

P CKB SERIES

Clamp Cylinder
»y) P.56 I ]:

BEGS oo

yy) P.40 3 *I-

Guide Cylinder

| PCKC scrics

}

Pneumatic—swing
Clamp Cylinders

yy) P.58

PAS/PTA scrrcs

Pneumatic—swing
Clamp Cylinders

»yy P.61

PAF scres

PSE scrrcs

Stopper Cylinder

wl

e

»y P72 E_J

PAQF D/M scrrcs

| PCHO screics

Parallel Gripper (2—finger)

=

yy) P.82

| PATFR 1o

Filter J Micromist filter i i -
PAF302 = PAF302D/M il v 15 Ia- ]
PAF401 | II PAF401D/M 1 |
PAF501 b4 PAF501D/M I
») P.91 L »») P.96 »y P.101 ME 8 5
PAFPR scrics I PACT scries I PAR scrics |
Air units 2 Air units i eed Pressure Regulator r | }
PAFR302 I PACT302 i FIET ) PAR302 = 2
PAFRA401 1 PACT401 ! f - PAR401 ol
PAFR501 i PACT501 i il PARS501 |
»» P.102 . »» P.108 ¥ H o P14 L

PAR scrics

Precision Regulator

Eﬂ

PAIR100 =~

PAIR200 .

PAIR300 "ﬁhi
) P.119 %'




PTV-100 series

For more information
Please scan

B Specification

Model 4E1 42 | 4e2CPR
Bore No. M5
Port size M5 0.8
No. of port 5
No. of position 2 3
Medium Air
Operating perssure range 0.2~0.7 MPa
Proof pressure 1 MPa
Efiective |Body ported 4.5 mm?
orifice I\ anifold 4.5 mm? 45/5/ 45 mm
Reponse time 12 ms 15 ms
Ambient temperature +5~450° C
Max. operating frequency 5 Hz
Voltage AC 110V, 220V (50/60)Hz, DC24/12/6V
. Power consumption | AC=1.6/2.5VA, DC6=1.2W, DC12/24=0.55W
Caution |
B Don't continuous energizing for about 2 hours or more, fvelaklcvetEnsimnds £10%
B The total energizing time of a day don't exceeds the total non— Insulation class B class
energizing time even i it is intermittent energizing. Weight 30g 44 g 59 ¢

| Order example of valve

_PTV -100M - 4E2C - AC110 - LJ1

c .

el Bvd p VO LTAGE Electric connection WIRE
ode oay : 4 way AC220 V/(50/60)Hz - i : i
- LJ: PI de | LR PI d
width (5 por) ACTIOVIB0/60Hz |y o [y S| e
Bg%‘z"g 1: 1000mm
2: 2000
17 v vy DCeV 3 3000mm
Blank: Body ported type  E1: Single Solenoid C: Closed center

M: Manifold type

E2: Double Solenoid

P: Pressure center
R: Exhaust center

SR: Plug onTop(*2)

(Only for 4E2 type)

*1. Plug with flying leads JPC type.
*2. Plug with flying leads RMH type. (Original)

| Order example of manifold

| Order example of wire

* Use the same wire with PVDY,

PTV 100 | WA2J2|

_PTV -100M- 5B3 - G

FManifoId = WIRE WIRE
. ort theread }
Model Blgnk. Body ported type number  Blank: Rc thread Model VOLTAGE J: JPC type LENGTH
M Manifold type 12 3 G: G thread A2: AC220V(50/60)Hz Blank: 500mm

. > T NPT: NPTthread AT: AC110V(50/60)Hz 1: 1000mm
Mainfold D: DC24V/12V/6V 2. 2000mm
5B : 5 port (for body ported type) - 3: 3000mm

5M : 5 port (for manifold type) R: RMH type




| Dimensions

PTV-100-4E1

PTV-100—-4E?2

B A
2 4

315 315
R2PR1 R2PR1
31
9.8 214 5-M5x0.8 ‘ 214 5-M5x0.8
ol of 4 TS ol o < of PRI FndlIENY rnm.[o
Tl o] L) ES \P’ Ny o« | © I] f—tj V@ |\P’ 1 N~y &
15 " \2-22 thru Q& 11 \ 2-g2 thru
70 (71.4) 99 (101.8)
L 3|
s Q ] JF Q
© [ © [}
AT g : YE L B © s )
. & @ — St oo —
16 9 \2-M3x0.5x5 depth 9 2-M3x0.5%5 depth
N
NN A F T AL FFa & o ay:
T Y U s = N2y Y H
1 | 95| 95 95 | 95
PTV-100-4E2C.P.R
B Flow features
PTV-100-4E2C PTV-100-4E2P PTV-100-4E2R
B A B A B A PTV-100-4E1/4E2
2 4 2 4 24 0.8
AT NN 2T £ o7 ol
s O — Primary pressure
315 315 315 0.6
R2PR1 R2PR1 R2PR1 [CHRe . 0.7 MPa
§0'5 — F~——0.6™
3 £ 04 AN \
| 214 5-M5%0.8 2 03 A \ )
1 e 0.2 0\(.3
| i X~ 3 2
= gE = Sy NV N f @ 0.1 0.1
F N ol 3
1 T\z—rzZthru 50 100 150 200 250 300 350 400
Flow rate N¢min
@ /':CL
I‘l— )
o] ©
© [}
D Q Eﬂ_ O ] N
< — © {}\ —
9 2-M3x0.5%5 depth
9.5 95
~ !
o H D) LD mn A a s
- H on U Y H
59 (60.4) \
108.5 (111.3) (' ): Dimension for LJ plug type.




| Manifold PISCO.

PTV-100-5B*

5 port (for body ported type)

108.5 (111.3)

PVSY-100-4E1 75 (76.4)
QL V3§ 93 >
S I o1
gL 2: uw mm [ |
h =l N & Zm%ﬁ*’f@ o -
=y fSP, ARy |N7+@7
©
PVSY-100-4E2 EALR ?EB o
PVSY-100-4E2C.P.R 16 4-94.5 thru
49
No. of stations P L
2 305 | 485
LI:—t\\ 3 41 59
4 515 | 69.5
g u} -
— & o — g 5 62 80
} Jah 6 72.5 90.5
Al g8 7 83 | 101
(3]
r\ssr_\ J 8 935 | 1115
\—25-5 235 | \Zx3Rel8 9 104 122
10 145 | 1325

PTV-100M-5M*

5 port (for manifold type) PTV-100M-4E1

PTV-100M-4E2 _

@@ 4-34.5 thru
] ‘ il ﬂ 2x3-Rc1/8
|
s [E] 2%+&‘§
Ny © ) e ‘6 ﬁ‘:@w ©
| © ! | A ©
S e L ol 8 .
5 A ©
g 2o elE o o
7] °
18.5 12.5‘
4 P 4
L
No. of stations
N P L
2 39.5 475
3 52 60
o 4 64.5 725
©
A 5 77 85
~ S
N 6 89.5 97.5
< N
b= 7 102 110
2xN-Rc1/8 8 114.5 1225
. . 9 127 135
( ): Dimension for LJ plug type. ™ — =




PISCO.

| Mounting bracket

B Order example of bracket

PTV =100 - 1A

Mounting bracket
1A

Model

2A

2-93.2

[4

27

PTV-100-1A

0 5
& ?%§ ¥

D51

R

@

2

(0

| o I

H
:‘T

-+

2-93.2

31

38

|
<l

7.5

PTV-100-2A

18

21




PTV-156 series

For more information

Please scan
B Specification
Model 4E1 | 4E2 | 4E2 C. P.R
Bore No. B6A
Port size Rc1/8
No. of port 5
No. of position 2 | 3
Medium Air
Operating perssure range 0.15~0.7 MPa | 0.2~0.7 MPa
Proof pressure 1 MPa
Effective [Body ported 11 mm? 95/146 /95 mrA
_ orifice |\anifold 10 mm? 75/13/8 mf
— il l Reponse time 19 ms 20 ms
. E Ambient temperature +5~+50° C
L)
%I ’ Max. operating frequency 5Hz
:I"', | 3 \oltage AC 110V, 220V (50/60)Hz, DC24/12/6V
. Power consumption | AC=1.6/2.5VA, DC6=1.2W, DC12/24=0.55W
CaUt,Ion ) . Available voltage range +10%
B Don't continuous energizing for about 2 hours or more. :
B The total energizing time of a day don't exceeds the total non— Insulation class B class
energizing time even if it is intermittent energizing. Weight 63 g 82 g 102 g
| Order example of valve
_PTV - 156 M- 4E2C - AC110 -LJ1- G|
o= e =
s ' |
Vogel 5 ‘:j i VOLTAGE  Electric connection l l
ode W?dt?q (5 port) AC220 V(50/60)Hz || J: Plug on side | LR: Plug on side WIRE PORT THREAD
7 ACT 188’2(2%60)HZ (*1) (2) LENGTH Blank: Rc thread
E1: Single Solenoid DC12V Blank: 500mm EP_(I_} t’(}rperat?1 |
v E2: Double Solenoid DC6V ;j ;8882$ (OnI); for b0dryea
Blank: Body ported type C: Closed center 3: 3000mm ported type)
C4 : Body ported wuth tube fitting (dia. @ 4mm) P: Pressure center N
C6 : Body ported wuth tube fitting (dia. @ 6mm) R: Exhaust center SR: Plug onTop(*2)
C8: Body ported wuth tube fitting (dia. @ 6mm)
M: Manifold type (Only for 4E2 type)
*1. Plug with flying leads JPC type.
*2. Plug with flying leads RMH type.
(Original)
I Order example of manifold I Order examp|e of wire

* Use the same wire with PVDY,

(PTV - 156M-5B3- G| | PTV|-100]- wA2J2

Manifold WIRE
Model Blank: Body ported type mber Eg;tkfhérﬁigd Model VOLTAGE J: JPC type LENGTH
M: Manifold type ¢ 123 G: G thread A2:. AC220V(50/60)Hz Blank: 500mm
_ + 23 NPT NPTthread Al: ACT10V(50/60)Hz 1 1000mm
Mainfold D: DC24v/12V/6V 2 : 2000mm
5B : 5 port (for body ported type) 3: 3000mm

R: RMH type

(i

5M : 5 port (for manifold type)




| Dimensions

B A B A
PTV-156-4E1 2 4 PTV-156-4E2 2 4
315 315
R2PR1 R2PR1
255 145 5-Rc1/8 ‘ 55.5 (56.5) 145 5Rc1/8
" \ | | N
N o e i
< ‘ECE m@ﬁ\m = ol
NS> U v’ IR = (]IVU w 7z | <y =
14.8 \.2-23.1 thru 44.8 (45.8) %2 23.1 thru
956(96 6) 125.6 (127.6)
{ ¥ [ [t {
1 <~ [ ~I [
| . . j i
vl = < N
~| ™ ™ ~
$ N ° N
2-M3x0.5%5 depth
26 135 2-M3x0.5%5 depth 56 (57) 135
136  13.6 136 136
—— : ——— -
Vo Ve W= Gl v =W IO A VoV Gl v=~-=R N
OOOT—S o, [ DOOT—8
32.8 ‘ 62.8 (63.8) \
PTV-156-4E2C.P.R B Flow features
PTV-156-4E2C PTV-156-4E2P PTV-156-4E2R PTV-156-4E1/4E2
B A 0.8 b o
2 4 © rimary pressure
1] = e LT Jorwe
» 0.6 ~~10.7 MPa
RS PRI RIPRI RIPRA 20_5 \\ 2 N
0.5
64.4 (65.4) 145~ PRel8 - AN
‘ : g 0.3 \% \\ A}
T 202 y
TET (2] 192 T 0 oHE 8 02 TP
°f G & NArNiTZmuLondE: o1 —2
0
53.7 (54 7) 36 2-93.1 thru 90 180 270 360 450 540 630 720 810
— Flow rate N¢min
1 [T |
<~ [
® j } 0 PTV-156M-4E1/4E2
® 2 & 08 ———r—
rima ressure
| AR p— 07 1] I rypf }
= 06 ~ | 0.7 MPa
64.9 (65.9) 13.5 2-M3x0.5%5 depth p 0 BaNTEN
UU)’ 0.5 \\ 0.5\ N
‘ 89.5 £ 04 I Toa ST % TV
‘ 136 © = B \ \
‘ ‘ - g 0.3 ~~.0.3 ‘\ \
Y JahWar) bty o £ 02 [~ =z Y
O OQE&/W\\J = B 3 0.1 01N
» N
71.7 (72.7) | 0

134.5 (136.5)

( ): Dimension for LJ plug type.

80 160 240 320 400 480 560 640 720
Flow rate Né#min




| Dimensions PISCO.

315 315
R2PR1 R2PR1
25 15.5 55 (56) | 155
o o
o | ‘ _ o
Z,ﬁ\n @ L ) ol @ g o [ 7 /Lm,h [_\ 2 © g
NN 1Ty < - | N &/ z A
148 36 | "\ 2-23.1 thru 44.8 (46.2) 36 \ 2-63.1 thru
1 1
95.6 (96.6) 125.6 (127.6)
= - -
4 | ” I T
~ _ —
© [+0) e} ]] ©
N ® s N
g —J
26 13.5 2-M3x0.5%5 depth 56 (57) 13.5 2-M3x0.5%5 depth
13.6 , 13.6 13.6 , 13.6
‘@o - ‘—" ‘50 -
Y War Wa =T 1. Fo Vs W W\ EZ%:M
D EES 8 Lo = Lo
O_QV N\ ] Mk %v AR
32.8 ‘ 3.Rc1/8 | 62.8 (63.8) ! 3-Rc1/8
PTV-156C*-4E2C.P.R
PTV-156-4E2C PTV-156-4E2P PTV-156-4E2R
B A B A B A
315 315 315
R2PR1 R2PR1 R2PR1
63.9 (64.9) 155
| o
ST
° | V7] o) @ m e efe Code M
- Z/ \=/yaN = 9 Tube fitting
: Dl 1= C4 (e4) | (138)
53.7 (54.7) 36 2-03.1 thru C6 (s6) | (14.7)
C8 (28) | (19.3)
_ I,T =
_ _ <
i j il 0
b ] 3 &
64.9 (65.9) 13.5 2-M3x0.5%5 depth
‘ 89.5
13.6 , 13.6
| i g
e N g -
O, BNZANS) &4? S e
717 (72.7) \ 3-Rel/8
134.5 (136.5)

( ): Dimension for LJ plug type.



| Manifold PISCO.

PTV-156-5B*

5 port (for body ported type)

95.6 (96.6)
32.8 (33.8) ’_&»
0 o
PVSY-156-4E1 v & | o— =1
— o T® 1
PVSY-156-4E2 7 OO
+, ©
‘(BJ% @aﬁm @ —L |
Blocking plate 10) ~ %. W,
R Y
© ®\ S
20 2x2-¢4.5 thru
46.6 No. of stations P L
125.6 (127.6)
2 40 60
| 3 56 76
ﬁf‘ —r—T 4 72 92
j 5 88 108
ﬁ " © 6 104 124
— [—] o]
© 7 120 140
yan g} 7Y ol & 8 136 156
_E%—/"\\&Jﬁ ;'t © 9 152 172
21 | 21 2x3-Re1/4 10 168 188
60
*
PTV-156M-5M
5 port (for manifold type)
o
(32}
&) l 2x3-Rc1/4
[ee]
Y =]
2x2-04.5 thru QAR ° "
. ; D
SIS IS S
v N
o o8& © @
o of® &
® ¢, S
| | N
® B ]
1= — -
) [ 17.6
RIS
21 | 175
5| P 5
L
No. of(at)ations P L
2 49.5 59.5
E 3 67 77
4 84.5 94.5
0| 3 5 102 112
N~
—gt N 6 119.5 129.5
7 137 147
2xN-Rc1/4 8 154.5 164.5
19 | 175
9 172 182
( ): Dimension for LJ plug type. 10 189.5 199.5




| Mounting bracket & Spacer assembly PISCO.

m Order example of bracket m Order example of spacer assembly

PTV -156M - 1A PTV -156M - 5BP

Model Blank: Body ported type Spacer assembly

Model Mounting M: Manifold type P Individual SUP spacer assembly
bracket li R: Ind|v_\d_ual EXH spacer assembly
PR : Individual SUP spacer assembly+
1A Individual EXH spacer assembly
2A 5B: 5 Port (for body ported type)

5M: 5 Port (for Manifold type)

PTV-156-1A PTV-156-2A

2-93.2

%
=
/2
|
@,
A\GY
%
N
A@% \
Lo
1.2
43
20.1
29
22
16.6

45.5
37
28.5

36.7

]
12.3
| ©
3.5
o SETE
D —

=
-
® D o

|

12

225 |75




PISCO.

| Spacer assembly

m for body ported type

PTV-156—-5BPR
Individual SUP spacer assembly+

Individual EXH spacer as

PTV-156—-5BR
Individual EXH spacer asse

-5BP

PTV-156
Individual SUP spacer assembly

mbly

embly

S

EXH port

SUP port

m for manifold type

5MPR | |

Individual SUP spacer assembly+

Individual EXH spacer assembly

PTV-156M

PTV-156M-5MR
Individual EXH spacer assembly

PTV-156M-5MP
Individual SUP spacer assembly

EXH port

SUP port

10



PTV-188 series

For more information

Please scan
B Specification
Model 4E1 | 4E2 | 4E2 C. P.R
Bore No. 8A
Port size Re1/4
No. of port 5
No. of position 2 | 3
Medium Air
Operaing perssure range |~ 0.15~07MPa | 02~07 MPa
Proof pressure 1 MPa
Effective |BOdy ported 15 mm? 16.3/27/12.4 mnt
orifice I\ fanifold 13 mm® 13.5/18.4/11 mm?
Reponse time 23 ms 50 ms
Ambient temperature +5~+50° C
Max. operating frequency 5Hz
Voltage AC110V, 220V (50/60)Hz, DC24/12/6V
Power consumption | AC=1.6/2.5VA, DC6=1.2W, DC12/24=0.55W
. Availablevotage rang +10%
CaUtlon Insulation class B class
B Don't continuous energizing for about 2 hours or more. -
B The total energizing time of a day don't exceeds the total non— Weight 79 102 g 106 ¢
energizing time even if it is intermittent energizing.
| Order example of valve
_PTV -156M - 4E2C|- AC110 -LJ1- G|
B = el .
! l 3 ' v
Vodel \?V?(?t?‘lm bty VOLTAGE  Electric connection -
(5 por) AC220V(50/60)Hz | LJ: Plug on side | LR: Plug onside | LENGTH PORT THREAD

v e 18(;/2(2%60)'_'2 D (2) Blank: 500mm glank: Rc thread
E1: Single Solenoid DC12V 1 1000mm : G_thread
E2: Double Solenoid l DC6V 2: 2000mm NPT: NPT thread

3: 3000mm (Only for body

Blank: Body ported type C: Closed center ported type)
M: Manifold type P: Pressure center N
R: Exhaust center | SR Plug onTop(*2)
(Only for 4E2 type)
*1. Plug with flying leads JPC type.
*2. Plug with flying leads RMH type.
(Original)
| Order example of manifold | Order example of wire

* Use the same wire with PVDY,

PTV -156M-SB3- G| [PTV 100 - WA242|

) Manifold Port theread WIRE
Mode! Snl?nr\:én%g%ytsgged Yo number  Blank: Ro ihread Model A2 AggzLoTvA(?g/eo)H - LenaTH
¢ 1,2, 3. G:Gthread : z y Blank: 500mm
NPT: NPTthread A1l: AC110V(50/60)Hz 1+ 1000mm
Mainfold D: DC24V/12V/6V 2% 2000mm
5B : 5 port (for body ported type) 3: 3000mm

R: RMH type

o

5M : 5 port (for manifold type)

11



| Dimensions PISCO.

PTV-188-4E1 24 PTV-188—-4E2 24

315 315
R2PR1 R2PR1
16.5 | 42 3-Rc1/4 T# 3-Rc1/4
10 Tr
THEG e e {tete 0 o B
1 ] wlr e ] ] ]
28 ! 19 2-g4.1 thru 19 2-g4.1 thru
[se] (32}
T P ﬁif
N L ’ t | & i ! "

27.5
(31.8)
275

°

o N4 0 N - =0 <T? X

o
(31.8)

27.5 20 2-M4x0.7%9 depth 58(59.4) |20 ‘ 2-M4x0.7x9 depth
195 18 18 2-Rc1/8 18 _,_ 18 _ 2-Rc1/8
N N T
NV Wa - 40 = o+ A RrorarE
~ o I iy & g
83 91
105.5(106.9) 136(138.8)

PTV-188-4E2C.P.R B Flow features

PTV-188-4E2C PTV-188-4E2P PTV-188-4E2R PTV-188-4E1/4E2
B A B A B A © 08 ‘ |
2 4 2 4 24 o 07 Pri -
s Y — Primary pressure
ML M N e AN M 5 06 |
315 315 315 5 [ o7wpa
R2 PR1 R2 P R1 R2 PR1 @ 05 - F
) \\ \).b
335 ‘ 42 245 > 03 \0_4\\. \
‘ | 3 03 \ |
7 aD) T g 02 ‘\oz\\.
= ’:@E— =— S M ARN [ ® ® 01 \
ek 4 A} ‘_‘/\_ ] /m Wl_ = SI 8 0.1
0
3Re1/4 19 2-94.1 thru 200 400 600 800 1000 1200 1400

Flow rate N¢min

[se}
il I
‘ ] PTV-188M-4E1/4E2
@«
< 1 ] > 0.8 ‘ ‘
o ﬁ} $ |°/ o < 0.7 Primary pressure
s ' ]
— © L \\ —2 \
B o 06
67(68.4) L 20 | \ 2w4x0.7x9 deptn 2 05 —~ o7mPa
@ 0.
2-Rcl/8 ‘ 36 g 04 o}qs
al > 03 N 0.4
U warwE A S R P A
‘ o 5 o
o~ @ Y V'— ] 01 |21 N).Z
g o
100
0
145(147.8) 200 400 600 800 1000 1200 1400

Flow rate N¢min

( ): Dimension for LJ plug type.

12



| Manifold PISCO.

PTV-188-5B*

5 port (for body ported type) 105.5 (106.9)
37.5 ‘
) 2
ol 3] b | 4
D A Z}?W
PVSY-188-4E1 m @ﬁ%
rl RSN %E@ el
PVSY-188-4E2 % % hnat 7-?
PVSY-188-4E2C.PR j :%@ %
o
21 2x2-g4.5 thru
145 (147.8)
No. of stations P L
2 46 66
ﬁfﬁfﬂ‘ -+ ‘ihj_ ) 3 65 85
o | @ 4 84 104
—h S = © 5 103 123
{} 1 6 122 142
i VAR Q 7 141 161
@:f"\& < o 8 160 180
‘A.A,‘ 2x3-Rc1/4 9 179 199
60 10 198 218
PTV-188M-5M*
5 port (for manifold type) ‘
il g |
© 2x3-Rc1/4
ST ® i "

| ,
2x2-54.5 th _|w e
Mé & 4 @hi S [ S
Y by
o ol & - m .
o) N SPAREE
b by
? t B (] s
T 5 _I
< e @ - o 19.1
~ =
208 | 19_| 3 e
6| P 6
L
No. of(at)ations P L
2 49 61
3 68 80
4 87 99
E 5 106 118
6 125 137
| <
7 144 156
an ol 1=
"V €>€}D 3 8 163 | 175
7 9 182 194
2xN-Rc1/4
24 19 £ 10 201 213

( ): Dimension for LJ plug type.

13



PISCO.

| Mounting bracket & Spacer assembly

B Order example of bracket B Order example of spacer assembly

PTV -188M - 1A PTV -188M - 5BP

Model Blank: Body ported type Spacer assembly
Model Mounting M: Manifold type P: Individual SUP spacer assembly

R Individual EXH spacer assembly
bracket PR : Individual SUP spacer assembly-+
1A Individual EXH spacer assembly

2A 5B: 5 Port (for body ported type)
5M: 5 Port (for Manifold type)

PTV-188-1A PTV-188-2A

2-04.2
fan jany; © o ol w
|-z I an N I [ =S
e il v/ I L
66
0 2042
] j &
F
mal LA A S P
MO T U @
=7 W; % . N
26.5 12.5!

14



PISCO.

| Spacer assembly

B for body ported type

5BPR

PTV-188-
Individual SUP spacer assembly+

Individual EXH spacer ass

PTV-188-5BR |
Individual EXH spacer assembly

5BP |

Individual SUP spacer assembly

PTV-188

embly

EXH port

SUP port

B for manifold type

—-5MPR

188M
Individual SUP spacer assembly+

Individual EXH spacer assembly

PTV-

-5MR

PTV-188M
Individual EXH spacer assembly

PTV-188 M-5MP
Individual SUP spacer assembly

EXH port

SUP port

15



PCSS series

For more information

Please scan
e B Features
= S . -4 - High precision combination of cylinder and linear rail.
N - . . o - Flush fit_ting SEensor groove.
X i 2 l:i_-l:l-l;..-'...-' - Magnetic as standard.
U R
":11
iy a i T - i .
B - o - B Specification
. é : E:& \ . il Model PCSS
- ._.._,..-' 4 -J'g 3 i Acting type Double acting
i 1 Tube .. (mm) 6 8,12, 16 20,25
Port size M3x0.5 M5x0.8 Rc1/8
Medium Air
B Table for standard stroke Operating pressure range 0.15~0.7 MPa

Tube I.D. Stroke (mm) Proof pressure 1 MPa
26 10, 20, 30, 40, 50 Ambient temperature -5~+60°C (No freezing)
28 10, 20, 30, 40, 50, 75 Lubricator Not required
312 10, 20, 30, 40, 50, 75, 100 Available speed range 50~500 mm/sec
216 10, 20, 30, 40, 50, 75, 100, 125 Cushion Rubber bumper (Standard) Shock absorber (Option)
2 20, 25 10, 20, 30, 40, 50, 75, 100, 125, 150 Sensor switch (*) RCE, RCE1, RDEP

* RCE, RCE1, RDEP specification, please refer to page 8-10, 14.

B Order example
PCSS - 20L =50 - AS - X12 = U

2

B Stroke adjuster option

Stroke adjuster
- Adjustable stroke range: 0~5mm (Standard)

Model  Tube I.D.

Stroke  Stroke
Adjuster

Blank: Without adjuster

Port

thread

Blank: M thread
(for 26~216)

AS: Adjuster at extension end
AT: Adjuster at retraction end
A: Adjuster at both ends

AS : Adjuster at extension end
AT: Adjuster at retraction end
A Adjuster at both ends

BS : Absorber at extension end
BT : Absorber at retraction end

Blank: Standard
L : Symmetric style

Blank: Rc thread
G: G thread
NPT : NPT thread
(for 20,225)

Adjuster at retraction end
Adjuster at extension end

B: Absorber at both ends Adjustable
AB: Adjuster at extenspn end+ range Egﬁ/h
Absorber at retraction end ) F
BA: Absorber at extension end+ il ; : 125mm A
Adjuster at retraction end -25mm -1-6Q -6 - -
" . . . (Only for stroke R —
X12 (adjustable range: 25mm) is not available for PCSS-6. adjuster)
X11 and X12 are not available for shock absorber type.
*Shock absorber is not available on series PCSS-6.
ouT IN With shock absorber
Th tical f = = - Enables adjustment of stroke
[ | ) - :
eoreucal rorce Unit: N - Absorbs the collision at stroke end and
Tube I.D. |Piston rod |Operating|Piston area|  Operating pressure (MPa) stops smoothly.
(mm) (mm) | direction| (mm®) [o02[03]04]05]06]07 BS: Absorber at extension end
ouT 57 11 171 23| 29| 34| 40 BT: Absorber at retraction end
6 3 B: Absorber at both ends
IN 42 8| 13| 17| 21| 25| 29
8 4 ouT 101 20| 30| 40| 51| 61| 71 -
IN 75 15| 23| 30| 38| 45| 53 IH: * *
| Ba ol -
1 5 ouT 226 | 45| 68| 90| 113|136 158 [ F  padpdjmn
IN 170 34| 51| 68| 85|102] 119 Absorber at retraction end
16 8 ouT 402 80( 121|161 (201|241 281 Absorber at extension end
IN 302 60| 91]|121(151]181]| 211 7
ouT 628 126|188 251|314 | 377 | 400 I
20 10 4 4 4
IN 471 941141188236 | 283 | 330 1 om0 — —©&—
25 12 ouT 982 196|295 | 393|491 | 589 | 687 P S
IN 756 151|227 | 302|378 | 454 | 529

16



| Model selection

PISCO.

Model selection steps Formula / Data Selection example

1. Operating conditions

List the operating conditions
considering the mounting position
and workpiece configuration.
Check that the load weight does
not exceed the max. allowable
load weight and that the average
operating speed does not exceed

- Model to be used.

- Type of cushion.

- Workpiece mounting position.

- Average operating speed Va (mm/s)

the operating speed range.

2. Kinetic energy

Find the kinetic energy E (J) of
the load.

Find the allowable kinetic energy

Ea (J).
Confirm that the kinetic energy

of the load does not exceed the

allowable kinetic energy.

Table 1: Max. allowable kinetic energy: Emax (J)

- Load mass W (kg): Fig 1, Table 2
- Overhang Ln(mm): Fig 2

A ow Y
E=% W (Fo00

Collision speed V = 1.4* « Va
* Correction factor (Reference values)

Ea = K+ Emax

Workpiece mounting coefficient K: Fig 3

Max. allowable kinetic energy Emax: Table 1
Kinetic energy (E) < Allowable kinetic energy

(Ea)

Fig 1: Load mass: W (kg)

Cylinder: PCSS-6-10

Cushion: Rubber bumper

Workpiece table mounting

Mounting: Horizontal wall mounting
Average operating speed: Va = 150 mm/s
Load mass: W = 0.3 kg

Ly =4mm
L, =4mm
Ly =5mm
105210
E= > 0.3 ( 1000) = 0.0066

V=14-150=210

Ea=1-+0.015=0.015
Can be used based on E = 0.0066 < Ea = 0.015

(Continued)

Tube I.D. Allowable kinetic energy
(mm) Rubber bumper Shock absorber
26 0.015 —
28 0.023 0.041
212 0.05 0.105
216 0.104 0.214
220 0.153 0.313
225 0.232 0.472

Table 2: Max. allowable load mass: Wmax (kg)

Fig 2: Overhang: Ln (mm), Correction value of moment center position distance: An (mm)

Tube |.D. Pitch moment Yaw moment Roll moment
Max. allowable load mass
mm) w wl
26 06 y ( My( il w
28 0.8 p L
| , w(==
012 2 L — (1 ——= # [
216 3.7 ) q O
220 6 o §E
g L1 X1 L3
825 8.5 1S i « o ol
% L2 X1
Fig 3: Workpiece mounting coefficient: K Mp ( ° 2. Mr<—»
Table mounting ] wy (= ol, W I
l W* wJj I L3 X2
L1 X2 21 |x3
W
i . - Mep Mey
o [} [} ‘ 5 3 /—\
: m
i . 9|
L~ K=1 Q e _
£ —o o R 2
E |
End plate mounting ‘%. 3, %:7 oOp—
— Qo o
] L I
o o o
W\ f
L~ K=0.6

17



| Model selection PISCO.

Model selection steps Formula / Data Selection example

3. Load factor
3-1 Load factor of load mass

Find the allowable load mass Wa Wa =K« B« Wmax Wa=1+1+0.6=0.6
(kg). Note: There is no need to Workpiece mounting coefficient K: Fig 3 K=1
consider this load factor in the Allowable load mass coefficient B: Fig 4 B=1
case of using perpendicularly in a Max. allowable load mass Wmax: Table 2 Wmax = 0.6
vertical position. (Define a, = 0.) 0,=0.3/0.6=0.5
Find the load factor of the load a, = W/Wa
mass a;.
3-2 Load factor of static moment
Find the static moment M (N-m). M =W «9.8(Ln+Xn) / 1000 ) )
c i | .  cent it Examine My. Examine Mr.
-orrection value of moment center position My = 0.3 - 9.8(4+14.5)/1000=0.05 Mr = 0.3 » 9.8(5+6)/1000 = 0.033
distance Xn: Table 3 _ -
X, =145 X,=6
Find the allowable static moment Ma=K-+y+ Mmax May=1+1+07=07 Mar = 0.7
Ma (N-m). Workpiece mounting coefficient K: Fig 3 Mymax = 0.7 (Same value as May)
Allow load mounting coefficient y: Fig 4 K=1
Max. allowable moment Mmax: Table 4 y=1
Find the load factor a, of the static a,= M/Ma a,=0.05/0.7 = 0.072 o,=0.033/0.7 = 0.047
moment.
3-3 Load factor of dynamic moment Examine Mep. 545
. . (Ln+Xn) Mep =1/3+252+9.8+ j—l=0.09
Find the dynamic moment Me Me =1/3+We +9.8 1n000n ep 1000
(N*m). Correction equivalent to impact We =& « W « V We =4/100+0.3+210=2.52
&: Bumper coefficient X, =6
With urethane bumper (Standard) = 4/100 Meap=1+1-0.7=0.7
With shock absorber = 1/100 K=1
Correction value of moment center position y=1
distance Xn: Table 3 Mpmax = 0.7
. . a;=0.09/0.7 = 0.128
Find the allowable dynamic Mea =K -y+ Mmax _
moment Mea (N-m). Workpiece mounting coefficient K: Fig 3 Examine Mey. (4+16)
Allowable mounting coefficient y: Fig 4 Mey=1/3-252-9.8+ 3555 =0.165
Max. allowable moment Mmax: Table 4 We = 2.52
Find the load factor a, of the a,= Me/Mea X3 =16

Meay = 0.7 (Same value as Meap)

dynamic moment. a'y=0.165/0.7 = 0.235

3-4 Sum of load factors S0, = O+ Gy + Oy + 0+ Al S 1
Possible to use if the sum of the Za,=a,ta,taz <1 >0,=0.5+0.072 + 0.047 + 0.128 + 0.235=0.982 < 1
load factors does not exceed 1. Add it is possible to use.
Table 3: Correction value of moment center position Fig 3: Workpiece mounting Fig.4: Allowable load mass coefficient:
distance: Xn (mm) coefficient: K Allowable moment coefficient: y
Tube ID. X1, Stroke (mm) x2 | xa | | Table mounting (k=1) ?E‘ > 10
(mm) 10|20 | 30 |40 | 50 | 75 100125150 - \
26 14.5|/14.5(19 |26.5|35.5| — - - - 6 | 16 Eg \\
28 |14.5(14.5|19 |28.5|35.5|49 - - - 8 | 20 W ; § 0.7 A\ v
912 |23.5(23.5|23.5|27.5|33 |50.5(68.5| — - | 95| 25 ] g g 05 P\ \
216 |22.5|22.5|22.5|26.5|32 |51.5|67.5|85 - 110.5] 31 L o -] o ‘ E g 0:4 \
220 [25 |25 |25 |25 |32.5|49.5|68.5/88.5/88.5|15.5| 38 o <203
225 |24 (24 |24 |24 |31.5|51.5(66.5|86.5|91.5(20.5| 46 (_-g % 0.2
Table 4: Max. allowable moment: Mmax (N-m) End plate mounting (K=0.6) <=‘: <
rall StoRa /) ] 0 100 .200 300 500 700
(mm) [0 [ 20 | 30 | 40 | 50 | 75 | 100 | 125 | 150 | o o o Average opera t;';%jg f,efm\ﬁ,g"m/s)’
AT P N T U T l W i note: Use the average operatin
08 2 2 126135139139 - — — " \s(peed.when calculatingg ststic ’
212 | 3.9 [ 39|39 | 55|68 |96 |96 | - - moment. Use the collision speed
216 | 98 | 98 | 98 |98 | 12 | 21 | 30 | 30 | — when calculating dynamic moment.
220 | 16.4 |16.4 | 16.4 (16.4 | 24.2 (314 |455| 455|455
225 |26.5|26.5|26.5(26.5(37.8(49.8|62.2]62.2]62.2

18



| Capacity g6~@12 PISCO.

B Table deflection (Reference values)

Table displacement due to roll Table displacement due to yaw moment Table displacement due to pitch
moment load load moment load
Table displacement of section A when Table displacement when loads are Table displacement when loads are
loads are applied to the section F with applied to the section marked with the applied to the section marked with the
theslide table retracted. arrow at the full stroke. arrow at the full stroke.
F
A F F F
1 | [ | s o l
] .
o o o
[-] [-] [-} @ O  — (-] o [-]
B = > e
.
) ) [ ‘
Stroke
26 Lr=24 mm 06 Stroke 26 Stroke
E 0.020 E 0.04 E 0.04
£ E E
€ € €
3 0.015 3 0.03 3 0.03
£ £ £
2 10720730 =z o 50—T-40—730
= / |/ A = < 120
© 0.010 7 @ 0.02 5040730 ® 0.02 >
AL i AVAZAL
S 0.005 A 20 2 001 pZ Al 2 001 L]
= v : y
g ) Lt 2| | 2| 2
o ~ k) @
) 8 8
= 0 10 20 30 40 = 0 10 20 30 40 = 0 10 20 30 40
Load (N) Load (N) Load (N)
Stroke
o8 Lr=50 mm 28 Stroke 28 Stroke
€ 0.020 E 0.04 E 005
£ 20 £ £ 75 y 50
< € < 0.04
30015 10 130 140 150 3 0.03 50— 3 /’
g // % 75 gg—— g 0.03 // / 40
= - A -
 0.010 i 75 5 0.02 A P bosl I g // 30
5 / pod 5 A AT ] E 0.02 A A 20| |
s 7 / & > 10 S / /// 10
5.0.005 v S 0.01 AA ] ° 1
@ - /| [ //// 2001 | //////
8 8 8
= 0 20 40 60 80 = 0 20 40 60 80 = 0 20 40 60 80
Load (N) Load (N) Load (N)
Stroke
212 Lr=65 mm 212 Stroke 212 Stroke
£ 0.035 E 0.04 E 010
£ 75 E
= 0.030 = T =
= 30 E % E 0.8 100 75
8 0.025 20 e 100 30 e
§ 10| 40 50 | 75 & - 20— § 0.06 /
= 0.020 = — = / L = 50
/ A
@ ) / _~T1 100 @ 0.02 o @ 40
§oots 7 o= § A & 0.04 / 2
3 // = & / S e |1
So.010 = S 0.01 = o /] %
@ / A " &0 = 2 0.02 —f—p — 10
el © ©
o 0005 ° 7 o %4
Q Q Q
© © ©
= 0 20 40 60 80 100 120 = 0 20 40 60 80 100 120 = 0 20 40 60 80 100 120
Load (N) Load (N) Load (N)

19



| Capacity @16~ @25

PISCO.

B Table deflection (Reference values)

Table displacement due to roll
moment load

Table displacement of section A when
loads are applied to the section F with
theslide table retracted.

Stroke
216 Lr=89 mm
€ 0.035 40 !
£ 30 |
= 0.030 20 125+
10 50 100

75
5§ 4
< 0.020 S
[0} / /

€ 0,015 -
g N/
8 0.01
%00 0 ///
T 0.005
o
Q
e 0 40 80 120 160 200
Load (N)
Stroke
220 Lr=122 mm
E 0035 40 I
S 30 150
= 0.030 20 125
5 10 50 75 100
o Vi
2 0.025 7 v
£ 0.020 / 7 //
c
[
£0.015 / / 7 //
/7%
5 | W
S 0.005
)
Q
e 0 40 80 120 160 200 240

Load (N)
Stroke
925 40 Lr=154 mm
30__1 | 150_]
0.035 20 | 135
10—50—75. 100

A/
177
A/
'/
v

©c o o o o o
o ©o o 9 9o 9
S = S RN @
G o oo o o o

Table displacement amount (mm)

0 50 100 150 200 250 300
Load (N)

Table displacement due to yaw moment
load

Table displacement when loads are
applied to the section marked with the
arrow at the full stroke.

F
o o
o(@ o@Qp
o o
o o o l
216 Stroke
’g 0.04 i 190
= 125. 50
c 40
3 0.03 ,/
% / N 30
P F A 20
T 0.02 ydva T
g V4=
(_% /é/ =
% 0.01 ///
° ||
o
3
= 0 50 100 150 200
Load (N)
220 Stroke
E 005 I
£ 100
S 0.04 150—125. 75—
o
§ 0.03 // / // 20—
C
§ 0.02 // ; 20
a % 4/ 10
I e =z
; < %/
3
= 0 100 200 300
Load (N)
225 Stroke
'é 0.05 I I
= 15071251007 |
c v ya Z1
5 0.04 V171
5 SN
€ 0.03 4 Ve 407
@ — -
£ 2 //// Z /60__
g 00 IO 20
) N A L1701 |
s - 10
2 0.01 ]
kel —
Q@
S
= 0 100 200 300 400
Load (N)

20

Table displacement due to pitch
moment load

Table displacement when loads are
applied to the section marked with the
arrow at the full stroke.

216 Stroke
E o014 I |
E 125 | 100
Z 012 7
= ARD%
2010 A
£ 4
+= 0.08 //
[0} / 75
£ 0.06 = <150
S 004 / / 40
S 002 %, 10
Q
g o 50 100 150 200
Load (N)
220 Stroke
E 010 -
£ 1
< 150 125 100
< 0.08 /1 7 A
>
2 / /
© 0.06 V4 75
< / / /
[0
5 004 // // 28
8 / / AN 130
@ 0.02 | v 71 20
© / I 10
) /%/
Q
e o 100 200 300
Load (N)
225 Stroke
E 0.07 I I I
E 150 125 |10
= 0.06 -
5 4
2 0.05 / 4
£ 7 7T 75
S 004 / // e s0-—
c r
€ 0.03 / L/ jarin
8 / // 1130
c_g- 0.02 / a4 // 20T
k2] 4 — 10
T 0.01 é /% |
)
Qo
e 0 100 200 300 400
Load (N)



| Inside structure & Parts list

PISCO.

AN\

|

Ml

Installation of sensor switch

Sensor switch
RCE,RCE1

Sensor switch
RDEP

Watchmakers
screw driver

B Order example

18)(17
of repair kits
T;_’B_e Repair kits
777777777777 26 PS-PCSS-6
8 | PS-PCSS-8
: 212 | PS-PCSS-12
********* \r== 216 PS-PCSS-16
Q 220 | PS-PCSS-20
225 PS-PCSS-25
2
B Material *1.Auminum alloy *2. Stainless steel *3. Spring steel
Vo' patmame | & | 8 |12%8| Qv [T Mo pamme | & | 8 |12-%8| Qv [REET
1 | Body Aluminum alloy 1 20 | Rod cover washer | Stainless steel| — 2
2 | Table Aluminum alloy 1 21 | Floating connector bolt - *2 2
3 | Plate Aluminum alloy 1 22 | Piston screw - *2 2
4 | Rod cover Aluminum alloy 2 23 | Piston gasket - NBR | 2 [ J
5 | Head cover Aluminum alloy 2 24 | Coverring NBR 2 [ J
6 | Floating connector Stainless steel 2 25 | Piston for magnet ring — *1 2
7 | Piston Stainless steel| *1 2
8 | Cushion pad NBR 2 [ J
9 | Spacer ring *1 | *2 | — 3 . .
10 | Piston rod Stainless steel 2 u Cylmder weight Unit: g
11 | End cushion PU 1 ° Stroke Tube I.D.
12| Cover ring NBR 5 ° (mm) | g6 28 212 216 220 225
13| Rod packing NBR 2 ° 10 89 155 360 576 1050 1636
20 110 166 362 604 1060 1650
14 Piston packing NER 2 hd 30 | 122 | 201 | 369 | 602 | 1092 | 1673
15 | Magnet ring Magnet material 1 40 161 246 425 674 1145 | 1797
16 | Snap ring *3 |Stainless steel| 4 50 199 281 529 762 | 1320 | 1989
17 | Bolt Stainless steel 2 or 4 ) — 394 722 1095 1815 2713
100 - - 960 1410 2365 3260
18 | Slide way Bearing steel 1 125 — — — 1702 2880 4260
19| Nut Stainless steel | — | 2 150 - - - — | 3368 | 4530

*ltem 17. Tube 1.D. g6

~16 (Q'y: 2pcs); Tube 1.D. 820, 25 (Q'y: 4pcs).

21



| Dimensions @6

PISCO.

6 2-M3x0.5(air port)
3 ‘ 10.5(Max.)
™
@] .
| @
s e ©
[t} 1 a - 1o}
I.D' A
3 6.5 2-M2.5x0.45%3 depth
2-M2.5%0.45x3 depth
K 12.5,
Stroke adjuster at extension end Stroke adjuster at retraction end
~——‘18 N-M3x0.5x4 depth 4 5.5
0|
s AWan BN o
0| N
~— ™|

K

4-M2.5%0.45x3.5 depth

£
4
i 4 go
[22]
- —t S0
| Z D
yv4
(NN-1)xH
H G NN-M4x0.7x8 depth
1 5.5
A - | ‘
[N ﬂ)(dl; (Ul
E' @ - ~ @%J ~
= : : 1 i Q| i Q|
H N B
e eI i
i i s B
T = N— N A | S
A B
- i A-A -B
@3H9's *x2.5 depth HA GA
Sxel F | G |[GA| H [HA| 1| J | K| M| N|[NN|Z|2zz
10 | 20| 6| 11 |25 ]| 20| 10 | 17 |225| 42| 4 | 2 |415]| 48
20 [ 30 | 6|21 |35 |20 | 10 |27 [325]| 52| 4 | 2 |515| 58
30 [ 20 | 11 [ 31 |20 [ 20| 7 |40 [425| 62| 6 | 3 |61.5| 68
40 | 28 [ 13| 43 | 30 [ 30 | 19 | 50 |525] 84| 6 | 3 [835] 90
50 | 38 | 17 | 41 | 24 | 48 | 25 | 60 625/ 100| 6 | 4 |99.5| 106

22



| Dimensions @8

PISCO.

2 7 2-M5x0.8(air port)
3.5 | J 1 /.6 9.5(Max.)
. | |
-~ | 7 I 1 n )
& . Cel
10 r -
© g

2-M3x0.5x4 depth

NA-M3x0.5%4 depth

Stroke adjuster at extension end

Stroke adjuster at retraction end

6.5

3.5

4-M3x%0.5x4 depth

2-M4x0.7x6 depth ‘12 12 F
N/2 -1)xF
23H9'2%°x3 depth { ) N-M3x0.5x5 depth
LQ‘G . M |
N
S S
-H \\
| z
Y4
(NN-1)xH
H G NN-M4x0.7x8 depth
13 5.5 13 55
LA 1 B ‘ ‘
T OH @
@@ == 1§ BE= s
T—— 7 {|OF|{ |®F
‘—¢ I - yany) 8§ T < ) —
L Le D= L
A B
* I~ a A-A B-B
#3H9 *8°x3 depth HA GA
sxel F| G |[GA| H |HA| 1| J | K| KAl M| N |NA(NN| Z |2Zz
10 | 25| 9| 17| 28 | 20 [13 |195]|235] - | 49| 4 | 2 | 2 | 485 56
20 | 25 | 12| 12| 30 | 30 | 85[29 [335| - | 54| 4 | 2 | 2 | 535 61
30 | 40 | 13 | 33| 20 | 20 | 95[39 [435| - | 65| 4 | 2 | 3 | 645 72
40 | 50 [ 15| 43 | 28 | 28 [105(56 |535| - | 83| 4 | 2 | 3 [ 825 90
50 | 38 | 20 | 43 | 23 | 46 |24.5|60 |635]|825|101| 6 | 4 | 4 [100.5 108
75 | 50 | 27 | 83 | 28 | 56 [38.5/96 |[885|1325/151| 6 | 4 | 5 [150.5 158

23



PISCO.

| With shock absorber g8

@ & |5
s Sy oo
23.5 20.5 8 A 23.5
|
H=H=| EJ== ©
w o | P ° r’%
© —o-0- ;
T 50
Shock absorber at |

retraction end

at extension end Stroke adjustment range| A dimension
Stroke - - (Retracted side
N /: EH - Extending |Retracting mounting)
10 11.5 20.1
Stroke 50, 75 } s - 20 16.1 25.1
{@74@*4 = 30 Max. 15.1 241
21
) S 40 7.1 16.1
/ 50 18.1 271
75 18.1 271

* Other dimensions not indicated are the same as
the basic style.

24



| Dimensions @12

PISCO.

2-M4x0.7x5depth

2-M5x%0.8 (air port)

2 .95
475 || | J I 8 11 (Max.)
0 |
— B 0
° o O B 3
SHRE)
1] i I
an = O THES
K 5(8.5
Stroke adjuster at extension end KA 185 NA-M4x0.7x5depth
9 5
Stroke adjuster at retraction end
AN R ;o w 4-M4x0.7x6depth
o pi i - P
J A T | I N
“Ho
) &) ) == 9
© ENIZa ) (AN (A =)
“ _ A\ Y Y |- e
pEl [P %
(6] © e\
i )% ©
2-M5x0.8x8depth/ | 16 N-M4x0.7x5.5depth
16 (N/2 -1)xF
@4H9™2%x3 5depth 3
3
of M ®
o 8
5 s
[}
I
<
g | 2 ‘\ ,
D
z
zz
(NN-1)xH G
H NN-M5x0.8x10depth
17 __.10
|_A |_§
ul ) 383 2
17 ‘ ‘ \&ms TR
Iz AWaY F7\Y AL o) _
IN\ZA A\ A\ 4 P
i 1 o O
] 1 © D (@) B I
A -8 A-A B-B
24H9 ;" x3.5depth HA GA
Sodel F| G|GA| H|HA| I [ J| K |KA| M| N |[NA[NN| Z | 2z
10 35 15 15| 40 40 10 40 | 26.5( - 71 4 2 2 70 80
20 35 15 15| 40 40 10 40 | 36.5( - 71 4 2 2 70 80
30 35 15 15| 40 40 10 40 | 46.5( - 71 4 2 2 70 80
40 | 50 | 17 | 42| 25 | 25 | 10 52| 56.5| - 83| 4 2 3 82| 92
50 | 35 | 15 51| 36 | 36 | 22 60| 665 - |103| 6 2 3 102 112
75 55 25 61| 36 72 43 85| 91.5(125.5| 149 6 4 4 148 | 158
100 65 | 35 | 111 | 38 | 76 | 52 | 130 [ 116.5(179.5| 203 | 6 4 5 | 202|212

25



PISCO.

| Dimensions @ 16

2-M5x%0.8 (air port)

W
N
=y

2-M5x0.8x5.5depth

55| , J I .10 13.5 (Max.)
O]
— g \o o
o D
9]
i Pe=qg
= i O ——=
—--0~" o
55 10
NA-M5x0.8x5_ 5depth
Stroke adjuster at extension end K 21
KA 12 6
Stroke adjuster at retraction end
0
e s T e i 4-M5x0.8x7depth
E f - i
= i e g Y
N
o o o = ©
N
A — B e\ 0 o
/” Y AT & . ® ©
D O GK
F
. N-M5x0.8x6depth
@5H9" % x4depth 21 (N2 A)F
w10 M
(=]
0 /
2 g {
D
z
7z
(NN-1)xH G NN-M6x1x12depth
H 24 _ 10
I-A I-B
N\
N Wi w2 [
- CINELERNO)ME
-¢ DB D) m &
N 7 i 3
; 1 JOFT |[@F
s &
#5H9'% x4depth A-A B-B
HA GA
sxel F| G |GA| H|HA| I | J | K| KA| M| N |NA|NN| Z | 2z
10 | 35 | 16 16| 40 | 40 | 10 40| 29| - 76| 4 2 2 75| 87
20 35 16 16 | 40 40 10 40 39 - 76 4 2 2 75 87
30 35 16 16 | 40 40 10 40 49 - 76 4 2 2 75 87
40 | 40 | 16 16| 50 | 50 | 10 50| 59| - 86| 4 2 2 85| 97
50 30 21 51| 30 30 15 60 69 - 101 6 2 3 100 | 112
75 55 26 61| 35 70 40 85 94 | 125 | 151 6 4 4 150 | 162
100 | 65 | 39 (109 | 35 | 70 | 55 | 118 | 119 | 173 | 199 | 6 4 5 | 198 | 210
125 | 70 | 19 (159 | 35 | 70 | 68 | 155 | 144 | 223 | 249 | 8 4 7 | 248 | 260

26




| With shock absorber ¢12, ¢ 16 PISCO.

212 ®
O O
= (D@ H—
J—‘ [AZANY l-'l_,]_
315 15.5 8, _A 315
Q] — _h /rh—_ el
1 —d N s
o 96 o oo ¢
m/%( ENIZ @)
[T AN &/
| Shock absorber o) o0 ° Do
@ S\ at extension end
‘ Shock_absorber at
Stroke 10 Stroke 75, 100 retraction end
- < Stroke Stroke adjustment rangef A dimension
| | | }.I'{— Extending |Retracting (Retracted side mounting)
\ ] 10 0 5
16) 20 6 15
i 7 @ ,,,,, s 30 Max 16 25
\ — a0 | oo [t 23
> ° 50 | O 4 13
75 17 26
100 17 26
* Other dimensions not indicated are the same as
the basic style.
216
B O O
I
(| = (M M
=D OO,
37.5 18 10 A ‘ 37.5
_1_‘ — .
— b=
| o \ —
|
O W0 .0 . 8
NN @
AN = N4
Shock absorber o) °0 ° o °
at extension end
Shock absorber at
retraction end
Stroke 10 Stroke 75~125 A
Stroke Stroke adjustment rangef A dimension
Extending |Retracting (Retracted side mounting)
10 5 10
20 11 20
30 21 30
40 | Max. 21 30
50 24 16 25
75 22 31
100 22 31
125 22 31

* Other dimensions not indicated are the same as
the basic style.

27



| Dimensions @20 PISCO.

2-M6x1x6.5depth

3 13 2-Rc1/8 (air port)
6.5 || J 1,12 14.5 (Max.)
@ |
— |/ ©
S MEe) 0 “
H©O
CH o 9 o
b = ! ‘[Zitj(:;z 3t
6.5 12 NA-M6x1x6.5depth
Stroke adjuster at extension end K 25
46.5 KA 18_, . 6
‘ Stroke adjuster at retraction end
§ E o b 0 6-M5x0.8x8depth
,,,,,,
Q e} ¢] 3
g [ 5@ B0 ———® o e —
R /‘/ o -
=
) ¢ e} O\
,
2-M6x1x13depth 25 F N-M5x0.8x10depth
05HY'S x5depth 27 (N2 1)<F <
Q
13 M S
3 3
46, 2
9 ° . ©
2 o
z D
zz
(NN-1)<H G NN-M6x1x12depth
H
A |B
E :
> 0@ o 3 ‘ — &
_w Y \\y J v ? I +
s 1
" o D
|-A 1B
+0.03 B-B
#5H90 * x5depth HA GA
Se | F | FF| G | GA| H | HA| 1 J| K|KA| M| N|[NA|NN| Z | 22
10 50 40 15 25| 45 35 10 44 31 - 83| 4 2 2 81.5( 97
20 50 40 15 25| 45 35 10 44 41 - 83| 4 2 2 81.5( 97
30 | 50 [ 40 | 15 25| 45 | 35 | 10 44 | 51 - 83| 4 2 2 | 815 97
40 | 60 | 50 | 15 35| 55 | 35 | 10 54 | 61 - 93| 4 2 2 | 91.5| 107
50 35 35 15 50| 35 35 10 69 71 - 108 6 2 3 [106.5 122
75 60 60 19 54 | 35 70 10 | 108 96 - 147 6 2 4 |145.5 161
100 | 70 70 37 | 107 | 35 70 58 | 113 | 121 | 169 | 200 6 4 5 1198.5| 214
125 70 | 70 | 41 | 155| 38 | 76 | 70 | 155 | 146 | 223 | 254 | 8 4 6 |252.5| 268
150 | 80 80 19 | 195 | 44 88 87 [ 190 | 171 | 275 | 306 8 4 7 [304.5 320

28



| Dimensions @25

PISCO.

2-M8x1.25x8.5depth
2-Rc1/8 (air port)

4_,.16
8 J \ 1,15 15.5 (Max.)
o -
2 — |
: d o E <
©
© A A
i u ..... i @ v\
& 15 NA-M8x1.25x8.5depth
K 31
Stroke adjuster at extension end KA
54.5 Stroke adjuster at retraction end |_ 22 7
o Y O 6-M6x1x10depth
& ety o
~ o o o °
o D ™
: 0060~ ©
FF |
S o o o F
2-M8x1.25x15depth 31 F N-M6x1x13depth
30 (N/2 -1)xF
26H9'5*” x6depth £
3
0 15 M ?
° N
7 >
I
: 3 (
D
z
7z
(NN'”XHH G NN-M8x1.25x16depth
34 13.5
A |8
l o’
H AN | oo
J_ @ ¢ g (ST
[ o _ T ‘
.w A w J A\ Il ?
In o % \aa
i |3 QH
o H & D (‘Q)—’—— D |
LA LB A-A
26H9"Y* x6depth HA GA
Sodel F |FF| G [GA| H [HA| I | J | K| KA M | N|[NA[NN| Z | 2z
10 50 40 22 22 | 45 45 12 47 35 - 92 4 2 2 90.5| 108
20 50 40 22 22 | 45 45 12 47 45 - 92 4 2 2 90.5| 108
30 50 40 22 22 | 45 45 12 47 55 - 92 4 2 2 90.5| 108
40 60 50 22 22| 55 55 12 57 65 - 102 4 2 2 [100.5] 118
50 35 35 20 55| 35 35 12 70 75 - 115 6 2 3 |113.5 131
75 60 60 26 61| 35 70 33 90 | 100 - 156 6 2 4 1154.5| 172
100 | 70 70 32 [ 102 | 35 70 50 [ 114 | 125 | 162 | 197 6 4 5 [195.5 213
125 | 75 75 40 | 154 | 38 76 67 | 155 | 150 | 218 | 255 8 4 6 |253.5| 271
150 | 80 80 30 | 190 | 40 80 82 [ 180 | 175 | 258 | 295 8 4 7 1293.5 311

29



PISCO.

| Dimensions — With shock absorber @20, @25

220 7z
g e o
| ‘ Yz | |
= ANZAN74 |
47.5
48 34.8 12 A
gl — HH © )
N —— L\ N &# ‘
‘ ‘ ‘ D @)
O o 5% \ R F
L . 2 + ; .
5 0 © o o
o %o % S
] ) |
Shock absorber
Shock absorber at retraction end
at extension end Stroke 100~150 A St Stroke adjustment range| A dimension
/ = Extending | Retracting|(Retracted side mounting)
10 15.8 28.8
20 25.8 38.8
30 35.8 48.8
40 35.8 48.8
50 | " [308 438
40. - -
75 03 16.8 29.8
100 36.8 49.8
125 36.8 49.8
150 36.8 49.8
* Other dimensions not indicated are the same as
the basic style.
@25
= Ot 1H—
54.5 28.8 15 A 54.5
/ H S HH , X

&
I
b
&
80

R
® A A Shock absorber
at retraction end
Stroke 100~150
W e A Stroke[STok€ adustmentrangel A imension
| - H 7 Extending |Retracting (Retracted side mounting)

10 12.8 26.8
20 22.8 36.8
30 32.8 46.8
40 32.8 46.8
50 | " [208 438
75 363 13.8 27.8
100 34.8 48.8
125 32.8 46.8
150 32.8 46.8

* Other dimensions not indicated are the same as
the basic style.

30



| Dimensions — Symmetric style @6

PISCO.

zz
‘ z
® 5 I
!
A —
o T 1
(N/2 -1)xF
@3H9'°®x2 5 depth
2-M3x0.5x5depth 19 1 F
- \$ ‘ 4-M2.5%0.45x3.5 depth
o) aia ©
S == »—%@ @ 2 o —
D) o .
4 VA ]
: o }é i i
(<) Lol | )
. o 0
18 N-M3x0.5x4 depth 4 o 55 3
Stroke adjuster at extension end Stroke adjuster at retraction end
K 12.5
2-M2.5%0.45x3 depth 3_|.65 2-M2.5%0.45%3 depth s
g
1= 0
0 =7 _{ o
) r _:**q‘ F@@ 3 §x
ik & 4 9
el P18 R
@ 3! J / I !5‘ 10.5(Max.) {/’\ v
2 |6 2-M3%0.5(air port)
D
23H9"0"x2.5 depth HA GA,
& LA B NN-M4x0.7x8 depth
T IR D
~ 7§; —— g @
&b J : 5 NS
: &
s ) SF)
LA | B ! 1 5.5 ! 1 55
H A-A B-B
(NN-1)xH
Sxel F| G |[GA| H |HA| 1| J| K| M| N|NN|Z|2zz
10 20 6 11 25 20 10 17 | 22.5| 42 4 2 |415| 48
20 30 6 21 35 | 20 10 27 [32.5| 52 4 2 |515| 58
30 20 11 31 20 | 20 7 | 40 (425 62 6 3 [615| 68
40 28 13 43 | 30 30 19 50 (525 84 6 3 [83.5| 90
50 38 17 41 24 48 25 60 | 62.5| 100 6 4 199.5| 106

31



| Dimensions — Symmetric style @8 PISCO.

\ z
{E
& i N
Lq‘ 6 ‘ M
(=] T 1
#3H9'3"°x3 depth (N/2 -1)xF
2-M4x0.7x6 depth 12 12 F N-M3x0.5%5 depth

©
OT ,,‘l=l‘ = 3 - 4-M3x0.5%4 depth
= e N o
6.5 3.5
Stroke adjuster at extension end KA Stroke adjuster at retraction end
K 14.6
2-M3x0.5%4 depth 3.8 7 NA-M3x0.5x4 depth
)| ~ i
P -y
T e o]l
=
- | & ,
<l 35 ! J I ! 6 9.5(Max.) \
2 7 2-M5x0.8(air port)
#3H9°x3 depth HA GA
‘ I—A |£ NN-M4x0.7x8 depth

26.5

r‘ | ST ﬂ % - g

i
FiS e @) 2|
IN\NZAg \\ZJ

[0l | 190 |
a7

[ D[l |
o s el
07|

—H ‘& K

®
»
>
®
vy}

(NN-1)xH

el F | G [GA| H | HA | | J| K|KA| M| N[NA[NN| Z | 2z
10 | 25| 9| 17| 28 | 20 |13 |195|235| — | 49| 4 | 2 | 2 | 485 56
20 | 25 | 12 | 12| 30 | 30 | 85|29 |335| — | 54| 4 | 2 | 2 | 535 61
30 | 40 | 13 | 33| 20 | 20 | 95(39 |435| - | 65| 4 | 2 | 3 | 645 72
40 | 50 | 15 | 43 | 28 | 28 [105|56 |535| — | 83| 4 | 2 | 3 | 825 90
50 | 38 | 20 | 43 | 23 | 46 |245|60 |635|825|101| 6 | 4 | 4 [100.5 108
75 | 50 | 27 | 83 | 28 | 56 |38.5|96 |885(1325/151| 6 | 4 | 5 [150.5 158

32



PISCO.

| Dimensions — Symmetric style @12
L -
| z
0 ji o
0| = ™)
N
m‘ N }
o T 1
24H9' 0™ x3.5 depth 16 (N/2 -1)xF
I — N-M4x0.7x5.5 depth
2-M5x0.8x8depth  1p F
[
%’L @ @ & Q/
D . —
2B | e tee e 1
Q
Q» ﬂ} $ ﬂ} F—
@ . E=— « [V 7
N = - of P 4-M4x0.7x6 depth
\e2) W N Stroke adjuster e
”XStroke adjuster at extension end at retraction end
315 ‘ 9 5
KA 18.5
K 585 NA-M4x0.7%5 depth %
h
. - o
E & H 2
s 2 2
e il @ % - , ~
LI 1 (o)) (
475 J \ I ‘ 8 11 (Max.) D
2 _|}95|  \2:M4x0.7x5 depth 2-M5x0.8 (air port)
HA GA
24H9*7* x3.5 depth NN-ME<0.8510 donh
i A -8 e e
R TS ) o g s
i 4 e ol
o0 %01 B Eane
EEi e !
I N\~ J
A B
= = ‘ 17 10
H I
(NN-T)xH G A-A B-B
el F | G [GA| H | HA| | J| K|KA| M| N|[NA[NN| Z | 2z
10 35 15 15| 40 40 10 40 | 26.5| - 71 4 2 2 70 80
20 35 15 15| 40 40 10 40 | 36.5| - 71 4 2 2 70 80
30 | 35 15 15| 40 | 40 10 40 | 46.5| - 71 4 2 2 70| 80
40 | 50 17 42| 25 | 25 10 52 | 56.5| - 83| 4 2 3 82| 92
50 | 35 15 51| 36 | 36 22 60 | 66.5| — 103 | 6 2 3 102 | 112
75 55 25 61| 36 72 43 85 | 91.5(125.5| 149 6 4 4 148 | 158
100 | 65 35 [ 111 | 38 76 52 | 130 [116.5|179.5| 203 6 4 5 202 | 212

33



| Dimensions — Symmetric style @16

PISCO.

25H9")% x4 depth

2-M6x1x10 depth

20

2z
z
[ts} | o
© <
o0
[t} 10 M
o
21 (N/2 -1)xF
F

N-M5x0.8x6 depth

B [hede e 4
< ™0 [{e]
s o 6 & |l g
| @ == 3 1
N 0 _ i =Ly 4-M5x0.8x7 depth
%f . ) EZ } }”m’ Stroke adjuster ! |
S X stroke adjuster B at retraction end b=
37.5 at extension end 1206
KA
K 21 NA-M5x0.8x5.5 depth
55_| .10
2
7 ——1)_ g g
- } &4 H— ¥
e 6., %3
o | Ll @ © 2
A I REE e
55 \ J [T L0 13.5 (Max.) oAt
3 11 2-M5x%0.8x5.5 depth | 2-M5x0.8 (air port) D
05HO " x4 depth - > NN-M6x1x12 depth
| I-A I-B- NN-Mox1x12 depth
4% oy l.
— | < v 2 — ;
; 1 okl @kl
e o o® o — === =1
- ®
- (@l ©
= |
i on L7 )
A B
= = 24 |10
H
(N1 . A-A B-B
el F | G [GA| H |HA| | J| K| KA[ M| N |NA|NN| Z | 2z
10 35 16 16 | 40 40 10 40 29 - 76 4 2 2 75 87
20 35 16 16 | 40 40 10 40 39 - 76 4 2 2 75 87
30 35 16 16 | 40 40 10 40 | 49 - 76 4 2 2 75 87
40 | 40 16 16| 50 | 50 10 50| 59| - 86| 4 2 2 85| 97
50 | 30 | 21 51| 30 | 30 15 60| 69| - 101 6 2 3 100 | 112
75 55 26 61| 35 70 40 85 94 | 125 | 151 6 4 4 150 | 162
100 | 65 39 (109 | 35 70 55 [ 118 | 119 | 173 | 199 6 4 5 198 | 210
125 | 70 19 | 159 | 35 70 68 | 155 | 144 | 223 | 249 8 4 7 248 | 260

34



PISCO.

| Dimensions — Symmetric style @20

zz
z
[t} | [=]
g 0
0 13 M
o
@5H9 '5® x5 depth 27 (N/2 -1)xF
2-M6x1x13 depth 25 E N-M5x0.8x10 depth
[ %w® | F
D
C@ & & & o
t D& —
o (oo |-lvelee—ef] e
SR | FF °
™0
4 4 & —
[ *®] — 1.1
7 N q & N o —: 6-M5x0.8x8 depth
46.5 KA Stroke adjuster at retraction end 18_[6
Stroke adjuster at extension end K 25
65 | 12 NA-M6x1x6.5 depth
= F— 1)
Al _h P =l
9
3 el D D o
i — ] 2
65 | | s 1 [ ]az(1as )
R 2-M6x1x6.5 depth /2—Rc1/8 (air port)
@5H9 5™ x5 depth HA GA
NN-M6x1x12 depth
A B v
4 I % D@ 0 _
H 1 @K O]
| 1 ¢ m — T kg’,,,,t,a
. A &
Wﬁ O =
PaIN Lang
|-A -B 27 _h3s5
H
(NN-1)xH G A-A B-B
sl F |FF| G |GA| H |HA| | | J | K| KA| M| N |[NA|[NN| Z | ZZ
10 50 | 40 15 25| 45 | 35 10 44 31 - 83| 4 2 2 81.5| 97
20 50 40 15 25| 45 35 10 44 41 - 83 4 2 2 81.5( 97
30 50 40 15 25| 45 35 10 44 51 - 83 4 2 2 81.5| 97
40 60 50 15 35| 55 | 35 10 54 | 61 - 93| 4 2 2 91.5| 107
50 35 35 15 50| 35 | 35 10 69 71 - 108 | 6 2 3 |106.5| 122
75 60 60 19 54 35 70 10 | 108 96 - 147 6 2 4 1145.5| 161
100 | 70 70 37 | 107 | 35 70 58 [ 113 | 121 | 169 | 200 6 4 5 198.5| 214
125 | 70 70 41 155 | 38 76 70 | 155 | 146 | 223 | 254 8 4 6 |[252.5| 268
150 | 80 | 80 19 | 195 | 44 88 | 87 | 190 | 171 | 275 | 306 | 8 4 7 1304.5| 320

35



PISCO.

| Dimensions — Symmetric style @25

4

e 8
Q|15 M
g6H9 "2 x6 depth 30 (N/2 -1)xF
2-M8x1.25x15 depth 31 F N-M6x1x13 depth
Sl
& & & g%
3
\ D L N
R @0 —© 8 8 I
FE —
3
D _
© @ @ =
= O 6-M6x1x10 depth
of A : o S F 6-M6x1x10 depth
8 YL G | @
Stroke adjuster 22 |7
Stroke adjuster at extension end KA at retraction end
K 31
8 | .15 NA-M8x1.25x8.5 depth
p— T gl
FH-—-1 o -
&
e oD © -
=] —H 1V / -~
15.5 (Max.
2-M8x1.25x8.5 depth 8! 3 / 1|15, 185 (Max)
2 4 {146 2-Re/8 (air port)
26H9 %" x6 depth HA A NN-M8x1.25x16 depth
A 8 v
N b D & L ' ;
I ? (850 -
| ﬁ VanY ﬁ VanY 77{},A,7 T T +
w A w A [ [
in <> +
J_ - -
AN LANT
A -8 34 13.5
H
(NN-T<H 5 A-A B-B
el F|FF| G |GA| H |HA| 1| J K |KA| M| N |NA[NN| Z | 2z
10 50 40 22 22| 45 45 12 47 35 - 92 4 2 2 90.5| 108
20 50 40 22 22| 45 45 12 47 45 - 92 4 2 2 90.5| 108
30 50 40 22 22| 45 45 12 47 55 - 92 4 2 2 90.5| 108
40 60 50 22 22| 55 55 12 57 65 - 102 4 2 2 |100.5| 118
50 35 35 20 55| 35 35 12 70 75 — 115 6 2 3 [113.5] 131
75 60 60 26 61| 35 70 33 90 | 100 - 156 6 2 4 |154.5| 172
100 | 70 70 32 [ 102 | 35 70 50 | 114 | 125 | 162 | 197 6 4 5 [195.5 213
125 | 75 75 40 | 154 | 38 76 67 | 155 | 150 | 218 | 255 8 4 6 [253.5| 271
150 | 80 | 80 | 30 [ 190| 40 | 80 | 82 | 180 | 175 | 258 | 295 | 8 4 7 1293.5 311

36



| Accessoriesg6 ~ @25 PISCO.

B Order example of stroke adjuster

PCSS |- 20L = AS = X12

2

Model  Tube I.D. Stroke
Adjuster

Blank: Without adjuster .

AS: Adjuster at extension end Adjustable

AT: Adjuster at retraction end range

A Adjuster at both ends

Blank: Standard
L : Symmetric style

BS : Absorber at extension end Q ; ;gnr;rn:
BT : Absorber at retraction end (adjustable range: 25mm) is not available for PCSS-6.
B Absorber at both ends (Only for stroke and X12 are not available for shock absorber type.
adjuster) * Shock absorber is not available on series PCSS-6.
B Stroke adjuster at extension end
Tluge S el Sﬁg{festraazlge Mounted to body Mounted to table
- (mm) A|[B|C|D|E|F M P* H|ITl|J Q*
- Mounted to body PCSS-6-AS 5 16.5
6 6 |17.8{10.5—— 7 |25 | M5x0.8 |M25x10 (12.5| 6 | 8.5/ M2.5x8
PCSS-6-AS-X11 15 26.5
C A PCSS-8-AS 5 16.5
8 | PCSS-8-AS-X11 15 7 |21.5(11 E 813 M6x1 M3x10 [14.6( 7 |10 | M3x10
PCSS-8-ASX12 | 25 36.5]
m PCSS-12-AS 5 20
12 | PCSS-12-AS-X11 15 9.5|31 (16 K 114 M8x1 M4x16 |18.5| 10 (13 | M4x12
PCSS-12-ASX12 | 25 40 |
PCSS-16-AS 5 245
16 | PCSS-16-AS-X11 15 11 |37 |19 m 14 |5 M10x1 M5x16 |21 12 [16.5| M5x16
PCSS-16-ASX12 | 25 44 5|
- Mounted to table PCSS.20-AS 5 275
Q 20 | PCSS-20-AS-X11 15 13 |45.5|24 ﬁ 17 | 6 |[M12x1.25 [ M6x20 |25 13 (21 | M6x20
/7 PCSS-20-AS-X12 25 m
- PCSS-25-AS 5 325
H J 25 | PCSS-25-AS-X11 15 16 [53.5 26.5@ 19 |6 M14x1.5 | M8x25 |31 17 125.5| M8x25
PCSS-25-AS-X12 25 52.5
* Size of hexagon socket head cap screws.
B Stroke adjuster at retraction end
Tube Adjustable
o, | Order code strorrir;a)nge A|B|CID|(E|F|G|H J* K
PCSS-6-AT 5 16.5
6 21 (19 105 8 —— 5 7 | 2.5 |M2.5x8 | M5%0.8
PCSS-6-AT-X11 15 26.5
PCSS-8-AT 5 16.5
8 | PCSS-8-AT-X11 15 25 1225|1125 9 m 6 813 M3x10 M6x1
PCSS-8-AT-X12 | 25 36.5]
PCSS-12-AT 5 20
12 | PCSS-12-AT-X11 15 32 (31 [18.5| 13 W 8|12 |4 M4 x8 M8x1
PCSS-12-ATX12 | 25 40 |
PCSS-16-AT 5 24.5
16 | PCSS-16-AT-X11 15 40 138.5|23 15 m 10114 |5 M5%x10 | M10x1
PCSS-16-AT-X12 | 25 44.5]
: E ‘ : PCSS-20-AT 5 27.5
| _h | 20 | PCSS-20-AT-X11 15 50 (48 |29 21 E 12117 | 6 M5x12 |M12x1.25
| | PCSS-20-AT-X12 25 47.5
: < C : PCSS-25-AT 5 [32.5]
| [ | 25 | PCSS-25-AT-X11 15 60 |58 |35 23 [425| 15| 19 | 6 M6x16 | M14x1.5
I LL I PCSS25ATX12 | 25 52.5]
!_ o _t o _! * Size of hexagon socket head cap screws.

37



| Accessoriesg6 ~ @25 PISCO.

- Adjusting bolt

Tube Adjustable
ID. Order code stroz(;nr]a)nge A B|C|D M
B ﬁ 5 [PCSSEA2 5 (651 [ o1, | wsxos
— PCSS-6-A2-X11 15 26.5
n B = IE PCSS-8-A2 5 16.5
‘ ‘ j — 8 | PCSS-8-A2-X11 15 265 | 3| 8] 4 M6x1
c My DI PCSS-8-A2-X12 25 36.5
PCSS-12-A2 5 20
12 | PCSS-12-A2-X11 15 30 | 4 1] 4 M8x1
PCSS-12-A2-X12 25 40
PCSS-16-A2 5 245
16 | PCSS-16-A2-X11 15 345 5 [ 14| 4 | M10x1
PCSS-16-A2-X12 25 445
PCSS-20-A2 5 275
20 | PCSS-20-A2-X11 15 375 | 6 | 17| 5 [M12x1.25
PCSS-20-A2-X12 25 475
PCSS-25-A2 5 325
25 | PCSS-25-A2-X11 15 425 6 [ 19| 6 | M14x15
PCSS-25-A2-X12 25 52.5

38



| Accessories@8 ~ @25

PISCO.

B Order example of stroke adjuster

- Mounted to body

- Mounted to table

D _A_ Q
P
@%O% -
& y &
g @ - : :
@ =
%) H
E E1 I I
F 5= et
L
C
Twe | Order code Mounted to body Mounted to table
- A|B|C|D|E|E1|F M P |H|J| K| L Q*
8 | PCSS-8-BS 7 (23 |14 [155|385| 6|11 | M8x1 PDSC-0806-3-N | M3x16 [ 16.6| 7 |15.5|14.6 | M3x16
12| PCSS-12-BS | 95(31 [145|16 [385 1| M8x1 PDSC-0806-3-N | M4x16 | 20.5| 10 [ 15 [18.5| M4x12
16 | PCSS-16-BS |11 |37 [175]|19 [455| 8 [12.7| M10x1 |PDSC-1008-3-N | M5x16 |23 | 12 [185(|21 | M5x16
20 | PCSS-20-BS |13 [455|235(26 |67.5| 12|19 | M14x1.5 |PDSC-1412-3-N | M6x25 |27 | 13 |255|25 | M6x25
25| PCSS-25-BS |16 |[53.5|23.5(26.5|67.5| 12|19 | M14x1.5 | PDSC-1412-3-N | M8x25 (33 | 17 | 255|31 | M8x25
* Size of hexagon socket head cap screws.
B Stroke adjuster at retraction end
- Mounted to body - Mounted to table
D E _.E1  *PCSS-8 Q
r—-—-—-"—-="—-—"——"—-—""—-—"—-—- A
tam ' — @) -
() o [ o (— =
L ] [H—
/@ ® VA= B :
o I 7 5 I
} I I
& @ =3 . R
J A l-E_ (5E gy )
N
Tube ord J Mounted to body Mounted to table
raer code
- A|B|C|D|E|E1|F|G J P | K|L|M|N| aQ
8 | PCSS-8-BT 38|23 [125| 14 |385| 6| 8 |12 | M8x1 PDSC-0806-3-N | M3x12 [16.6| 7 |15.5 | 14.6| M3x16
12 | PCSS-12-BT |45 |31 |18 |14 |385| 6| 8 |11 | M8x1 PDSC-0806-3-N | M4x8 |[20.5| 10 |15 |[18.5| M4x12
16 | PCSS-16-BT | 55 | 37 |235| 16 |455| 8 | 10 |12.7| M10x1 PDSC-1008-3-N | M5x10 |23 | 12 |18.5 [21 | M5x16
20 | PCSS-20-BT | 70 | 47 [29 | 23 |67.5| 12 | 12 [19 | M14x1.5 | PDSC-1412-3-N | M5x12 |27 | 13 [255 [25 | M6x25
25| PCSS-25-BT |80 |54 [35 |23 |67.5|12 |15 [19 | M14x1.5 | PDSC-1412-3-N | M6x16 |33 | 17 |25.5 [31 | M8x25

39

* Size of hexagon socket head cap screws.




PCGS series (s6.610)

For more information

Please scan
S W Order form (Example)
- -
LL Sl PCGS|- 6 - 10
i 3 v v v
- | Model Tube ID.  Stroke
- .
L % =
- ¢ =
B Specification
—
-
1 Model PCGS
i i Acting type Double acting
- Tube 1.D. (mm) 6 10
- » ; Stroke (mm) 5, 10, 15 5, 10, 15, 20
L Port size M3x0.5
Medium Air
Max. operating perssure 0.7 MPa
B Features Min. operating perssure 0.15 MPa
Multi—ports as standard enabling both direction mounting. Proof pressure 1 MPa
. o [_ubrication Not required
Non—rotating accuracy = 0.1 -
) Ambient temperature —5~+460° C (No freezing)
Embedding type sensors. :
) ) o o Available speed range 50~400 mm/sec
The sensor cable will be in the same direction as the piping T
tube if vertical type sensor switch (Angle cable) is used. Sensor switch(*) RDGV
Magnetic as standard * This product is not applicable for stopper purpose
B Cylinder weight i B Allowable lateral load
nit: g
L
Tube Stroke (mm) L -
1D. 5 10 15 20
26 29 | 34 [ 30 [ — &B% ’’’’’’’ I T I
210 41 49 57 65 2
w ~ Z
| w
0 PCGS-06 260 |
. . 26 ——
B |nstallation of sensor switch ) — - cecsato -
= 50 B~ =220 (oS
h RDGV > — = =200 ~
ensor switcl 2 40 #1180
5 — =~ S 160 — > —~
Watchmakers € 30 ~ st=5 €140 N st=5
= ~
screw driver B 20 ~ st=10 120 \: st=10
S 3100 st=15
10 st=15 80 st=20
00 5 10 15 25 5 1o 15 35
Eccentric distance L (mm) Eccentric distance L (mm)
B Allowable rotational torque B Alowable eccentric load 5 " Operating pressure
: — 0.3 MPa
& Non—rotating accuracy L L L o 0% vPa or more
: — - =F1EH
—— w0 ¢ 1 e | —
N/~ v ! ! 2 ~ 7
KO . | l | l S SN —
b e [T I
N
Unit: Nm | | .Eo 1 26 EEEE$ —
Tube Stroke (mm) Non—rotating ! ! 8 TS
1.D. 5 10 | 15 | 20 | accuracy 6 | | | - Ii
86 [ooorfos[ —[ e Z I
10| 47 | 39|33 |28 | 0.01 |||
041 1 10 20

Eccentric distance L (mm)

40 43



PISCO.

| PCGS Inside structure & Parts list 36,2 10

W Inside structure & Parts list B Material
. i Repair kits
@ @ @ No Part name Material Qy fineluste)
1 | Body Aluminum alloy 1
@ﬂ\ Z U;U 2 |Rod cover Aluminum alloy 1
X — T 3 | Piston— H Aluminum alloy 1
@\ f 4 | Piston— R Aluminum alloy 1
@\ 5 | Piston rod Stainless steel 1
. 6 | Guide rod Carbon steel 2
7 |Plate Aluminum alloy 1
®\\ 8 [Magnet ring Magnet material 1
9 |Cushion NBR 1 @
@ 10 | Cushion NBR 1 o
11 | Bush Copper 2
12 | Piston seal NBR 1 o
13 |Rod seal NBR 1 @
o 14 | O ring NBR 1 [ J
B Order example of repair kits 35 [ Scrow Carbon stool "
Tube 1D, Repair kits 16 | Screw Carbon steel 2
@6 PS—-PCGS-6
210 PS—-PCGS—-10
| Dimensions
L+Stroke R
BC FC L1+Stroke 2-UN depth MA MB -
2-2Q thru
(Mounting holes) ; —
{} L J O+ 0
. ()j T T e e il
B | I G
% D) D0
) N2EF 5 \J 2-M3x0.5 L //T
- ‘f'i‘ LL> N2 2ZA | ‘ S | \4-XB depth
G Tl'-\ (Mounting holes)
Coe_ | A |BC|BD|CP|CQ|D | E EF FC|FD| G |H (L [L1|MA|[MB|N1|N2

Tube I.D.
6 28 | 9 | 6 [20.5( 15 [20.5) 9 |M2.5X0.45thrul 45 [35 |95 29 |23 |185( 6 | 3 | 7 | 4

10 32|10 |75|23 |17.5| 23 | 11 M3X0.5 thru | 6 5 185|33|25|19| 8 |35]| 7 |45

e g lp|lQ|R|S|[TA|] UN XB | zA

Tube I.D.
6 2 [20.5| 3.3 [145] 6 | 12 | 36.2X0.5 | M3X0.5X5| 1.2

10 3 |23 |43[17]|75[ 15| ¢8X05 | M4X0.7X5| g2

41



PCGS series (s12~063

)

T
o

e -

1L

I* |.r
Il =i
g - Py =1
b
- ¥
-
| *all?
|
a0 2
#
'
.
= e
L] .
g
kb N
#- a

Features

Proven track record in manufacturing precision guided cylinders.
Multi—Ports as standard enabling two direction mounting option.
Flush fitting sensors.

Inbuilt high density rubber pad absorbs energy at the end of stroke,
Magnetic as standard

| Order form (Example)

For more information

Please scan
W Specification
Model
Acting type Double acting
Tube I.D. (mm) 12,16 20,25,32,40 | 50,63
Port size M5X0.8 Rc1/8 Rc1/4
Medium Air
Operating perssure range 0.1~1 MPa
Proof pressure 1.5 MPa
Ambient temperature —5~+60° C (No freezing)
Cushion With rubber cushion pad
Available speed range 50~500 mm/sec
Lubrication Not required
Sensor switch RCE, RCE1, RDEP

@ Purpose / Type of bearing

Code Purpose / Type of bearing
PCGS - 03 - 1 20 - 50 - 20 = G 03 | Stop / Slide bush
07 | Stop / Slide bush / Stroke adjustable
Push / Linear bearing
Model ©) Stroke _ 23 | (Could attach a table for the use as a liter)
Purpose Tube |D. Adjust Stroke 27 Push / Linear bearing / Stroke adjustable
Type of bearing (for 07, 27 type) (Could attach a table for the use as a lifter)
Port Thread @) port Thread
Blank |M5x0.8(or @12, ¢ 16)
Blank | Rc thread
G G thread
B Table for standard stroke NPT | NPT tread (or 212 2 16)
Series variety | Tube Stroke (mm)
(Bearing type) I.D. 1020 [25 |30 |40 |50 | 75 |100|125/150(175[200[250[300[350|400
212 B Installation of sensor switch
@16
PCGS—03 220 .
= 25 —
PCGS-07 (2= —
(Slide bush) -2
@ 40 o
350 - Sensor switch
— ~~  RCE, RCE1
263 Sensor switch
g12 / RDEP
216 J=y
320 e Watchmz_akers
PCGS—23 205 _— < “screw driver
PCGS—-27 e —
(Linear bearing) 8
@ 40 o
@50 —
@63 —

* Tube I.D. @32: 25mm for the shortest standard stroke.

42




PISCO.

| PCGS Capacity g 12~ ¢ 63

M Capacity graph . .
pacity grap - Capacity for the use as a lifter
Capacity for the use as a stopper v
Allowable eccentricity load for the use as
| v | £ i a litter (at supply pressure 0.5 MPa)
———— E
; g | Show the dynamic allowable value at
| ‘ | ‘ ! L(mm) eccentricity from the center of the
i i guide rod.
| | ’
L 7 B Slide bush HLinear bearing
Linear bearing type is not PCGS—-03/07 PCGS-23/27
available as a stopper.
. L 212~232...10-50st 212~232...10-50st
W=Wx- | g _
ke 032 e _\ 32
| i 3 200 ¥ 8 200
St0p CapaCIty For the use of attaching a © ,2,25\ [3) \’/ =
PCGS—03/07 ..30st gl2~¢B2 plate to the link bar, choose £ ﬁ(@ k) _W 420
. a bore size referring to the & 100 A 3 100 016
$300 — 8 8 -
< 032 formula below. @ \:5 012 9] _@( 012
- [0} - o —
5 W : The maximum weight = § === s N E—
"@ 200 f the work carrier in 2 2 ey
g i \ o 3 o 100 200 300 3 o 100 200 300
5 ‘ e albove graph for < Eccentric throw (mm) < Eccentric throw (mm)
T 100 |o20 the stopper's capacity.
£ |
o \
= i \\\ 212~¢32...0ver 51st 212~932...0ver 51st
5 RN [T I = =
z 0 20 30 Coefficients for < 0% < [o32—
Work carrier speed (m/min) conversion 3 200 \ B 200 \
el ( 2 | 025 2 | 625 \
ube |.D. = = )
PCGS—-03/07 ..25st  @10~63 g |20 @ Lo2o_ N\
as / - 20 8 100 = 8 100 2
% 216 42 o Stz — 2 EERY S —
< 500 I — 8 —
) 400 220 42 3 0 100 200 300 3 o0 100 200 300
g 200 225 42 < Eccentric throw (mm) < Eccentric throw (mm)
2
% 100 232 44
© 240 72
< 50 240~263...25-50st 240~263...25-50st
;O 30 250 78 g 1000 063] o Z 1000
5 10 20 30 40 50 263 78 % 500 240- 8 598 \
Work carrier speed (m/min) o 200 2 300 \\
2 100 g \
k= k=
B Normal lateral load g g
50
PCGS—-03/07 ...30st ° s g \
Ire! ire! 30
1000 S 1 g
IS} 10 20 30 50 100 200 2 1 235 10 20 50100 200
z < Eccentric throw (mm) < Eccentric throw (mm)
©
§ 500 232
3 025 { | 40~063...0ver 51st 40~063...0ver 51st
5 Z 2000 063 Z 1000 283
- L o = # 1 es0] = ‘
212 © 1000 g . P 250
—1 — r_g 500 7\' 40 E §§§ Foa
0 02 04 06 08 1 © 388 o 200 NN
Working pressure (MPa) § 100 é 100
[&] (8]
- s 3
2 % 2
© 10 ©
E 10 20 30 50 100 200 (_;3 10 20 304050 100 200
< Eccentric throw (mm) < Eccentric throw (mm)

43



| PCGS Capacity @12~ @63

B Capacity table
Allowable lateral load

N

Shows the dynamic allowable value,
when actuating the cylinder with lateral
load W at the guide rods' top (vertical
load against the guide rods).

B Allowable rotating torque

i

Shows the dynamic allowable value,
when actuating the cylinder with a
rotating torque T at the guide rods' top.

B Anti—-roll accuracy

[0 o-0]

e The values are the deflection
angle against the piston rod.

e Exclusive factor of the guide
rod” s deflection.

Unit: N
Tube ) Stroke (mm)
Bearing type
LD. 10 [20 | 25 [ 30 | 40 | 50 | 75 | 100|125 |150 | 175|200|250300|350 (400
5 Slide bush 31|24 — 191613 |37 |31 (15|13 | 12|10 9 | —| —| —
2 Linear bearing [ 23 |17 | — | 1434|3023 1912|119 (8|6 | —| —| —
16 Slide bush 50|39 | — 32|27 |24 |54 45|27 24|21 | 19|16 | —| —| —
2 Linear bearing |36 [ 29| —| 24|59 |52[40|33|20 (1715|1310 —| —| —
5 Slide bush — |51 | —|44|39|35|54|46| 74|66 |59 |54|28|24|21|19
20 Linear bearing | — [ 43| —| 36198 |87 69|57 |46 |40 | 36|32 |32 |27 |23]20
o5 Slide bush — 68| —|59|52|46| 726119883879 |72|53|46| 41|37
Z Linear bearing — | 67| — |56 148]132|105| 87 | 70| 62 | 55| 50 | 42 | 36 | 30 | 27
332 Slide bush — | —[165] —| —|129[106] 90 |138[123|111]101| 88 | 77 | 68 | 61
Linear bearing | — | — 104 —| — | 74 [165]138]|114[100[ 90 | 81 | 66 | 56 | 48 | 42
40 Slide bush — | —|203] — | —|164|182|159]|142|127]190|174]150|132| 118|106
2 Linear bearing | — | — |113] —| — | 78 [129]106]|130|114[106] 95 | 78 | 67 | 58 | 50
50 Slide bush — | —[296| —| —|245(273|241]|216|195[(190|174|150(132| 118|106
Z Linear bearing — | —|120] — | —| 83 |178]|148]|148|129|106| 95 | 78 | 67 | 58 | 50
Slide bush — | —[296] —| —|245(273|241|216[195 —| —| —| —| —| —
963 Linear bearing | — | — |117| —| — | 81 [176]|145|145(126] —| —| —| —| —| —
Unit: N.m
Tube ) Stroke (mm)
Bearing type
LD. 10 [20 | 25 [ 30 | 40 | 50 | 75 | 100|125]150|175|200|250300|350|400
12 Slide bush 0.64]0.48] — ]0.39]0.32]0.28]0.75]|0.63|0.15|0.13[0.12[0.11{0.09] — | —| —
z Linear bearing 0.47[0.35] — ]0.29]0.71]0.62{0.40]0.38]0.13(0.11]0.09]0.08/0.07 —| —| —
16 Slide bush 1.14[0.90| — |0.74]0.63]0.55|1.23]1.04]0.31(0.27(0.24(0.22(0.18| — | —| —
2 Linear bearing [0.84[0.66| — [0.54/1.35[1.19[0.93[1.76[0.23[0.19]0.17|0.15]0.12] —| —| —
20 Slide bush — [1.14] — ]1.21]1.07]0.95[1.49]1.25]2.03|1.81{1.63]1.48]|0.37(0.32]0.29]0.26
z Linear bearing | — [1.19] — [0.99|2.69|2.40[1.89|1.56|1.26|1.10]0.98]0.88]0.43]0.36]0.31]|0.27
o5 Slide bush — [2.19] — [1.88]1.65[1.47(2.31[1.94[3.15|2.80|2.52|2.30]0.85]0.74]0.66]|0.59
z Linear bearing — [2.14] — |1.79]4.74]4.22|3.36|2.78]2.25|1.98[1.76]1.59]0.68|0.57]0.49]0.42
232 Slide bush — | —[6.61] — | —|5.16]4.23|3.59|5.52|4.93[4.45|4.06|1.72{1.50]|1.33]1.20
Linear bearing | — | — [4.17] — | — [2.95]6.60[5.52|4.56]4.02(3.59|3.24|1.29(1.09|0.94]0.82
Slide bush — | —[7.00] —| —|5.66(6.27]5.48]4.87|4.38[5.21]4.79]|4.13|3.63]3.23]|2.92
40 Linear bearing | — | — [5.24] — | — |4.25]7.19]6.33|7.81]7.11[2.93|2.61]2.16[1.83|1.58]1.39
%50 Slide bush — | —[13.0] —| —[10.8[12.0|10.6(9.50|8.60(5.88|5.41[4.66|4.09|3.65|3.29
Linear bearing — | —[7.02] —| —]5.76[12.3[10.9]11.2|10.2(3.30]2.94|2.43[2.06|1.78|1.57
Slide bush — | —[147] —| —[12.1[135]12.0|10.7(969 —| —| —| —| —| —
263 Linear bearing | — | — |7.77] —| —|3.35[13.7|122|125(11.4] —| —| —| —| —| —
) Anti—roll accuracy
Tube |.D. Bearing type .
12 Slide bush +0.09°
2 Linear bearing +0.06°
16 Slide bush +0.08°
z Linear bearing +0.06°
Slide bush +0.08°
220 Linear bearing +0.03°
Slide bush +0.07°
225 Linear bearing +0.05°
Slide bush +0.07°
932 Linear bearing +0.03°
Slide bush +0.06°
240 Linear bearing +0.08°
Slide bush +0.05°
250 Linear bearing +0.06°
Slide bush +0.05°
263 Linear bearing +0.06"

44




| PCGS—03 Inside structure & Parts list

PISCO.

{

T

T

&

popoe

o

\1[_,

F
“g

AN
@ /:/_
= Aoy

IENSNAS

A\SZ/ANN\>/A

NGNSENY

NSANAR

ZARNS

B Order example of

W Material repair kits
No. % 12|16 |2 |25 |3 |40 |50 63]|ay iﬁgi‘;g'r‘s 1o Repair kits
1| Body Aluminum alloy 1 g12 PS-PCGS-12
2 | Bal Stainless steel 1 216 PS—-PCGS-16
3 | Slide bush Bronze alloy | Bearing aloy | 4 820 PS—-PCGS-20
4 | Rod cover Aluminum alloy 1 225 PS-PCGS—25
5 | Head cover (") Carbon steel | Aluminum alloy 1 832 PS-PCGS-32
6 | Rod packing NBR 1 (] 240 PS-PCGS-40
7 | Cover ring NBR 2 ([ 250 PS-PCGS—-50
8 | Snap ring Spring steel 2 263 PS-PCGS—63
9 | Piston rod Stainless steel Carbon steel 1
10 | Piston » Aluminum aIIoY 1 H Cylinder Welght o
11 | Magnet ring Magnet material 1

Basic weight Stroke 5mm

12 | Magnet holder Stainless steel Aluminum alloy 1 Model PCGS-03 PCGS—03
13 | Piston packing NBR 1 ® Tl
14 | Head cushion NBR 1 ® D.
15 | Bolt SCM 1 212 191 21
16 | Plate Carbon steel 1 @16 283 28
17 | Guide rod Carbon steel 2 @20 450 45
18 | Screw SCM 2 @25 670 63
19 | Rod bush Bearing alloy 1 @32 1,210 90
20 | Piston bolt SCM 1 @ 40 1,474 88
21 | Rod cushion NBR 1 o 250 2540 140
22 | Piston gasket NBR 1 ® 263 3,295 151

* Aluminum alloy

45




PISCO.

| PCGS-07 Inside structure & Parts list

220~@32

212~216 240~263

15)(8)(16)(28)(6) (4 )(7) (18

J

T @
& ®
e
géa
gee

S
y |

T2 1 | [¥
A 3 £ il S — ]
@] || /® = 7 FO; | ]
iR /@ | '$ | -0 @ /®
Q%L\ | //§8 | | @ D) i &
A Il ez aters ‘ | e
: ! zé#’—/@ ‘ %ﬁ‘ﬁ//@ ! !
sl | M=% H® | | @
0 ® === I R @l S s W M
—® e h\é‘:ﬁ_ 2 i ’ﬂlﬂ
! 20 N @ L ‘ i \:
T ® T 0o
@ ‘ ‘ ‘
® | ‘ | ~N e
| | e
@ | 2
5
] I @
B Material
No, [N lD o | g | 20 | 25 | 32 | 40 | s0 | 63 |y |FeParKis
Part name (inclusion)
1 Body Aluminum alloy 1 u Orde.r e).(ample Of
2 | Ball Stainless steel 1~3 repair kItS
3 | Slide bush Bronze alloy Bearing aloy | 4 T‘uge Repair kits
4 | Rod cover #1 Aluminum alloy 1 =
5 Rod cover #2 Aluminum alloy 1 912 PS-PCGS—2-12
6 | Rod packing NBR 2 ° 916 PS-PCGS-2-16
7 | Cover ring #1 NBR 1 o 220 PS-PCGS-2-20
8 | Piston rod #1 Stainless steel Carbon steel 1 225 PS-PCGS—2-25
9 | Piston rod #2 Stainless steel Carbon steel 1 @32 PS—PCGS—2-32
10 | Piston Aluminum alloy 1 @ 40 PS—-PCGS—2-40
11 | Magnet ring Magnet material 1 250 PS—PCGS—2—50
12 | Magnet holder Stainless steel Aluminum alloy 1 263 PS—PCGS—2—63
13 | Piston packing NBR 1 o
14 | Head cushion NBR 1 o
15 | Bolt SCM 1
16 | Plate Carbon steel 1
17 | Guide rod Carbon steel 2
18 | Bolt SCM 2
19 | Cover ring #2 NBR 1 o
20 | FBC board Carbon steel 1
21 | Rod cushion NBR 1 o
22 | Gasket PU 1
23 | Adjustable nut Carbon steel 1
24 | Nut Carbon steel 1
25 | Bolt Stainless steel SCM 2
26 | Screw Bronze alloy Carbon steel (*) 2
27 | Washer PET — 2
28 | Snap fing Soring siee ! * The material changes into bronze
£l Busn _ | Bearing alloy 2 alloy when the part thread is BSPF.
30 | Piston gasket NBR 1 o (JISPF)

46



| PCGS—23 Inside structure & Parts list

PISCO.

2820~@32

%

—®
%
o

T T

s

%@¢
D

‘:%

@

I
i
T

2

0

S ANRANS

/

s

240~263

PR
LY ]

|

Nzl

©
F

Le

/

n
SanlE
-

P

Thédocn"

dleeate

|
!

B Order example of

H Material repair kits
No. J::en;an'e 12| 16|20 |25 |3 |40 |50]63]|ay ?ﬁgﬂ;&‘r‘s e Repair Kits
1 | Body Aluminum alloy 1 g12 PS-PCGS-12
2 | Bal Stainless steel 1 216 PS-PCGS-16
3 | Linear bearing — 204 220 PS-PCGS—-20
4 | Rod cover Aluminum alloy 1 225 PS—PCGS-25
5 | Head cover (*) Carbon steel Aluminum alloy 1 232 PS—PCGS-32
6 | Rod packing NBR 1 o @40 PS—-PCGS-40
7 | Cover ring NBR p) (] 250 PS—PCGS-50
8 | Snap ring Spring steel 2 263 PS—PCGS-63
9 | Piston rod Stainless steel Carbon steel 1
10 | Piston Aluminum alloy 1 ] Cylinder Welght -
11 | Magnet ring Magnet material 1 y Y E— 5nin'qg
12 | Magnet holder Stainless steel Aluminum alloy 1 ol PCGS—23 PCGS-23
13 | Piston packing NBR 1 ® Tube
14 | Head cushion NBR 1 o .
15 | Bolt SCM 1 @12 211 18
16 | Plate Carbon steel 1 ?16 260 30
17 | Guide rod Special steel 2 @20 470 45
18 | Screw SCM 2 @25 740 60
19 | Rod bush — Bearing alloy 1 @32 1,170 85
20 | Piston bolt — SCM 1 @ 40 1,300 98
21 | Rod cushion NBR 1 ] 250 2,360 150
22 | Piston gasket — NBR 1 ( ?63 3010 168

* Aluminum alloy

47




| PCGS—27 Inside structure & Parts list

212~216

8)(15)(16)(28)(6)(7

4)(18)(17)

S

020~332

@
-®

8
vt

—®
~®
RS
- ®

L o

AR
e S i @
i )z ?% e \ 3 = ©
— T I @ F | E o
i s 2| ‘
—® o B oo
@ I A6
——T—"’%’/é? i g Ji/@
He T ol =
T [ p—®
—® &1 R e g
L Ny —
| g
|
| &
©
i @9
B Material
No. | Nl | 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | Qy ?ﬁgﬂ;g'ﬁﬁ
1 Body Aluminum alloy 1
2 | gal Stainless steel 1~3 B Order example of
3 | Linear bearing — 2o 4 repalr kItS
4 | Rod cover #1 Aluminum alloy 1 T‘uge Repair kits
5 | Rod cover #2 Aluminum alloy 1 =
6 | Rod packing NBR 2 (] g12 PS-PCGS-2-12
7 | Cover ring #1 NBR 1 () 216 PS-PCGS—2-16
8 | Piston rod #1 Stainless steel Carbon steel 1 @20 PS-PCGS—-2-20
9 | Piston rod #2 Stainless steel Carbon steel 1 325 PS—PCGS-2-25
10 | Piston Aluminum alloy 1 232 PS—PCGS—2—32
11 | Magnet ring . Magnet material . 1 40 PS—PCGS—2—-40
12 | Magnet holder Stainless steel Aluminum alloy 1
13 | Piston packing NBR 1 ° 280/ PS-PCGS-2-80
14 | Head cushion NBR 1 ° 263 PS-PCGS-2-63
15 | Bolt SCM 1
16 | Plate Carbon steel 1
17 | Guide rod Special steel 2
18 | Bolt SCM 2
19 | Cover ring #2 NBR 1 o
20 | FBC board Carbon steel 1
21 | Rod cushion NBR 1 ([ J
22 | Gasket PU 1
23 | Adjustable nut Carbon steel 1
24 | Nut Carbon steel 1
25 | Bolt Stainless steel SCM 2
26 | Screw Bronze alloy Carbon steel (*2) 2
27 | Washer PET — 2
28 | Snap ring #1 Spring steel 1
29 | Snap ring #2 Spring steel 2
30 | Collar (*1) Aluminum alloy Carbon steel 2 *1. Use for stroke 101 or more.
31 | Bush _ Bearing alloy 2 *2. The material changes into .bronze
32 | Piston gasket NBR 1 ° ;'ggﬁw&egpge part thread s

48



PISCO.

| PCGS—03/23 Dimensions g 12~ @ 32

XA 150, 6 depth WB 4-YYxYL depth -
- |
OO
// +
. = oXA S0
S
o
3 D)
|| POERTY
-] ]
| |
Z| WA XX
Back side
S 4-gOA thru 4- MMxML d
N L epth
ANNthru_ Q Z WA 4-pOBxOL depth o
_ 3
o NG — |
XX
Y || / |
& O—)
N T r=y  p—1
A _h 2 < - ———
|l O 1 &) N 3 | X % = = o ]
| = =0 |t
(o) 1 - W'
sy anY | ﬁ;fq I =4
T HH HIH
J K GA GB 0
oXA""x6 depth (‘; PA+stroke OXA s * 6 depth
FA [FB C+stroke
B+stroke E
Code DB
= B C |DA FAIFB| G [GA|GB |H|J [K | L MM ML NN OA| OB | OL P PA | PB
ube LD. 03 type | 23 type
12 2 29|68 6 | 85|26 11 |15%" 58] 13| 13]18|M4Ax0.7 |10 | M4x0.7 |43 | 80 | 45 |M5x08| 14 | 85
16 46 | 33| 8 | 10| 8 [ 85|30 11 |18*]64|15]| 15|22 |M5X08| 12 | M5X08 |43 | 80 | 45 |M5x08| 15 [10.0
20 53 | 37 [10] 12 | 10 [10]| 6| 36|105]| 85 |85|17 (19|24 |M5x08]| 13 | M5x08 |52 | 95 | 55 | Re1/8 |125 | 115
25 |535|375| 12| 16 | 13 [10| 6|42 |115]| 9 [96]21 |21 |30|MEX1.0| 15| M6X1.0 (52|95 | 55 | Rc1/8 [125 | 135
32 (595|375 16| 20 | 16 |12 |10| 51 |[125| 9 |[116] 26 | 25|34 |M8x1.25] 20 | M8Xx1.25|66 | 11.0| 7.6 | Rc1/8 | 7 |16.0

e PW| Q| R[S |T|U|VAl X [XA|XxB| YY |YL|Z
12 18 | 14| 48 | 22 | 56 |415| 560 [ 23| 3 [35|[M5X08| 10| 5 PCGS_O3 PCGS_23
16 19 | 16 |54 |25 |62 | 46 |56 |24 | 3 |35|M5X08| 10| 5 Code E Code E
20 25 18 | 70 | 30 | 81 55 | 72 |28 | 3 |35 M6X1.0]| 12| 17 Tube 1D \[10~s0a[51~100a] 1018~ Tube 1D. \[10~a30st[31~1008t| 1018~
25 28526 | 78 | 38 | 91 65 [ 82 |34 | 4 |45 | M6X1.0]| 12 | 17 12 — [ 185 | 43 12 1 13 43
32 34 | 30|96 | 44 | 110 80 | 98 | 42 | 4 |45 |M8X1.25| 16 | 21 16 — [ 185 | 49 16 3 19 49
— ) s 10~50si[51~200s | 2015~ 20~3081[31~100st [ 101~2008] 2015~
Tube ID. \| ~39st | 40~100st] 125~200s{201si~300sf 301st~ | 20~39st |40~100st |125~200st 201~300st| 301st~ = — | 315169 20 10 ol ol 69
12 | 20 [ a0 10200 | —] 15 |25 [ 60 [ 105 — 25 | — | 31.5]685 25 |16 ] 32 | 51 685
16 o4 a4 110 200 7 17 o7 60 105 — 32 375 425 [80.5 32 215 | 385 | 585|805

20 24 44 120 | 200 | 300 29 39 77 17 167
25 24 44 120 | 200 | 300 29 39 77 117 167

Code WA WB
Tube ID. \| 25~49st [ 50~100si| 125~200si| 201si~300s] 301st~ | 25~49st |50~100st |125~200st| 201~300st| 301st~
32 24 48 124 200 300 33 45 83 121 171

*1. When stroke length is equal to 19mm or less, GB=7.5 mm
*2. When stroke length is equal to 19mm or less, GB=9 mm

49



| PCGS—-03/23 Dimensions g 40~ g 63 PISCO@

4-YY
58 BXA 155 xXL depth
if — T slot for hexagon head bolt
x
S - — L —
AN e J f{ ]
XB - ——— B
oXA e \ >$<7 c | d
] S 4 o :
| \ ]
< H T _‘% = T slot for hexagon head bolt

Code
Tube |.D. a b C d €

40 | 65 |105] 55 | 4 | 11
— N | N2 50 | 85 |135] 75 | 45[135
63 | 11 |178] 10| 7 [185

XC
x k
X

I
s —
[oe]
E

Back side
77ﬂ3\— ii iK1TSiN1 N2 palll
Yo R E e T

N
K
2Q1
|
X
I
X

W o
1 an
e
oA o e e
w | o it o
E1
oXAXXL dp = | eC | | op
GA 2P/ | B2 B1
PA+stroke B
L1+stroke
L+stroke
TUCDZGLSD_ A |B|B1|B2|C D DD E|E1|F | G|GA|GB|GC|H | K [K1[L1 M N1 P
40 120 [ 54 [ 27 | 27 [ 106 [M8X 1.25| M8X1.25X20dp|104| 30 | 44 | 86 | 14 10 | 14 |40 [ 118 | 12 | 44 | @66, @11X75dp| 22 | Rc1/8
50 1481 64 | 32| 32 | 130 [M10X 1.5 M10X15X22dp|130| 40 | 60 | 110| 14 11 12 |46 | 146| 16 | 44 | @86thru, @ 14X9dp| 24 | Rcl/4
63 162 78 | 39| 39 [ 142 |M10X 1.5/ M10X15X22do|[130| 50 | 70 | 124|165 135|165 | 58 [ 158 | 16 | 49 [@86thru, @ 14Xx9dp| 24 | Rel1/4

Code

Tube |.D. PAIPE Q1 S|VB|W|X XA [XBXC| XL Yy 25st |50,75,100st 101311\:02051 201~300st| 301~400st| 25st | 50,75,100st TOTSXVZOBOSI 201~300st| 301~400s
40 13118 [ 16|10 72 |38|50| 4 |45 3 | 6 | M8BX125X16dp|24| 48 124 200 300 |[34| 46 84 122 172
50 9 |215[20 |12 92 |47|66| 5 6| 4|8 |MIOX15X20dp|24| 48 124 200 300 [36| 48 86 124 174
63 14128 [20|12[110|55|80| 5 6| 4|8 |MIOX15X20dp|28| 52 128 — — [38] 50 88 — —

PCGS-03 PCGS-23

Code L L2 Code L L2

Tube |D. \] 25,50st | 51st~ | 25,50st | 51~200st| 201~400sl] Q Tube ID. \| 25,50st | 75,100st | 101st~| 25,50st | 75,100st | 101~200st| 201~~400sf] Q
40 97 | 102 | 31 36 635 | 920 40 81 98 118 | 15 32 52 725 | p16
50 |106.5| 118 | 345 | 46 785 | @25 50 93 114 1134 | 21 42 62 875 | @20
63 |106.5] 118 | 29.5 a1 — | @25 63 93 114 [ 134 | 16 37 57 — | @20

50



| PCGS—07/27 Dimensions g 12~ 3 20 PISCO®

WB 3 50 x6 depth

4-YYxYL depth

< +He——riqF—H—€EP as:m% 5
N

+0.07
+0.02

%
I
% PEn

XX Z| WA

Back side

4-gOA thru
4-9OBxOL depth

4-MMxML depth MB

QP
MC \

Hex. on opposite side
MD

(=

MA
VA

D, |

23""x6 depth J | MP MK 2-P /| PB
G PA+ST -
FAFB C+ST MT ST MN+ADJ
B+ST MH+ST+ADJ e
B+MH+2xST+ADJ ST = Stroke
ADJ = Adjust stroke
Codk
TL B C | DA DB FA|FB| G [GA|[GB|H |J |K|{L |MA(MB{MC| MD |MG|{MH|MK|MN{ MM |ML|{MP| MT
ube 1D. 07 tyoe | 27 type
12 42 29 6 8 6 8 5 126 | 11 |15 5813|1318 |27 | 13| 8 |M5x08| 12| 23| 4 13 [M4X0.7] 10| 2 3
16 46 | 33| 8| 10| 8 | 8|5 |30 11 |18 64|15|15|22|28| 16| 10|M6x1.0| 15| 26| 5 | 15 |u5x08| 12| 2 | 3
20 53 37 10 12 10 10| 6 |36 (10585 (85171924 |33 |22 | 13 (M8X125 20| 26| 5 12 [M5X0.8| 13 | 3 4
| NN |oA|oB|OL| P |[PA|PB|PW|[Q|R|[S|T|U|VA|X| YY [YL|Z
12 M4Xx0.7 | 4.3 8 45 |IM5X08[ 14 | 85 18 141 48 | 22 | 56 | 415 50 | 23 | M5X08| 10| 5
16 M5X0.8| 4.3 8 45 |IM5X0.8[ 15 | 10.0| 19 16|54 |25 62| 46 | 56 | 24 | M5X08| 10| 5
20 M5X0.8| 52 | 95 | 55 | Rc1/8 |125 | 115 25 18 [ 70 | 30 | 81 55 | 72 | 28 | M6X1.0| 12 | 17
Code WA WB Code E Code E
Tube 1D. 10~39st [40~100st | 125~200s{| 201st~300sf} 10~39st | 40~100st| 125~200s| 201~300sf} Tube LD. ~50st [51~100s| 101st~ Tube ID. ~30st | 31~100st| 101st~
12 20 40 110 200 15 25 60 105 12 0 185 | 43 12 1 13 43
~39st  [40~100st | 125~200st| 201st~300sf ~39st | 40~100st| 125~-200st| 201st~300sH 10~50s{51~100s| 101st~ 10~30st | 31~100st| 101st~
16 24 44 110 200 17 27 60 105 16 0 185 | 49 16 3 19 49
~39st [40~-100st | 125~200st| 201st~300st] 301st~ ~39st | 40~100st| 125~200st| 201st~300sf| 301st~ ~50st |51~200s| 201st~ 20~30st | 31~100st|101~200s] 201st~
20 24 44 120 200 300 29 39 77 117 167 20 0 31.5 | 69 20 10 27 51 69

*1. When stroke length is equal to 19mm or less, GB=7.5 mm
*2. When stroke length is equal to 19mm or less, GB=9 mm

51



| PCGS—07/27 Dimensions g 25~ @ 63 PISCOo

+0.07
+0.02

BXA 55 x6 depth

oXA

4-YYxYL depth

O o M X oXA LS,

T By

i

X
D

-~
o q\@\=3\> - \i/
;l )
|| ‘ X
wB \ XX Back side
s 4-gOA thru L
4-gOBxOL depth
z WA E MB
4-NN thru 2 4-MMxML depth
| | )
‘ :
D @f} F“ MC
1 Hex. on opposite side
‘ “x pp
L / wp
Y
| o
) o
ses @15 | o= P
\\L ﬁ 3 =
\f‘\ — &
2XA""x6 depth —7@ fan
. —_— || N\
690 i
— P i il
) K g GC
A GA GB MP
PA+ST
FAIFB C+ST MT ST MN+ADJ| || MK *ST = Stroke
B+ST MHEST+ADJ ADJ = Adjust stroke
T
PCGS-07 / PCGS—-27 BN 2xST+AD)
Codk
- = B | C |DA 2 FA|FB|G|[GA|GB|GC| H |J |K|L |MA{MB|MC MD |MG{MH|MK{MN| MM |ML{MP|MT
ube |D. 07 type | 27 type
25 535375 12| 16 | 13 | 10| 6 |42|115] 9 [11.5] 96 [21]|21|30| 41 | 25| 17 |[Mi0x125| 20 |27 | 6 | 12 |M6x10[15| 3| 5
32 5951375 16 | 20 16 | 12 ] 10 |51 [125] 9 |125|116|26 (2534 | 51 | 32 | 19 M12X125[ 30 [ 30| 7 | 12 |[M8X1.25/20| 3 | 6
40 | 66|44 16| 20 | 16 | 12|10 ]|54] 14 [ 10| 14 |120|27]|27|40| 60 | 32| 19 |Mi2x125| 30| 30| 7 | 12 [mM8x1.25[20| 3 | 6
50 | 72| 44 |20| 25 | 20 | 16| 12|64 14 | 11 | 12 |148|32|32|46| 71 | 38 | 24 |M16x15|35[38| 8 | 15 |MiOx15|22]| 4 | 8
63 | 77| 49| 20| 25 | 20 | 16| 12 |78|165[135[165|162|39|39 |58 84 | 50 | 24 |M16x15| 35|38 | 8 | 15 [M1Oox15[22| 4 | 8
—o* | NN |oA|oB|OL| P [PA|PB|PW|Q|[R|S|T|U|VA|X |XA|XB|XC|XL| YY |YL|Z
25 |MBx10| 52 |95]|55| Ret/8 |[125[135(285| 26| 78| 38|91 | 65 |82 [34| 4 [45| 3 | 6 |[Mex10|12] 17
32 |M8x12566 | 11|75 |Rei/8| 7 | 16 |34 [ 30| 96| 44 |110| 80 |98 | 42| 4 |45]| 3 | 6 [M8x1.25| 16 | 21
40 |Mex125 68 | 11 |75 | Re1/8 | 13 | 18 | 38 | 30 | 104| 44 | 118| 86 |106]| 50 | 4 | 45| 3 | 6 |M8x1.25| 16 | 22
50 |m10x15[ 86 |14 | 9 | Ret/a| 9 |215] 47 | 40 |130] 60 |146] 110|130 66| 5 | 6 | 4 | 8 |M10x15| 20 | 24
63 [M10x15( 86 |14 | 9 | Ret/a | 14 | 28 | 55 | 50 | 130| 70 [158| 124 [142| 80| 5 | 6 | 4 | 8 |M10Ox15| 20 | 24
WA wB PCGS—-07 PCGS-27
Tube |.D. ~39st | 40~100g!] 1252008t |201s~300dt] 301st~] ~39st|40~100at 1252008t | 201~3008t | 301st~
Code E Code E
25 24 | 44 120 | 200 | 300 | 29 | 39 77 | 117 | 167
PO P e o sl ol sora] |LTubelD. \[ ~50st |51~200s| 20tsi~ | | Tube ID. \| 20~30si | 31~100si[101~2008| 201t~
2 ol as 124 | 200 | 300 | 33 | 45 83 | 121 | 171 25 | 0 |315]685 25 | 16 | 82 | 51 | 685
~49st[ 50~60s | 70~1008] 1252008 [p01~a008] 30181~] ~a0st] s0~e0st [ 70~1008] 1252008 [o0rs~ans| 30181~ 32 37.5 | 425 | 80.5 32 2075051 | 617-100s1]1017-200!] 2015t
40 154 |48 | 48 | 124 | 200 | 300 | 34 | 26 | 26 | 84 | 122 | 172 40 | 31 | 36 | 635 215 | 385 | 585 | 805
~49st | 50~69st | 70~100st| 125~200st |201s~300st|] 301st~| ~49st| 5069t | 70~~100at| 1252008t |201s~300at| 301 st~ 50 345 46 785 AO 695t 70~100s1)1017-200s] 201t~
50 5448 | 28 [ 124|200 | 300 | 36 | 48 | 48 | 86 | 124 | 174 s0s | Sie~ 15 | 82 | 82 ] 725
~49st| 50~1008 1258 ~49st| 50~1008 1255 63 205 | 41 50 21 42 62 875
63 28 52 128 38 50 88 ~69st | 70~100st| 101st~
63 16 37 57

52



PCKA series

For more information
Please scan

B Features

- Aluminium alloy tube provides both smooth lines and high
corrosion resistance.

- Self lubricated nose bush gives long life.

- Versatile porting position available.

- End cushioning at both ends reduces impact loads.

B Specification

Model PCKA
Acting type Double acting
Tube I.D. (mm) 40
Medium Air
Operating pressure range 0.05~1 MPa
Proof pressure 1.5 MPa

Temperature range

-5~+60°C (No freezing)

Lubrication

Not required

Available speed range

50~500 mm/sec

Cushion With adjustable cushion at both ends
Sensor switch (*) RCA
Sensor switch band PN-A40

* RCA specification, please refer to page 5-2.

B Order example

PCKA - 40 =100M - A

! ol

Stroke Blank: With adjustable cushion
Model ;—:?616:[2)0 50 A : With flow adjustable
- 75 M :Magnet
100 o
125
150

Application examples

Work pieces

Work pieces

7

Work pieces

53



| Inside structure & Parts list

Ve
Sddbads
o
B Order example of

B Material component parts / repair kits
No. Part name Material Qy pa(r:tzrzﬁgmi?én) Eﬁgiglzg‘; Tube I.D. | Component parts Repair kits

1 | Tube Aluminum alloy | 1 240 CP-PCKA-40 | PS-PCKA-40

2 | Piston rod Carbon steel 1

3 | Rod packing NBR 1 o [ J

4 | Rod cover Carbon steel 1 o

5 | Piston-R Aluminum alloy | 1 [

6 | Cover ring NBR 2 ([ [ J

7 | Cushion packing-R NBR 1 ([ [ J

8 | Piston packing NBR 1 ([ [ ]

9 | Piston-H Aluminum alloy | 1 o

10 | Magnet ring Magnet material 1 o

11 | Wear ring Teflon 1 o

12 | Piston bolt SCM 1 o

13 | Head cover Aluminum alloy | 1 o

14 | Cushion needle valve Copper 2 o

15 | Need valve packing NBR 4 [ o

16 | Bush Copper 2 o

17 | Piston gasket NBR 1 o o

18 | Seal screw Carbon steel 4 o

19 | Cushion packing-H NBR 1 o o

20 | Rod front nut Carbon steel 1 o

21 | Rod bush Copper 1 o

22 | Washer Carbon steel 1 o

23 | Scraper Copper 1 o

24 | Washer Carbon steel 1 o

25 | Lock nut for need valve Copper 4 o

26 | Adj. nut for need valve Copper 4 o

27 | Flow needle valve Copper 2 o

28 | Need valve packing NBR 4 o o

54




PISCO.

| Dimensions @ 40

209+stroke
60 16 20.5 42.5 48+stroke 22
15 24.5

249

6-Rc1/4
Cushion needle valve _M16x1.5 Subtense 17

245

i

N
%
l
|
\

6.
%
J7
220
235

28 25

97

16.5'33
40

1 connector Y connector m

20

21205

57

Split pin: @1/8"x3/4"L

L fo) & &
& 11— S — T g = -
; O
45
60

55



PCKB secries

For more information

Please scan
B Specification

Model PCKB
Acting type Double acting
Tube 1.D. (mm) 32
Port size Rc1/8
Operating fluid Air
Operating pressure range 0.1~1 MPa
Proof pressure 1.5 MPa
Ambient temperature -5~+60°C (No freezing)
L ubrication Cylinder Not required

Lever Grease

Available speed range

50~500 mm/sec

Sensor switch (*)

RCB, RCE, RCE1, RDEP

* RCB, RCE, RCE1, RDEP specification, please refer to page
5-4, 6, 9.

B Order form (Example)

PCKB =32 M -

B Features

— Lever type clamp cylinder gives high clamping force,

— Simple mounting of sensors on all four sides of body.

— Hard anodised body gives smooth lines and high corrosion i
) Lever CLMAP CYLINDER
resistance, PCKB M : Magnet
TUBE Port THREAD
I.D. Blank: Rc thread

| Dimensional drawing(mm)

G: G thread
NPT: NPT thread

/
/
/
5 /
\
° ="

B = i
d I
8 1
© |

g L i
o 4
L
2-Rc1/8

D144

48.5

*('): Dimension for with magnet.

101.4 (111.4)

4-25.1 thru
2x4-g9x7dp
2x4-M6x1.0x10dp

56

/

71.6 (81.6)

=
J—=

_4-85.1 thru
034 2x4-09x7dp_
o4 2x4-M6x1.0x10dp.
48.5




I Inside structure & Parts list PISCO.

B Material
No Part name Material Qy Eﬁgﬁglﬁj
1 | Body Aluminum alloy | 1
2 [ Snap ring Spring steel 2
3 | Cushion NBR 2 ([ J
4 | Cover gasket NBR 2 ®
5 | Piston gasket NBR 1 o
6 | Piston packing NBR 1 ]
7 | Piston Aluminum alloy | 1
8 | Piston bolt SCM 1
9 | Rod packing NBR 1 [ ]
10 | Piston rod Carbon steel 1
11 | Screw SCM 2
12 | Rod cover Aluminum alloy | 1
13 | Washer Carbon steel 6
14 | Snap ring Spring steel 6
15 | Rod bush Bearing alloy 1
16 | Connecting pin | Stainless steel | 2
17 | Lever pin Stainless steel | 1
18 | Holder Carbon steel 1
B Order example of repair kits 19 | Connecting plate| Carbon steel 2
Tube 1.D. Repair kits 20 |Lever Carbon steel 1
232 PS-PCKB-32 21 | Head cover Aluminum alloy | 1

I Installation of sensor switch

Sensor switch

RCB @

22

Set screw L

15.5
\.Sensor switch ﬂ

Watchmakers

screw driver ™\ /

Sensor switch
RCE,RCE1

RDEP

31.4

57



PCKC series

For more information

B Specification Please scan

Model PCKC

Acting type Double acting

Tube 1.D. (mm) 12 | 16 | 20 | 25 | 32 | 40

Port size M5x0.8 Rc1/8

Rotary angle 90°+10°

Rotary direction Left (L), Right (R)

Rotary stroke (mm) 7.5 9.5 15

Clamp stroke (mm) 10, 20 10, 20, 30

Medium Air

Operating pressure range 0.1~0.9 MPa

Ambient temperature -5°C~+60°C (No freezing)

Available speed range 50~200 mm/sec

Non-rotating accuracy (*1) +2° |£1.3° +1.2° +1°

Lubrication Not required

Sensor switch (*2) RDE | RCE, RCE1, RDEP

*1. Arm during clamping (Clamp part).
*2. RCE, RCE1, RDE, RDEP specifications please refer to page
5-6, 9.
B Order form (Example)

PCKC - 20 - 10 - LN " restures
L L J — Ultra compact, light weight and space saving cylinder.
¢ — ldeal for use in machinery where space is limited and
CI_MA%V\Q\\/ISNDER TIUIEE SQI'LRAOMKPE EESIT,\;'?&AO% incorporating sensor groove which enables flush
o . ! fitti f .
PCKC (or & 12~ g 25) itting of sensors |
Rota_r\/ < Blank: Rc thread — The sensor can freely mounted the four sides.
Direction ARM G : G thread — Magnetic as standard,
L:Left NPT : NPT thread
R:Right ﬁ <« (for 32,3 40)
Bank:  [N-wi B Clamping arm mounting methods
With arm -Without

O X

B Rotary direction

Extension end
right turn (R)
| (clock wise)

Extension end
left turn (L)

B Moment of inertia

Retréction
en —_ 2 \
£ 10°
. . 2 \\
B Installation of sensor switch o 4 ~
E 2 ™ ™~
Watchmak
sc?eil?r?v;rs Set screw E 10° N \\\ ~ 832,40
h o N
A ﬁ 5 4 ‘
| M E N 02025
! . RCE,RCE1,RDE = 2
7
IL// 10° 212,16
Il ) Sensor switch 50 70 100 150 200
L y ﬁ RDEP Cylinder speed (mm/s)

58



I Inside structure & Parts list

212, ¢ 16, 40

2922 (212(0)()e) (1) (D87
L B

220, 25, ¢ 32

[F\NA e TR
= ‘n [
-;gi-_g:-ﬂl i I L
e ==t
T = 2
= M e !llixa-
M —
s
L,
® @ @ 4909 1903
B Material
No. Part name Material Note No. Part name Material Note
1 | Body Aluminum alloy 14 | Snapring Stainless steel *1
2 | Rod cover Aluminum alloy 15 | Bush Copper For 232,640
3 | End cover Aluminum alloy 16 | O-ring NBR
4 | Piston Aluminum alloy 17 | O-ring NBR
5 | Piston for magnetring | Aluminum alloy 18 | O-ring NBR
6 | Piston rod SCM 19 | Bolt Stainless steel
7 | Guide pin SCM 20 | Set screw SCM
8 | Arm Carbon steel 21| Bolt SCM
9 | Rod cushion NBR 22 | Spring washer Spring steel
10 | End cushion NBR For 20~240 23 | Bolt SCM
11 | Piston packing NBR 24 | Nut Carbon steel
12 | Rod packing NBR 25| Wear ring Teflon
13 | Magnet ring Magnet material *1. Carbon steel (for 812,016)
AP 13:":l
B Theoretical force UL T oy 1 Cylinder weight Unit- g
- ; . Basic weight | Basic weight [Stroke 10 mm
‘I;u[k;e Plritgn Opera.ting P;f;c;n Operating pressure (MPa) Model PCKCg PCKC-D? PCKC
(mm) | (mm) | direction | vl 0.1 [ 0.2 03|04 (05|06 07|08 |09 =
2| s A 13| 11.3| 226 339 452 565| 67.8| 79.1| 904/ 1017  TubelD. ﬁ m w W
B 85| 85| 17.0| 255| 340 425| 51.0| 595| 68.0| 765
6| 8 A 201| 20.1| 40.2| 60.3| 80.4|100.5|120.6 | 140.7 | 160.8 | 181.0 212 66 52 16
B 151 | 15.1| 30.2| 452| 60.3| 75.4| 90.5|105.6 | 120.6 | 135.7 216 100 66 23
A 314 | 31.4| 62.8| 94.2|125.7 [ 157.1 | 188.5|219.9 | 251.3 | 282.7
20 | 12 220 266 176 38
B 201| 20.1| 40.2| 60.3| 80.4|100.5|120.6 | 140.7 | 160.8 | 181.0
05 | 12 A 491 49.1| 98.2(147.3[ 1964|2454 [ 2045|3436 | 392.7 | 4418 225 319 229 46
B 378 | 37.8| 75.6| 113.3|151.1 [ 188.9 | 226.7 | 264.4 | 302.2 | 340.0 232 573 382 69
32 | 16 A 804 | 80.4|160.8 [ 241.3 | 321.7 | 402.1 | 482.5 | 563.0 | 643.4 | 723.8 240 652 461 74
B 603 | 60.3|120.6 [ 181.0 | 241.3 | 301.6 | 361.9 | 422.2 | 482.5 | 542.9
40 | 16 A 1257 | 125.7 | 251.4 | 377.1 | 502.8 | 628.5 | 754.2 | 879.9 [1005.6 |1131.3
B 1056 | 105.6 | 211.2 | 316.8 | 422.4 | 528.0 | 633.6 | 739.2 | 844.8 | 950.4

59



| Installation of sensor switch PISCO.

612, 16 Q+strokex2
N_ | M+stroke R+stroke
X S 2-E T
T
E ; é 2x4-sinkgl
o9 (a)] I | S 7 N g0 |
'S 9 @ @ /2x4-K thrugH
I e —==q V.
L =
L ‘ J
w V+stroke |
g12 | I 19— = -
OB Q+strokex2
N +stroke R+stroke
X S 2-E T
220, 325
o o f_ M1 1L @ ,,,,,,, _ 2x4-sinkgl
S © /24K thrugH
_lu
R e ez B
o2
L J
W V+stroke
WA
232, 240 ) 0B ) VA

\eode | A B | C|D E F|{G|H]|I
12 156.5| 25 - 6 M5x0.8 | 11 - 35|65
16 20 29 - 8 M5x0.8 | 14 - 35|65
20 |255| 36 | 36 12 | M5x0.8 | 18 |17.9| 54 9

25 28 40 |1396 | 12 | M5x0.8 | 23 |225| 54 9

9
9

M4x0.7 7 95| 8 29 | 20 54 | 355| 15 5 8
M4x0.7 7 95| 1 36 | 25 57 | 355| 15 5 1
M6x1.0 10 | 65| 14 | 51 35 84 | 62 | 28 | 87 | 16
M6x1.0 10 | 65| 14 | 51 35 85 | 63 | 29 | 85 | 16

J
4
4
7
7
32 34 45 - 16 | Rc1/8 30 |295| 55 7 M6x1.0 10 | 16.5| 18 67 45 107 | 71.5| 28 1 20
40 40 52 - 16 | Rc1/8 30 |295| 55 7 M6x1.0 10 23 | 18 67 45 108 | 65 27 8 20
\Gode |y | VA | VB |W (ROD thread) WA X| Y |z
12 |125| - - M3x0.5x5.5L Across flats 5x2.5L 2 | 7~18 4
16 [125| - - M5x0.8x6.5L Across flats 7x2.5L 2 | 7~20 5
20 [(105| - - M8x1.25x14L Across flats 10%3L 3 |12~25( 7
25 [105| - - M8x1.25x14L Across flats 10x3L 3 |12~25( 7
32 22 |45 | 14 M10%1.5x19L Across flats 14x5.5L | 3 | 12~25| 10
40 [(295| 5 14 M10%1.5x19L Across flats 14x5.5L | 3 | 12~25| 10

60



PAS/PATS series

For more information
Please scan

B Features

Double clamp retracting, the piston rod ratates, causing the clamping arm
to swing in either a clockwise or counterclockwise direction.

Clamping then takes place as the rod continues to retract in a straight line,
pulling the arm against the workpieces,

Pull cylinder type, Available models offer angles of rotation of 0° , 45" ,60° a0

The cylinder body is made of aluminum alloy
and the surface is hard membrane treated.

Mounting methode: Square base type, threaded type, upper flange type.

B Note

When it is mecessary to change the length of the clamping arm,
it should be noted that do not exceed 1.5 times of the original G value
in order to avoid the serious slanting of the piston rod.

Suggested to add a flow control valve to the hydraulic inlet to control
the motion of the swing angle in order to prevent the inertial impaction.

A workpiece should not be clamped within a swing stroke, and
it should be calmped within the vertical downward clamping stroke.

Whenever placing and taking off a workpiece, it is necessary to use

an air gun to clean the piston and the seal for removing the iron slag or
foreigner objects attached thereon in order to prevent the foreigner objects
form entering the seal to cause oil leakage.

| Order form (Example)

L PAS ’ - L L J— ‘ 40 ’ — [ F ’ — { 90 ‘ ® Model (PNEUMATIC — SWING CLAMP CYLINDER)

©) Piston @ Q le .{7
Model 25, 32, 40 o =
Swivel 50, 63 45 -
Direction Blank: Line type ~ 60°
E.- gé\/vv F: Manifold 90° PAS PASD PATS PATSD
| . * PATS and PATSD produced by order.
P: Nonswing
PAS-25 PAS-32
Theoretical clamping force (kg) Theoretical clamping force (kg)
25 50
o _ 20 pd 40 L~
B Schematic view showing // /
a theoretical clamping 15 e 30 /’
force under different 0 20 LA
pneumatic pressure.
5 10
0
0 03 04 05 06 07 08 0 03 04 05 06 07 08
Operating pressure (MPa) Operating pressure (MPa)
PAS-40 PAS-50 PAS-63
Theoretical clamping force (kg) Theoretical clamping force (kg) Theoretical clamping force (kg)
80 140 250
70 120 200
60 100 y P
50 80 // 150 ,/
40 // /
80—~ 100 =
30 v
20 40
20 50
10
0 0 0
0 03 04 05 06 07 08 0 03 04 05 06 07 08 0 03 04 05 06 07 08
Operating pressure (MPa) Operating pressure (MPa) Operating pressure (MPa)

61



| Dimensions (@25~ 363)

PISCO.

PAS

—H-——G \ 1 G | ~H——G \ G
T wnle e U = eI >
Hil ! I € Hil { I s
N ONAT |5 S:T s:'r NAT |5 S:T
L Eh
A A A
S— B S B S—™ B
‘ 20 (Y: 20 ] é (Y;
! E N IS X S |
PAS PASD PAS
Flange type PAS—25 PAS-32 PAS—-40 PAS-50 PAS-63
PASD-32 PASD-40 PASD-50 PASD-63
Max. operating pressure 1 MPa
Normal operating pressure 0.4~0.6 MPa
Cylinder operating Double acting
Swivel angle 90° (60° ,45° 0° )x2°
Swivel stroke (mm) 12 12 12 14 14
Clamping stroke (mm) 14 14 15 15 15
Piston @ (mm) 25 32 40 50 63
Piston rod @ (mm) 14 16 16 20 20
Theoretical force (0.5 MPa) 16kg 30kg 50kg 85kg 140Kg
A (unclamp) (mm) 95.5 102.5 106 113 119
B (mm) 65.5 71 75 80 86
C (mm) 23 23 26 26 30
D (mm) 016 019 019 0254 025.4
D' (mm) - 019 019 a22 022
G (mm) 30 50 50 70 70
G' (mm) - 100 100 120 120
H (mm) 8 9 9 10 10
K (mm) - 9 9 10 10
L1 (clamp) L2 (unclamp) M5 0.8 Rc1/8 Rc1/8 Rc1/8 Rc1/8
O—ring manifold S3 S4 S4 S4 S4
N (mm) M6 X 1 M8X 1.25 M8X 1.25 M10X 1.5 M10X 1.5
N' (mm) - 28 28 28 28
P (mm) 30 44 48 55 64
Q (mm) 40 54 58 68 80
R (mm) 3 4.5 ?6.5 36.5 285 8.5
S (mm) 235 250 255 2 65 275
M (mm) 18 22 26 30 40
F (mm) 12.5 17 19.5 24 29
Weight (kg) 0.4 0.7 0.85 1.3 1.8

62




PISCO.

| Dimensions (25~ ¢63)

PATS

=PI
T Iy
) w1
&
1l 0
&
]
| -
s o ®
[ L2y 4] |
PATSD
Threaded type PATS—25 PATS-32 PATS-40 PATS-50 PATS—-63
(produced by order) PATSD-32 PATSD-40 PATSD-50 PATSD-63
Max. operating pressure 1 MPa
Normal operating pressure 0.4~0.6 MPa
Cylinder operating Double acting
Swivel angle 90° (60° ,45° 0° )+2°
Swivel stroke (mm) 12 12 12 14 14
Clamping stroke (mm) 14 14 15 15 15
Piston @ (mm) 25 32 40 50 63
Piston rod @ (mm) 14 16 16 20 20
Theoretical force (0.5 MPa) 16kg 30kg 50kg 85kg 140Kg
A (unclamp) (mm) 95.5 102.5 106 113 119
B (mm) 66.5 71 75 80 86
C' (mm) 35 40 45 50 56
D (mm) a16 019 019 a25.4 025.4
D' (mm) - 019 019 022 022
G (mm) 30 50 50 70 70
G' (mm) - 100 100 120 120
H (mm) 8 9 9 10 10
| (mm) 7 9 9 9 10
K (mm) - 9 9 10 10
L1 (clamp) L2 (unclamp) M5 X 0.8 Rc1/8 Rc1/8 Rc1/8 Rc1/8
N (mm) M6 X 1 M8 X 1.25 M8 X 1.25 M10X 1.5 M10X 1.5
N' (mm) - 28 28 28 78
S' (mm) M40X 1.5 M50X 1.5 M55 X 1.5 M65X 1.5 M8B0X 1.5
T (X2 pcs nut) (mm) 9 11 11 12 12
T (mm) 258 270 @75 285 2100
Weight (kg) 0.8 1.1 1.25 1.7 2

63



PTA scries

For more information

Please scan

W Specification

Model pTAs | PTAD
Acting type Double acting
Tube I.D. (mm) 25, 32, 40, 50, 63 | 32, 40, 50, 63
Power fluid Filtered air with or without lubrication
The range of pressure 0.1~1 MPa
Max. pressure 1.47 MPa
Material of cylinder barrel Anodised aluminum alloy
Standard angle of rotation| 90° £2° (Angle of 0° ,45° and 60° are optional)
Rotating direction Clockwise or counter clockwise
Sensor switch LN4OR

B Double acting

B Features PTAS Single side clamping arm
These swing clamps are used when it is required to keep ) )

the fixture workpiece area free of straps and clamping components PTAD Double sides clamping arm
for unrestricted workpiece loading and un—loading. Snole o I -

This pneumatic clamping element is a pull type cylinder, PTAS.M (Fintg © Sﬁe cam;t))lng arm
There are five standard sizes, and for each size two versions of Ston with magne

standard clamping arms, mounting of these clamping arms Double sides clamping arm
at any angle within 360. PTAD..M g

(Piston with magnet)

Single side clamping arm
PTAS..FC (Manifold With flow control)

u NOte Double sid | i

ouble sides clamping arm
Please don't exceed 1.5 times of the original length, PTAD..FC (Manifold With flow control)
if it is necessary to increase the length of the clamping arm.

Single side clamping arm

Suggested to install a flow control valve protect cylinder barrel PTAS..FA (Flange type)

and internal components against fretting wear.

Double sides clamping arm
(Flange type)

W=V If:“\) Bl = VAN N|=V

PTAD..FA

| Order form (Example)

@ Model
PTAS - 32 = CW = 90 = FC - B s |
@ Tube |.D. Rotating Angle
Model 32, 40, 50, 63 90° :Standard rotation
Rotating Direction @ @ Mounthing type
CCW:Counter clockwise Mounting
CW: Clockwise Type Y FA FC
Clamping Arm Type
Blank:Standard
B:Extension
©) Tube |.D. Rotating Angle L
Model 25, 32, 40, 50, 63 90° :Standard rotation
*PTAD without @ 25 Rotal Direcii
Clamping Stroke oa |r_wg rection . Clamping Arm Type
. CCW:Counter clockwise .
Blank: Standard CW: Clockwise Blank: Standard
L:Lengthened Y ’ B:Extension
M:Magnet

*Only for standard type.

64



| Precautions (Read before installing) PISCO@

B Single side swing clamp

CCw cw

D)
Z
S
O
|
]
=
b
@
Swing Stroke

(0]

| | | | ‘cw =

\\ [ C / Zz S
9 A RS 5

5

SIS —
Sancii [5 ﬂ [ [0
| a @ [ a» ]
\ e E Q e
" 5%

B Clamping arm mounting methods

8 ;s?

B Clamping arm removing methods

NG
Spring pin

If the clamping arm is wrong mounting and removing,

the spring pin is boken easily.
than the rotation angleis deviation or the action is
not smooth when the cylinder works.

65



| PTA Dimensions (g 25~ ¢63) PISCO.

PTAS/PTASL PTAD/PTADL

o 7 (69
@]

ccw N lﬁ}\‘,/@l
|‘< 4-glL thru

J

D1
K
J

G1
F N (standard) ) G2 |
| | | |
‘ Il-r- Py M ] N
f = o o
i bl [ ) o
E1 (standard)/ E1 /] & c'?) L J 5
E2 —
M g = 2
- \_M -
a2} < <
pd m| < ml <
@M 1
= | ° T ©
R
o1 ) |
| l =
[[Taper 1:10 ? o a B Single side clamping arm
f f
S
* Clamping stroke lengthened type.
. Clamping stroke q Clamping arm type
Tube 1.D. Piston rod | Swing stroke ?I g) Pressure area Clamping
Model mm 2 force G1 G2
(mm) (mm) (mm) push/ pull (mm? ) N (0.6 MPa)
Standard | L type” d @) | Standard |Extension | Standard | Extension
PTAS—25 - 325 @14 9 13 — 491 / 337 200 50 70 — —
PTAS—32 | PTAD—32 332 316 11 15 30 804 / 603 360 70 100 140 200
PTAS—40 | PTAD—-40 @40 216 11 15 30 1257 / 1056 630 75 100 140 200
PTAS-50 | PTAD-50 350 @20 13 17 34 1963 / 1649 980 85 130 160 230
PTAS—63 | PTAD—63 363 @20 13 17 34 3117 / 2803 1680 95 130 160 230
Code Standard type Clamping stroke lengthened type
N i pire o ids (03 D1 D2 E1 E2 F
Model A | Al A2 A3 | B [ST| A | A1 A2 A3 B | ST
PTAS—-25 - 67 | 89 |(105.9) 65|22 | — | — — — | — |23 |0159| — | M6X10| — | 6
PTAS—32 | PTAD-32| 82 | 108 | (128) | 127 | 78 | 26 | 97 | 138 | (158) 157 | 93 | 41 | 28 | 019 [O19 |M8X1.25| g8 | 8
PTAS—40 | PTAD—-40| 82 | 108 | (128) | 127 | 78 | 26 | 97 | 138 | (158) 157 | 93 | 41 | 28 | O19 |O19 [M8X1.25| g8 | 8
PTAS—50 | PTAD-50| 94 | 124 [(150.4) [146.2| 90 | 30 | 111 | 158 | (184.4) | 180.2 | 107 | 47 | 31 |025.4| 022.2|M10X15| @8 | 10
PTAS—63 | PTAD—63 | 94 | 124 [(150.4) |146.2| 90 | 30 | 111 | 158 | (184.4) | 180.2 | 107 | 47 | 31 |025.4| 022.2|M10X15| @8 | 10

Code N3
— | H | J K L M N N1 N2 — O P Q R S T u
Model Standard | L type
PTAS—-25 - — | @35| 38 | 30 |[@4.6|M5X08| 35 8 |16.5 39.5 — — | 68| @11 | @14 | 5 | 85
PTAS—32 | PTAD—-32| 9 | @46 | 50 | 40 |[@56| Rc1/8 50 |11.5] 19 45 60 95| 25| @9 | @14 | @16 | 7 | 95
PTAS—40 | PTAD—-40| 9 | @55| 60 | 48 |@6.8| Rc1/8 55 14 19 45 60 95|25 | 99 | @14 | @16 | 7 | 95
PTAS—50 | PTAD-50| 10 | g65| 70 | 57 |@6.8| Rc1/8 60 17 21 54 71 111129 | @11 | @17 | @20 | 9 |125
PTAS-63 | PTAD-63| 10 | 78| 83 | 67 | 99 Rc1/8 70 20 21 54 71 111129 | @11 | @17 | @20 | 9 |125

66



PISCO.

| PTAS-25M With magnet type @25

PTAS

‘g" 211.5
( ‘ T 26.8
awe [@ H ©
| } |
o 9| o © | 0 o)
[@ il @ ’ o B § © Taper 1:10 [ m# el
= 1 o
i f f
ccw \ 1 &N 14
& P
4-94.6 thru
B Auto switch mounting B Single side clamping arm
groove position
G1
6 ‘ 35 ‘ 15.9
; JIi
T ? in
—— ﬁ —
‘ [l All
/ =] o M6x1.0 <
M6x1.0 ~ |l
I [=g < P \ D  —
I i e mi
e el 3 L 0
Nt g N 2msx08 ||| 3
U Il s i
T i
| \ | 3’ | \ |@
| | | | | | | |
| 1 | 1 | 1 | 1
Y-
.8 ©
Model Tube I.D. | Piston rod | Swing stroke | Clamping stroke | Pressure area | Clamping force | Clamping arm type G1
(mm) (mm) (mm) (mm) push/ pull (nm* )| N (0.6MPa) Standard | Extension
PTAS—25M ©25 214 9 13 491 / 337 200 50 70

B Cylinder weight

- Standard type

- With magnet type

Model W(i'g@’)h‘ Model Wf’k'gf’)ht
PTAS—25 03 PTAS—25M | 04
PTAS-32 07 PTAS—32M | 073
PTAD-32 09 PTAD-32M | 093
PTAS—40 09 PTAS—40M | 095
PTAD-40 r PTAD-40M | 1.15
PTAS-50 16 PTAS-50M | 1.65
PTAD-50 18 PTAD-50M | 1.5
PTAS—63 21 PTAS—63M | 222
PTAD—63 23 PTAD—63M | 242

B Installation of sensor switch

67




PISCO.

| PTA*=**M With magnet type @32~ @63

PTAS PTAD

gl oy (GG
/ | i
- | | - e W of x| =
a @ Et gl o [ -\_l { i ) ,' I o 0| d
- |
ccw\, ccw '\ é\m/
4-gL thru I;’ 4-gL thru
G1
F,_ N (standard) ‘ G2 |
‘ i
‘ ;blzlél. o [ @5 ] N
| All J O#
E1 (standard) ¢/ E1/4 e } 5 } } S
\ | | N [ I _J !
=] o oE2 =7 -
T _ T <
cvz> < <
M m| < M m| <
=1 =
~ 4/ === &) 4/ = (&)
z
ol ol
oR
2Q
@l ©
1 | o] [{e]
| l =
1 -
| Taper 1:10 | D# [a)
f f
2S,
B Single side clamping arm B Auto switch mounting
groove position
Clamping arm type
Model Tube 1D, | Piston rod | Swing stroke | Clamping stroke Prgii%r/epifa Clamping force G1 G2
ode (mm) | (mm) (mm) (mm) (mm? ) | N(0.6MPa)
Standard | Extension | Standard | Extension
PTAS—-32M |PTAD-32M| ¢32 216 11 15 804 / 603 360 70 100 140 200
PTAS—40M |PTAD-40M| 40 216 11 15 1257 / 1056 630 75 100 140 200
PTAS-50M |PTAD-50M| @50 220 13 17 1963 / 1649 980 85 130 160 230
PTAS—63M |PTAD—63M| ¢63 220 13 17 3117 / 2803 1680 95 130 160 230
Code
A|Al| A2 | A3 | B © D1 D2 E1 E2 | F | H | J K
Model
PTAS—32M |PTAD—32M| 87 [ 113 | (133) [ 132 | 83 | 28 | 019 | 019 | M8x125 | @8 | 8 | 9 | @46| 50 | 40
PTAS—40M [PTAD—40M| 87 | 113 | (133) | 132 | 83 | 28 | 019 | O19 | M8X125 [ @8 | 8 | 9 | 55| 60 | 48
PTAS—50M [PTAD-50M| 99 | 129 |(155.4)|1561.2| 95 | 31 |O254 (0222 | M10X15 | @8 | 10 |10 | ¢65| 70 | 57
PTAS—63M |PTAD—63M| 99 | 129 [(155.4)[151.2| 95 | 31 |O254 (0222 | M10X15 | @8 | 10 [10 | 78| 83 | 67
Code
L M N [NT|N2| N3 | O P Q R S [ST|T| U
Model
PTAS—32M |PTAD—32M |z 5.6|Rc1/8| 50 [11.5] 19 | 50 | 95 | 25 | @9 |@14|@16| 26 | 7 | 95
PTAS—40M [PTAD—40M |z 6.8|Rc1/8| 55 | 14 | 19 | 50 | 95 | 25 | 99 |@14|@16| 26 | 7 | 95
PTAS—50M |PTAD—50M |2 6.8|Rc1/8| 60 | 17 | 21 59 | 111 29 | @11 |@17|@20| 30 | 9 [125
PTAS—-63M [PTAD—63M| @9 |Rc1/8| 70 | 20 | 21 | 59 |11.1 ] 29 |@11|@17|@20| 30 | 9 |125

68




| PTA*~FC Manifold with flow contol @32~ @63 PISCO.

PTAS PTAD
‘ . ‘ N
cw 7/ [@/T\@ cw Z [@
N i = I
[{9 CONIEEEE [ s ‘B
o] &7
® <7
cew \ l@\v/@, cew M l@\*@/@,
1 T
M 4-gl thru © M 4-glL thru
= P Min.5
@ Clamp port
Release port
G1
F,_ N(standard) | G2 |
| | |
‘ bt by any ] N
FaFra [m] L a]
! Al ) of
E1 (standard) A~ Sl i 3 | -
L1 (standard) E1/] 3 I i ) by
o pE2 o
E E
m| < m| <
T @ © w w ©
i JL i Al
: : 2R : :
O-ring 2Q O-ring
ol ol
¥ |
| [
| -
| Taper 1:10 | D# a
f f
S
B Single side clamping arm
Clamping arm type
Model Tube I.D. | Piston rod | Swing stroke | Clamping stroke Prgisslﬁrfpiﬁa Clamping force a1 G2
ode (mm) (mm) (mm) (mm) (mm? ) N (0.6 MPa)
Standard | Extension | Standard | Extension
PTAS—32FA|PTAD-32FA| 32 @16 11 15 804 / 603 360 70 100 140 200
PTAS—40FA |PTAD—40FA| 40 716 11 15 1257 / 1056 630 75 100 140 200
PTAS—50FA [PTAD-50FA| 50 320 13 17 1963 / 1649 980 85 130 160 230
PTAS-63FA |PTAD-63FA| 63 220 13 17 3117 / 2803 1680 95 130 160 230
Code
A|Al| A2 [ A3 | B © D1 D2 E1 E2 | F [ H | J K
Model
PTAS—32FA |PTAD—32FA| 82 | 108 |(129.5)| 127 | 78 | 22 | 019 | 019 | M8x125 | @8 | 8 | 9 | @46 50 | 40
PTAS—40FA [PTAD—40FA| 82 | 108 |(129.5)| 127 | 78 | 22 | 019 | 019 | M8x125 | @8 | 8 | 9 | @55 60 | 48
PTAS—50FA |PTAD-50FA| 94 | 124 |(152.4)|146.2| 90 | 25 |O25.4 |0222| M10X15 [ g8 | 10|10 | g65| 70 | 57
PTAS—63FA |PTAD—63FA| 94 | 124 |(152.4)|146.2| 90 | 25 |O25.4 |0222| M10Xx15 [ @8 |10 |10 | 78| 83 | 67
Code L{M|N|O|P|Q|R|s]|sT|T|uU i
Model O-ring
PTAS—32FA [PTAD-32FA|¢56| 19 | 50 | 95| 25 | 9 | g14| g16| 26 | 7 | 95 P7
PTAS—-40FA |PTAD—-40FA|26.8| 23 | 55 |95 | 25 | 09 | g14| o16| 26 | 7 95 p7
PTAS—50FA [PTAD-50FA|z 68| 28 | 60 [11.1| 29 | 11| 17| 20| 30 | 9 |125 P9
PTAS—63FA|PTAD-63FA| 09 | 32 | 70 [11.1| 29 | @11| @17| @20| 30 | 9 |[125 P9

69



I PTA*~FA Flange type @32~ @63

PISCO.

G1
_IFN (standard) ‘ ‘ G2
Lo 5 & 8
7 | |
E1 (standard) / LtBj [ | | —
= wFre) E1 J | [) L 1 J [2])
r‘:J | L:'TH o . r‘:J | L:'w .
™)
I | I | < I | I - <
: - < ® Clamp port , - <
\ Release port \
| I
® | ® |
Yoo oR By oo
} 2Q }
L w N N
\2-M ) | N2-M
ol | | = ol
. I pa
| Taper 1:10 | Dt [a)
t f
2S,
B Single side clamping arm
Clamping arm type
Model Tube 1.D. | Piston rod | Swing stroke | Clamping stroke Prgissl#‘r/epihea Clamping force G1 G2
ode (mm) | (mm) (mm) (mm) (mm* ) | N(0.6MPa)
Standard | Extension | Standard | Extension
PTAS—32FA|PTAD—-32FA| @32 @16 11 15 804 / 603 360 70 100 140 200
PTAS—40FA |PTAD—40FA| 40 @16 11 15 1257 / 1056 630 75 100 140 200
PTAS—-50FA|PTAD-50FA| 50 220 13 17 1963 / 1649 980 85 130 160 230
PTAS—63FA|PTAD—63FA| 63 220 13 17 3117 / 2803 1680 95 130 160 230
Code
A|Al| A2 |A3|B | C D1 D2 E1 E2 | F [ H | J K
Model
PTAS—32FA|PTAD—32FA| 82 | 108 [(129.5)| 127 | 78 | 22 | ©O19 | O19 M8X125 [ @8 | 8 9 | @46 | 50 40
PTAS—40FA|PTAD—40FA| 82 | 108 [(129.5) 127 | 78 | 22 | ©O19 | O19 M8X125 [ @8 | 8 9 | @55 | 60 48
PTAS—-50FA [PTAD-50FA| 94 | 124 |(152.4)|146.2| 90 | 25 |O25.4|0222 | M10x15 | ¢8| 10 | 10 | g65| 70 57
PTAS—63FA|PTAD—63FA| 94 | 124 [(152.4)[1462| 90 | 25 |O25.4 (0222 | MI0X15 | 28 [ 10 | 10 | 78| 83 67
Code
L M N N1 | O P Q R S ST| T U
Model
PTAS—32FA|PTAD—32FA| 5.6, 3 9x5.5dp Rc1/8| 50 32 |95 |25 | 09 |o14| @16 26 7 9.5
PTAS—40FA|PTAD—40FA| ¢6.8 ¢ 10.5x6.5dp | Rc1/8| 55 40 | 95 | 25 | 99 | o14| 16| 26 | 7 | 95
PTAS—50FA | PTAD—50FA| 6.8 ¢ 10.5x6.5dp | Rc1/8| 60 50 | 111129 |@11| @17|@20| 30 | 9 [125
PTAS—-63FA|PTAD—63FA| 29,2 14x9dp Rc1/8| 70 | 63 | 111 [ 29 | g11| @17| 20| 30 | 9 [125

70




PISCO.

| PTA* Clamping arm type @32~ @63

B Single side swing clamping arm
(Standard type with thread)

//__\\ - Code
fo} 4\@}/ 5 Voda! DI |F |G |Gl E1 Q|R|S|T]|u
"' PTAS-25 |[O159| 6 | 35 | 50 | M6X1.0 |@68| @11 |g14| 5 | 85
E G | PTAS-32 | 019 | 8 |50 | 70 | M8x125 | ¢9 | @14 | @16 | 7 | 95
G1 PTAS-40 | 019 | 8 | 55 | 75 | M8x125 | 99 | g14 | @16 | 7 | 95
R PTAS-50 |0254| 10| 60 | 85 | Mi0x15 | @11 | @17 | @20 | 9 |125
E1 o PTAS-63 |0254| 10| 70 | 95 | M10X15 | @11 | @17 | @20 | 9 |125
\1 |
| Taper 1:10_| t t a
\L—l o D#
T I
s
B Single side swing clamping arm B type
(Extension type without thread)
Code
— Vool D1 | F | G Q| R[S |[T|uU
{{} 5 PTAS-25B |o159| 6 | 70 | 15 |s68| 011|014 | 5 | 85
7 PTAS-32B | 019 | 8 [100| 20 | 09 | @14 | 06| 7 | 95
L] PTAS—40B | 019 | 8 |100]| 20 | 99 |g14| @16 | 7 | 95
G1 PTAS-50B |0254| 10130 | 25 | @11 | @17 | @20 | 9 | 125
R PTAS-63B (0254 |10 |130 | 25 | g11 | @17 | 20| 9 | 125
Q
|
Taper 1:10 [ + | o
4“ . ol D#
I
s
B Double side swing clamping arm - Double side clamping arm (Standard type)
(Standard & Extension type) Code mwein| D | Da G2l H| o P
Model
PTAD-32 | 032 | ¢8| o199 | 140| 9 | 95|25
T PTAD-40 | 040 | 08 | oo |140] o | 95|25
<
— o PTAD-50 | ¢50 | @8 |m222| 160 | 10 | 11.1| 29
[ ]l
|; PTAD-63 263 | ¢8 | me22| 160 10 | 11.1] 29
- Double side clamping arm B type (Extension type)
Cod
{ L e——\™=>| D | D4 |G2|H|O |P
Oi PTAD-32B | @3> | o8 | 019 |200| 9 | 95 | 25
PTAD-40B | ¢40 | g8 | 019 [200| 9 | 95 25
G2
‘ PTAD-50B | ¢50 | @8 | m22.2|230| 10 | 11.1] 29
PTAD-63B @63 | @8 | O222[230| 10 |11.1]| 29

71




* .
PSB series

For more information

r = Please scan
o] B Specification
£ Model PSB*
Medium Air
E:"‘:;-_r s Operating pressure rangeIE;r more informati an 0.2~1 MPa
- Proof pressure Please scan 1.5 MPa
| ‘e Ambient temperature -5~+60°C (No freezing)
J ) Lubrication Not required
Cushion With rubber cushion pad
I} " ) Sensor switch(*) RCA for g50 |RCB, RCE, RCE1, RDEP
Sensor switch holder HS -
| I lJ * RCA, RCB, RCE, RCE1, PAEP specifications, please refer to page

8-6, 8, 10, 14.

| Order example

PSBD - 32 - 20 -/(L-K-L) - G 'M'@EZ]'ACHO
oo T IS !

Tube I.D. Stroke Free

(mm) Solenoid valve VOLTAGE
(mm) mm pass link seats AC220 V(50/60)Hz
for MVSC1-150 valvet AC110 V(50/60)Hz
Level lock (Only for MSBD-832, 250) DC24 Vv
Mechanism
Shock absorbers grade 4E1: 4way / Single solenoid
L | Light | Red Port thread 4E2: 4way / Double solenoid
M |Standard |Yellow| Only for @50 Blank: Rc thread
v G: G thread
H | Powerful |Green NPT: NPT thread
Model
Type of . Standard . . * MVSC1-150 specification, please
cylinder Operation type STETE Magnet Sensor switch | Weight refer to page 1-21 (Vol.1).

@32-20 @] RCE, RCE1, RDEP| 740 g

Shockless stopper | 50-30 o RCA 1800 g

PSBD (Double acting with
spring) 863-30| O RCB, RCE, RCE1, | 3680 g
280-40| O RDEP 6820 g

PSBR - 40 -| 30 ' B Piping diagram

l l Single acting Double acting

Stroke PORT THREAD i -
Tu(t?neml)'D. (mm)  Blank: Rc thread VQQEO @@%
G: G thread

NPT: NPT thread

Model
Type of . Standard . .
elineiey Operation type stroke Magnet| Sensor switch | Weight
Stopper with roller (Double acting)| 220-20 e} RCB 250 g
232-20 O |RCE,RCE1,RDEP| 740g
PSBR :
Stopper with roller ) _
(Single acting-Spring extended) 240-30 X 140049
250-30 X - 1800 g
; 220-10 RCB 192
I, - .
PSBS Direct stopper (Double acting) 832-20 O RCE,RCE1,RDEP| 720g
250-30 @) RCA 1850 g

72



I Mechanism

PISCO.

Pallet control stopper type

Shock absorber built—in

Absorbs the shock
when the carried
object stops, and
stops the object
softly on the right
Position. There is
an adapter between
the lever and shock
absorber, which
straightens the
inclined load on the
lever and transmits it
to the lever.

Light aluminum

Main cylinder part, shock
absorber, and roller lever are
integrated in the aluminum
die cast body. The best
cylinder for the light and
space-saving conveyor line.

Free pass mechanism

Setting the pass-plate on the lever
holder, the lever is fixed in the OFF
position. Use the optional feature
when the carried object needs to
pass over the cylinder.

73

Lever lock mechanism

With this optional feature, the carried
object is not pushed back by the lever.
Also the Object returns to the right
position after being lifted up. The lock is
released by supplying air and lowering
the rod.

Stopper mechanism

Guide bar equipped for fixing the
direction of the roller lever.

Solenoid valve and
sensor switch

Magnet-sensing sensor switch is
available for MS** Reed or "solid state"
switches with LED is fixed, not need

to adjust the position, 5/2 solenoid
Valve can be directly mounted on the
cylinder.




| Capacity @ 32~ ¢80

PISCO.

m PSBD ©32-20

m PSBD ©32-20, 50-30

Capacity Normal lateral load
1000

S V4
g 40 _ Vi P
= = 7 250 yd
S 30 - 7 v
‘° \ Upper limit value_| 8 / A
E ‘\ 2 500 7 232
8 PR N T
E ™ @ / /
8 N N 5 yAW.4

10 <
< —— pd
o Lower limit value
= o 10 20 30 40 00102 03 04 0506 07 08 09 1

Work carrier speed (m/min) Working pressure (MPa)

m PSBD ©50-30
Capacity Light weight type

Capacity Standard type

Capacity Heavy duty type

100 T T T
Upper limit value

~C

50

Lower limit value

Work carrier weight (kgf)

7

10 20 30 40
Work carrier speed (m/min)

™ T

= R I T 1

2 150 I Upper limit value
[

3 —

Zﬁ 100 ——

‘£ Lower limit value I~

8 w0 —

x

r~

2 0

= 10 20 30 40

Work carrier speed (m/min)

Work carrier weight (Kg)

400

300

200

100

Upper limit \‘/alue

Lower limit value

10 20 30 40
Work carrier speed (m/min)

m PSBD ¢63-30, 80-40
Capacity

Normal lateral load

1000

900

800
700 280

600 \
500 \
A

400 263 \

300 P N

200 \\ \\
~

100

Work carrier weight (kg)

0

10 20 30 40
Work carrier speed (m/min)

5000
//
280 |/
4000 A
z
o 3000
®©
L2 b 263
S 2000 // A
5 // v o
1000 // LA
A //
&/

0 01 02 03 04 05 0607 08 09 1

Working pressure (MPa)

74



| Dimensions @ 32 PISCO.

m PSBD ©32-20 m PSBD ©32-20-V
2-M5x0.8x4 depth
m / (Exhaust port)
25 67 . V7 N
2-Rc1/8 @g]’- w@ 1 : Em_w.@ %@_
N o !
REolt A
o - mitetD g - P/— 8
E%%w . - o) &
O | 50 5
‘ 43
123.3
10
® -3 13
P e 6
~N ©
onveying |« | ) — i =
sCurfacél . G(Trhkg by o2 [ ] 3
s R23 ]
_-|L_ 4 ©
5 b
[ 1o == ey

LT v T ] 1)
o~
©
[=e]

00|
e}
45 45
==} )
D) ©) o
06
’f < A
B t/f 0
g Tt A a-M6x1.0
\/ :/? depth 10
NN
L &
NdoTthru
34 4x2-11 depth 5
045

75



| Dimensions @50 PISCO.

m PSBD 250-30 m PSBD @50-30-V

79.2
‘ 232

© ©
I8
2-M5x0.8x4 depth B, i
(Exhaust port) = Rc1/8
(In port)
g 14‘ 5 43 C
% ‘ 250 8 2 8 :
€
\\ m wr‘ o
Conveying g L s
surface / -
0
[=]
= ©)
o)
64.5 92
o o | L_IT‘L
% [ @
N I '@
675/ || 4] 181 | [N
[32)
) E o ¥

285
f@ @@\Qs @N
> A e SJ“;
N
OEISSICLE
90 A-29 thru
112 4x2-¢14 depth 5

m Option accessories
PSBD-g50%x30-K || PSBD-250x30-L

Lever lock mechanism Free pass mechanism

76



| Dimensions @63, 80 PISCO.

m PSBD 963-30
m PSBD @80-40

OFz

-

T
Converying Surface{ §}: E
f =
5 8
A T B
X
[T
g} < 0lo,
\2-P
lo-
o
ry
v e
m Option accessories
PSBD-263-30-K || PSBD-263-30-L
PSBD-280-40-K || PSBD-280-40-L
Lever lock mechanism Free pass mechanism
@ @
=
=
& O
(
Tube LD.|Stroke| A | B |[CD|CT|CZ | E |[FT|FX|FZ| G| H K| L N (o) P |[S| T W X|Y
63 30 | 251 (107 | 20 | 10 | 25 | 75 | 25 | 90| 114 | 24 | 144 |123| 54 | ¢11 |@18%x6 depth| Rc1/4 | 29| 5 | 83| 6 | 20°
80 40 |3225(145| 25 | 12 | 30 | 94 | 25 | 110|140 | 24 |177.5|150| 63 | @13 |220%6 depth| Rc1/4 | 36 | 4 [102| 8 | 22°

77



| Capacity @20~ @50 PISCO.

m PSBR m PSBR

Capacity Normal lateral load
500 ‘
4000
—~ 050 050 |~
D 400 \ /
Z  od0 Z 3000 g ~
[=)] \ = /
'g 300 ‘\ ° 240
5 5 2o Simp—
E 200 \ o 432
8 N\ 2 /| §
x N 3 1000 2 020 ——
2 100 p32 \\ pd /// | _+—1
Y L=
220 ~~ :\\ 0 01 02 03 04 05 06 07 08 09 1
. ‘ = ) ) . ) } . ) ! X
10 20 30 40 Working pressure (MPa)
Work carrier speed (m/min)

= PSBS m PSBS

Capacity Normal lateral load
800
250
—_ 4000
2 0 \ | A
= 250 //
R = 3000 L
] = /
2 -] %
= 400 \ g
2 2 2000 232>
8 32 \ 5 /' "T/
£ 2002 i\ © A | 220
5 ‘ N N 1 1000 7= 20
—220 r—
i ~ , =
0 10 20 30 20 01 02 03 04 05 06 07 08 09 1
Work carrier speed (m/min) Working pressure (MPa)

78



| Dimensions @20, 32 PISCO.

m PSBR 220-20 3 o7
~ - H < &
W
rvd
S 2-5.5 thru

2x2-M6x%1.0%10 depth

212 4% 210
7{’ o~
b
824 i
(=]
N
|
|
+
™)
§ 7 =
o
(=]
N
& 3
0|
fo3 1 § R
(=]
N
|
%]
+
|
7o) <
% -
2-M5x0.8

m PSBR @32-20

4%5
©9 FQH

263
| 2o

4-g7 thru
4x2-911 depth 5

32

46

146

3_1/.20_|_ 26

68

i
[Vas

4-M6x%1.0

depth 15

79



| Dimensions @40, 50 PISCO.

m PSBR 240-30 m PSBR ©50-30
o &) D @l
éég} L )ﬁ@ e
© © . A =R }
8 14 8 8.1 .14, |8
T T 1]
RN Il X . A
e u I s R === ="
R T feenld,, [ el
o < & 2Rc1/8] ~ m
I} a 67.5 [s] 2-Plugs
Rc1/8 s o
[ 5
& L i ]
© (i) J
—p P b

&
@
%
©
56:03 _|
& @
o]
al
)
0 &

D
5N
{;\g/

7

(A

&)
b

A

%2 408 th 20 4-g9 thru
90+40.3 112 4x2-g14 depth 5

80



| Dimensions @20 ~ @50 PISCO.

m PSBS ©20-10 m PSBS ©32-20

25 _ .

2-25.5 thru
_2x2-99depth 7
ﬁ-\l\v ] i =)
AN ZEE
w&_‘
22
36 9/ 220
224
_ 212
[0
g |
m 28 m
Q 8 1 u = U
[sp]
[ee]
0 |Q ® ©
: N
AR ©
X 4-M6x%1.0
| 15 depth
A 0 =
m PSBS ©50-30

4-g7 thru
2x4-011 depth 5

4.5

30
stroke

232

S
27

62
>

67.5 [o] 2Rc1/8 16 2-Plugs

I —
=

e
Y]
-

©
=
ot
S ¥
O 0|

75

N
©
IS)

4-g9 thru
112 4x2-14 depth 5

81



PCHD series

For more information
Please scan

B Features

- Low profile design saves space and reduces bending moments,
improved accuracy with smooth operation.

- Improved mounting repeatability, easy positioning for mounting.

- Double piston construction achieves compact design with strong
gripping force.

- High rigidity and high precision with martensitic stainless steel.

- Grooves on the body for sensor switch to be inserted into.

- Standard with magnet.

B Specification

Model PCHD
Acting type Double acting
s D 8 12 | 16 | 20
Port size M3x0.5 M5x0.8
Medium Air
Operating pressure range | 0.15~0.7 | 0.1~0.7 MPa
Ambient temperature -10~+60°C (No freezing)
Repeatability +0.05 mm (*1)
Short 120 c.p.m
H Order examp|e Max. frequency | Medium 120 c.p.m
Long 60 c.p.m
PC H D - 20 R - D Lubricator Not required
Sensor switch | 2 Wire RDFE(V): Non-contact
(2) 3 wire RNFE(V): NPN, RPFE(V): PNP
*
Model Tube I.D. Stroke Attached bolt 2 pcs | —
8 12 16. 20 Blank: Short
T 1: Medium * 1. This is the value when no offset load is applied to the finger. When an
2: Long offset load is applied to the finger, the maximum value is £0.15mm due
to the influence of backlash of the rack and pinion.
Blank: Axial piping R: Side piping * 2. R*FE(V) specification, please refer to page 5-10.

B Gripping force ° °
o o
-
* Stroke selection
Tube |.D. Gripping force per finger )
Stroke (mm) 8 12 1 16 | 20 Model oftactive valus (N) () Weight ()
Short ° ° PCHD-8 65
o o 8 12 16 20 | AR | 29
stroke = PCHD-8-1 19 791
) PCHD-8-2 113.3
Medium ° E
stroke E 16 24 32 40 PCHD'1 2 150
PCHD-12-1 48 191.3
Long |[¢ : PCHD-12-2 291.2
o o 32 48 64 80
stroke e PCHD-16 350
PCHD-16-1 90 454.2
PCHD-16-2 678.3
PCHD-20 660
PCHD-20-1 141 869
PCHD-20-2 1310.6
* Values based on pressure of 0.5 MPa, gripping point L=20mm, at center

of stroke.

82



| Inside structure & Parts list

PISCO.

Axial piping

Side piping

e
.
mrr—s T —————— @
{ o || XXX |
| ’@SZH m |
] 1 —
Ui S g (15)
%ED.%,i B —— = T _H
- ‘ rlal ] o
SO b L & Mif B Order example of repair kits
[ﬂ—v ‘ H ; ; 5 ;
—FPHE= - —=F 77j%7w Tube I.D. Repair kits Tube I.D. Repair kits
e ol , | Ps-PcHDS s | Ps-PcHD-16
[} ——— [} ——————
(5)(5)1 280198218
PS-PCHD-12 PS-PCHD-20
212 ———— 220 —mm
PS-PCHD-12R PS-PCHD-20R
B Material
. Tube 1.D. Material Qy Repair kits . Tube 1.D. Material Qy Repair kits
o. ) . o. ) .
Part name 8 | 12 | 16 | 20 |Axial| side | (inclusion) Part name 8 | 12 | 16 | 20 |Axial| side | (inclusion)
1 | Body Aluminum alloy 1 1 19 | Piston packing NBR 4 4 [ ]
2 | CoverA Aluminum alloy 2 0 20 | Pin Stainless steel 2 2
3 | Hexgon screw Stainless steel 2 0 21 | Magnet Magnet material 4 4
4 | CoverB Aluminum alloy 1 3 22 | Needle Stainless steel 1 1
5 | O-ring NBR 2 0 [ ] 23 | Ball Stainless steel 2 2
6 |[O-ring NBR 2 4 [} 24 | Ball Stainless steel 4 4
7 |[CoverC Aluminum alloy 1 1 25 [ Needle Stainless steel 2 2
8 | Cushion pad TPU 1 1 [} 26 | Wear ring *2 Teflon 4 4
9 | Guide set Stainless steel 1 1 27 |Bolt *3 Stainless steel K| K
10 | Lever Stainless steel 2 2 *1. Stainless steel
11 | Pinion SCM 1 1 2. Model PCHD-8(R)(-1), PCHD-12(R)(-1) without wear ring.
12 | Pinion piston Stainless steel 2 2 *3. Bolt Q'y
13 | Piston 1 |Alum|num alloy | 4 2 Model K Modal K
14 | O-ring NBR 4 | 4 L4 PCHD-8 2 PCHD-16 2
15 | Snap ring Stainless steel 4 | 4 PCHD-8-1 2 PCHD-16-1 4
16 | Bolt ~ | Stainless steel | 4 | 4 RCIID0.2 4 RELDIlo 2 <
- PCHD-12 2 PCHD-20 2
17 | Screw Stainless steel 4 4 PCHD-12-1 2 PCHD-20-1 2
18 | Screw Stainless steel 4 4 PCHD-12-2 4 PCHD-20-2 4

83



| Model selection / Allowable load calculation

PISCO.

B Model selection

Please select your model according to the weight of workpiece

- Although conditions differ according to the work piece shape
and the coefficient of friction between the attachments and the
workpiece, select a model that can provide a gripping force of
10 to 20 times the workpiece weight, or more.

If high acceleration, deceleration or impact forces are
encountered during motion, a further margin of safety should
be considered.

When gripping a workpiece as in the
figure as shown above:

F: Gripping force (N)

u: Coefficient of friction between the

attachments and the workpiece

m: Workpiece mass (kg)
g : Gravitational acceleration (=9.8m/s?)

mg : Workpiece weight (N) | |

Ii |
the conditions under which the workpiece
F

will not drop are,
uF

2xuF > mg

Number of fingers

> Mg
2%

uF

Therefore,
mg

With"a"representing the extra margin, "F"
is determined by the following formula:

mg
= —X
F oxu a
The "10 to 20 times or more of the workpiece weight" is
calculated with a safety margin of a=4, which allows for impacts
that occur during normal transportation, etc.

p=0.2 p=0.1
__mg __mg

2x02 F=ox01 <4
=10xmg = 20xmg

4

10xworkpiece weight

4

20xworkpiece weight

*1. Even in cases where the coefficient of friction is greater
than p=0.2, for reasons of safety, please select a gripping
force which is at least 10 to 20 times greater than the
workpiece weight.

* 2. If high acceleration, deceleration or impact forces are
encountered during motion, a further margin of safety should
be considered.

84

B Confirmation of external force on fingers

L
|

Mp
°O
0? @° ° O ol o
= A = My(—
\\L T .0 ol ©
} L
Fv T
Tt e

L: Distance to the point at which the load is applied (mm)

Tube I.D Allowable Maximum allowable moment
(mm') | vertical load 'gjtch moment | Yaw moment | Roll moment
Fv(N) Mp(N-m) My(N-m) Mr(N-m)
8 58 0.26 0.26 0.53
12 98 0.68 0.68 14
16 176 1.4 1.4 2.8
20 294 2 2 4

* Values for load and moment in the table indicate static values.

H Allowable load calculation

_ M(maximum allowable moment)(Nem)
B L(m)

Allowable
load F(N)

Example
When a static load of f=20N is operating, which applies pitch
moment to point L=25mm from the PCHD-16 guide.

1.4 (N°m)
Allowable load F(N) = —————
25%107(m)

=56 (N)
Load f=20 (N) < 56 (N), so can be used.

B Model selection example

In the motion process did not produce high acceleration,
deceleration or impact forces,
Workpiece mass: 300g , Gripping method: External gripping,
Operating pressure: 0.5 MPa, Coefficient of friction (u): 0.1,
Holding position: 20mm (no overhang)

1. The conditions under which the workpiece will not drop are,

_ 03
F=2x01

2. From Effective Gripping Force Fig,
Operating pressure: 0.5 MPa; Holding position: 20 mm
Effective gripping force is greater than 60 (N)
So selected PCHD-16 grippers.

x 4 = 6 (kgf) = 60 (N)



| Capacity 8~ @20

PISCO.

B Effective gripping force (Double acting)

Indication of effective force.

The effective gripping force shown in the graphs to the right
is expressed as F, which is the thrust of one finger, when both
fingers and attachments are in full contact with the workpiece
as shown in the figure below.

PCHD-8 [] P=pressure
~ 30
° o Z —{P=0.7MPa
8 —0.6MP
o o S 20 MPa
o —F—0.5MPa
> 0.4MPa;
S o} —[———-03MPa
; [e)
E VARN F T 0.2MPa-
\ 0 \
0 10 20 30 40 50
Holding postion L (mm)
1N=0.102 kgf
1MPa=10.2 kgf/cm’
PCHD-12[]  P=pressure
o= P=0.7MPa
= 80 ———06mpa
< 5 |
0, Q ———0.5MPa
; g 4 [ |0.4MP4
dh g 30 0.3MPa
\ S i
o —
w T 0.2MPa
10 ‘
o, 0
0 20 40 60 80
<——JL Holding postion L (mm)

External grip

PCHD-16 [0  P=pressure
140 T T
—|— P=0.7MPa
~ 120 f f
5100 ———0.6MPa_
8 % 0.5MPa
S f
. 0o pl 0,4MPa,
2 60
% 40 n.?MPa,
T 0.2MPa
0
T o, 0 20 40 60 8 100
Holding postion L (mm)
L
Internal grip
9 PCHD-20 [] P=pressure
210 \
———| P=0.7MPa
~ 180 T
Zz 0.6MPa
1
2 0 0.5MPa
5 120
L 0.4MPa
2 9 1
o
S 60 0.3MPa—
T 3 0.2MPa]
0
0 20 40 60 80 100

Holding postion L (mm)

85

B Confirmation of gripping point

- The air gripper should be operated so that the workpiece
gripping point "L " and the amount of overhang "H" stay
within the range shown for each operating pressure given in

the graphs.

- If the workpiece gripping point goes beyond the range limits,
this will have an adverse effect on the life the air gripper.

Gripping point

External grip

Gripping point

Internal grip

Overhang H (mm) Overhang H (mm) Overhang H (mm)

Overhang H (mm)

PCHD-8 [] P=pressure
50
7
<, | 0.5MPa
40 & ——10,6MPa
a, —P=0.7MPa
30 &\
20 %
NS
LR
0 10 20 30 40 50
Holding postion L (mm)
PCHD-12[]  P=pressure
80
60 x‘f ——0.5MPa
. - 0.6MPa
2, [\ P=0.7MPa
40 ko ""f\
”% B
2 k" AN
N
IAS\\N
0 20 40 60 80
Holding postion L (mm)
PCHD-16 [0  P=pressure
0
80 % —1 o.5mP
0. a
60 4 3 I 0.6MPa
q% ——P=0.7MPa
40 %«9
K
AN
0 20 40 60 80 100
Holding postion L (mm)
PCHD-20 [ P=pressure
100 Z
N N
80 7 S
AN PEE
60 o =
I N
40 o \
N \\X\\\
0 N NN
0 20 40 60 80 100

Holding postion L (mm)



PISCO.

I Product precautions

B Product precautions
Before mount the fingers, sure be refer the tightening torque

values in the table below.

Tube I.D. Bolt Max. tightening torque
(mm) (N.m)
8 M2.5x0.45 0.36
12 M3x0.5 0.63
16 M4x0.7 1.5
20 M4x0.7 1.5

B Order example of attached bolt B Installation of sensor switch

* One set includes 2 pcs, long stroke type need two sets (4 pcs).

BOLT - PCHD - 8

Watchmakers
screw driver \G Sensor switch
Set screw RDFEV

¢ ¢ | RNFEV
E RPFEV
Attached Tube 1.D. -
Bolt 8, 12
C ‘ D
I —— ]
Sensor switch
B RDFE
RNFE
RPFE
Code
Tube I.D. A B C
8 3.8 | M2.5x0.45 15
12 49 | M3x0.5 20

B High degree of mounting flexbillty

* Use the attached bolt for
mounting in tube 1.D. @8, g12.

86



| Dimensions @8

PISCO.

22.5H9 *59% x2 5 depth M2.5x0.45
NP o o
e _ _ . -
O 3
£ 15
Q.
3
0 * Use the attached hex socket bolt
N G & while using the mounting hole.
NA-M3x0.5x7 depth g
Mounting thread NA-1)xG g
(Mounting thread) ( ) > "a g
g T D 4 "——‘
Axial piping S 4= I J?
S} ' |
32 A N | N (D A7
N 158 . B XA xa
™ 3 : aa—
) ‘ © A= i,/
——D |« " _ + -
I o = n <«
2 e o HASPA
Sensor switch — 2-M3%0.5x4 de M
T L - . pth
mounting groove 0 = (Mounting thread) A-A T 2-02.6 thru
M3x0.5 1704 M3x0.5 c 0.8 08| cC (Mounting hole)
Finger opening port; i i '
(Finger opening port) (Finger closing port) When closed 0°3" 245
2-g2H9 *3%% x2 depth PCHD-8(R)
4-M3x0.5%4 depth -0 o~ Xzaep
(Mounting thread) | H ) PCHD'8(R)'1 2X2—M2.5X0.45X3 depth
\ \ \ (Mounting thread)
° ==
©-© OO & € €l Do
[ - [0 [ o]
0 o b ||
4x2-M2.5%0.45%3 depth a |Kllkl a
(Mounting thread) Q KK Q
2-M3x0.5%4 depth
Mounting thread)
° 7.
B
Side piping
Side view of side piping type S 5.5
I -
I[ | [y 1l
M3x0.5 | M3x0.5
(Finger closing port) (Finger opening port)
Unit: mm
Cod
—_ A|B|C|D|G|H|K|L|N|NA|Q|S
odel
PCHD-8(R) 36 | 22 | 12 |28.3| 16 | 14 6 8 |10 2 4 25
PCHD-8(R)-1 48 | 34 | 14 [40.3| 28 | 26 7 16 |10 2 4 37
PCHD-8(R)-2 72 | 58 | 18 |64.3| 17 | 50 5 32 | 105 4 8 61

87



PISCO.

| Dimensions @12

23H9 75925 x3 depth M3x0.5

‘ 3

* Use the attached hex socket bolt
while using the mounting hole.

¢

o’
f}
Eod

NA-M4x0.7x10 depth
(Mounting thread) 13 G

AX|aI|p|n 4 D 4 {@F%J

23H9 "39% x3 depth

1.7

Do
™| ™

1
:

24.3 /

Sensor switch

mounting groove S A I

M5x%0.8 i — " \2-M4x0.7x5 depth ‘
- - A= LT Y R -

(Finger opening port) 0 M5x0.8 1 c (Mounting thread) A:A

20 .
o (Finger closing port) c !

oy

(A
oI\,

O

&3
e

2-93.4 thru
(Mounting hole)

2-95.5

+0.1
0

Close 0

2-025H9"3 x25 depth | PCHD-12(R)

\ 4-M3x0.5x4 depth

4-M4x0.7x5 depth
(Mounting thread)

(Mounting thread)
~ 5\ EEoio
[ & | o |

4x2-M3x0.5x4 depth Q [K[|K|l Q 2-M4x0.7x5 depth
(Mounting thread) (Mounting thread)

(Finger closing port) (Finger opening port)

Unit: mm

Code

P AlB|C|D|G|H|K|L|NA[Q|S
PCHD-12(R) 52| 38 | 18 | 42 | 26 | 28 | 9 12| 2 5| 38
PCHD-12(R)-1 68| 54 | 21 | 58 | 42 | 44 | 45 | 24 2 12 | 54
PCHD-12(R)-2 | 104 [ 90 | 27 | 94 | 26 | 80 | 4.5 | 48 4 18 | 90

88



PISCO.

| Dimensions @ 16

24H9 *$% x3 depth

14.4

x3 depth

NA-M5x0.8x12 depth

Axial piping (NA-1)%G

3
@
04H9 3%
[,
i $

6 D 5
50 XA
A -
22 26
©| — © B XA
<t| ™
/ 2 A I

24

&)
+|
|
i
i
i
|
-
20
D
2
%

K

24.3 & é é Q

Sensor switch : N S ‘

mounting groove | ; )

””” . 2-M5x0.8x5.5 depth
?f:?n;%fopening port) 27 84 M5x0.8 c 1 1 \A C (Mounting thread) 2-94.3 thru
. (Finger closing port) ‘ 2-07
Close 0 %" 27.5
Open L+1 A-A

4-M5x%0.8x5.5 depth H 10025
(Mounting thread) 2-83H9°5"™ x3 depth

| |

T >
_ﬁ K|
®©9]

|

|

1
20
43

4x2-M4x0.7x4 depth Q |K|IKIl Q
(Mounting thread) 2-M5x0.8x5.5 depth

(Mounting thread)
= —

— 1 . . \ﬁ
M5x0.8 M5x0.8

(Finger closing port) (Finger opening port)
Unit: mm
Code
e A|B|C D G| H K L |NA| Q| S
PCHD-16(R) 72| 52 |254| 57.5| 38 36|52 | 16 2 15 54

PCHD-16(R)-1 94| 741294 79.5( 60 58 | 5.7 | 32 2 18 76
PCHD-16(R)-2 | 142 | 122 (37.4|127.5| 36 | 106 | 5.7 | 64 4 26 | 124

89



PISCO.

| Dimensions @20

2
NA-M6x1.0x15 depth 3 18 ®
(Mounting thread) ¥ | o L
c ol o |
= T 24 (NA-1)xG T Navwal N R
Axial piping i \
& & 6 XA
62 A AA
23 . 33 ‘ B XA

pr | A= N

‘ n T
- @S gl [P

25

30
41

Sensor switch

mounting groove [ T l;

1 i T
M5x0.8 \— A - 2-M6X1 .0x6 depth
(Finger opening port) 329, M5x0.8 —— c (Mounting thread) 2-95.2 thru

T ' (Fi losing port
(Finger closing port) 2010

Open Lt1
4-M6x1.0x6 depth ‘ H
(Mounting thread) |

»
>

el R
© 1+ O BX G =
4x2-M4x0.7x5 depth 0 _olo
(Mounting thread) | D o
Q |K|K| a 2-93H9"G%*" x3 depth

2-M6x%1.0x6 depth

% [ %W@

A ® | =

[oe)

Side piping

Side view of side piping type S 10

5 i =

I- |
Msx08 | - M5x0.8

23

(Finger closing port) (Finger opening port)
Unit: mm
— AlB|c|D|G|H|K|L|NA[Q|S
odel
PCHD-20(R) 86| 56314 71| 38 40 7.7 | 20 2 16 66

PCHD-20(R)-1 | 114 | 84 |36.4| 99 | 66 68 | 8.2 | 40 2 20 94
PCHD-20(R)-2 | 174 | 144 | 46.4| 159 | 42 (128 [ 8.2 | 80 4 30 | 154

90



PAF302 series arunTFLTER)

For more information

Please scan
B Specification
) Model PAF302
Bore No. 8A 10A 15A
- il Port size 1/4 3/8 12
[} W
[ | T Medium Air
i l Operating perssure range (*) 0.05~1 MPa
1 Proof pressure 1.5 MPa
|
=== Ambient temperature —5~+60°C (No freezing)
Sym bol Filter element Standard: 5um, Option: 40um
- [ — Q Drain capacity 35cm®
1 1
| <> | Weight 3359
1 1
; i i * Standard unit contains semi-auto-drain function when operating pressure
% Lommmm - - below 0.05 MPa.
' * Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.
B Order example B Flow feature
8A Primary pressure
0.7 MPa
PAF302-50 - ND - O - O - O
0 0.7
i i v 8 06
a T
Flter element Port thread > 0.5
Model Port size Blank: Sum Blank: Rc thread 504 e
8A: 1/4 Bowl 40u : 401 m G: G thread c 03 ——
10A: 3/8 Blank: PC bowl NPT : NPT thread 8 0.2 \\ —
15A: 1/2 ”:l" &A‘Ttal ggw'l Blank: Without bracket 01
: Nylon bow . 0
B: C type bracket 500 1000 1500 2000
Blank: Semi—auto drain Flow ¢min.(ANR)
D: Auto drain valve (FMRF300)
Primary pressure
10A, 15A 0.7 MPa
g g os
=307
. —
8 06 —
[} 05 \\
=0 —
0.4
@ —
o3 —
8 0.2 — \
o) T T
» 041 - S
0
500 1000 1500 2000

Flow ¢min.(ANR)

B Option accessories /\ Caution

C type bracket Metal bowl

Before assembling or disassembling, push the
lock plate down to the end, and confirm that is
detached from the body then rotate the bowl,
otherwise the lock plate will be deformed or the
body will be scratched.

1.Sliding plate down 2. Rotating the bowl
/\/

1 §F i

O | |
O [ o v [ 1l o

@ a
olfl | ([o®
E! ]

91



| Dimensions PISCO.

__ PAF302—D

62.2 Auto drain valve
| 34.5
85 . ,16.5 28.5 36.5 62.2 <
T ﬁjWi = -
[te} k {
gl 3 —— [ 1
) A J
—— ] t]
<>

—

e

(——J 3|,
(157.1)

2x1/4
2x3/8

2x1/2
Port size _I~

ﬂ
¥

__['|_ #6-Drain outlet ' - »u 28-Drain outlet

| — R —
——) |,
147 .1

@ﬂ“

PAF302—M PAF302—-MD

Metal bowl Metal bowl + Auto drain valve
62.2 62.2
< <
& &

147.2

O ] ©
159.1

@5-Drain outlet W |

©8-Drain outle

92



PAFYOI1 series arun FLTER)

For more information

Please scan
B Specification
Model PAF401
g Bore No. 8A 10A 15A
iy Port size 1/4 3/8 1/2
— Medi i
e edium Air
i Operating perssure range (*1.2) 0.05~1.5 MPa
; Proof pressure 2 MPa
| Sym bol Ambient temperature —5~+60°C (No freezing)
F----==- q Filter element Standard: 40um, Option: 5um
1 1
i i Drain capacity 70 cm’®
1 1
G ] ; | Max. flow rate(*3)¢/min(ANR)| 1500 | 2000 | 2500
= Weight 480
- g g

| *1. Sandard unit contains semi-auto-drain function when operating ressure
below 0.05 MPa.
*2. Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.
A P=0.03 MPa.
B Order example

PAF401-8A -0~ D -0~ 0 - 0O

¢ v v v B Flow feature
Exterior color Flter element Port thread i
Model Blank: Black & silver Blank: 40um Blank: Rc thread 08 8A Primary pressure 0.7 MPa
W : Gray & white 5u : 5um G: G thread g0~
Port size NPT : NPT thread =307 ~ |
» 0.6 T—
8A: 1/4 o T T~
10A: 3/8 Blank: Semi—auto drain Blank: Without bracket g 05 — | ~N
15A: 1/2 D: Auto drain valve (FMRF300)  B: C type bracket 2 04— \\
203 I —~
S 0.2 [~
o v — ~
@ N
v 0.1 ~ ~
75 0
800 1600 2400 3200 4000
| Optlon accessories Flow ¢min.(ANR)
10A Primary pressure 0.7 MPa
0.8
T O
1507
2 06 E—
o —— —
C type 505 : —r—
204 — [~
70 bracket 20 T~
T 0.3 - =
65 S 02 1 ~_ N
39 S o ~ T~ N N
16 34 34 2 0' —
% | % ) 800 1600 2400 3200 4000
E3 == }[ 1 Flow 4min.(ANR)
f o 5
© ») NI
| | @} Sl 15A Primary pressure 0.7 MPa
0.8
€57
= = » T—
o= ® 06 Sy
| et T
® 2-Rc1/4 ‘ 505 — ——
2-Rc3/8 204 ] - =
= 2-Re1/2 B 03 — T
3 = ~ \
Sl g 02 P~ I~
o} [
‘ v 0.1 = ~
0
S 800 1600 2400 3200 4000
— Flow #min.(ANR)
__| | #5-Drain outlet

93



PAFSO0I1 series arun FLTER)

For more information

Please scan
B Specification
T 1 Model PAF501
| ' Bore No. 20A 25A
" Port size 3/4 1
Medium Air
- b Tl Nylon bowl, PC bowl: 0.05~1 MPa
Operating perssure range (*)
Metal bowl: 0.05~1.5 MPa
Nylon bowl, PC bowl: 1.5 MPa
Proof pressure
Metal bowl: 2 MPa
e Symbol Ambient temperature — 5~+60°C (No freezing)
|-=.h. _______ :
e r 1 Filter element 40 ym
[ — i | Nylon bowl, PC bowl: 75 cm®
o ] ] Drain capacity 3
":ns Coor K Metal bowl: 70 cm
Nylon bowl, PC bowl: 1180
_— Weight y 9
’ Metal bowl: 1300g
' * Standard unit contains semi-auto-drain function when operating pressure

below 0.05 MPa.
* Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.

- : :
Order example B Option accessories

PAF501 = 20A - D L |- B - O L type

¢ bracket
Bowl
Model Blank: PC bowl | Blank: Without bracket
M: Metal bowl B: L type bracket
Port size N: Nylon bowl Port thread
20A: 3/4 Blank: Rc thread
25A: 1 Option G: G thread

Blank: Semi—auto drain
D: Auto drain valve (FMRF300)

NPT : NPT thread

B Flow feature

20A Primary pressure 0.7 MPa 25A Primary pressure 0.7 MPa
T © T O
o < o =
7 7
=2 ge I — =2 gs o TTT—
g 05 — g 05 ——
g 0. S 0.
—
% 04 :\ g 04 I —
e — —
203 — —~= T o3 —
802 8 02 —
B 01— & 0.1
0 2500 5000 7500 10000 12500 15000 0 2500 5000 7500 10000 12500 15000
Flow ¢min.(ANR) Flow ¢min.(ANR)

94



| Dimensions

PISCO.

92
@ @
|
i
& ~——"9
68 45 70.2
3.2
N
o)
N
F—7
: ~t o
S S A
[52]
jm|
|
2x3/4
2x1
Port size
@
(32}
[sg}
N
4u 26-Drain outlet
Metal bowl
92
@ @
|
‘ i /
& ~——"9
68 45 70.2
13 3.2
N
. [te]
= A
£ % : T
= | &Y
,,,E,,,,  J —
; RN
i !
{ 3 2x3/4
i I 2x1
! R : Port size
! § :
(@ - !
| :
i |
i |
i i
e !
‘— Il

*u ©5-Drain outlet

/

PAF501-D

Auto drain valve

92
@ <)
|
i /
O S——"9
68 70.2
13 3.2
N
; ‘ g r
£y L —
v 3 @ ~ S
- - | M o | 3
-~ L,,, 1 5 [sp)
} =
| |
2x3/4
2x1
Port size
@
<
2t
«—u 28-Drain outlet
Metal bowl! + auto drain valve
92
@ ®
|
i /
O S———"9/
68
13 ‘ ‘ 3.2
\ ‘ S _
N ‘ o F— o~
L I @ l\l ©
— T N
- | " @
S 1| IS
; i
| '
I w 2x3/4
! 1 21
! : Port size
I —~
i Q i
N |
® i
|
|
|
m i
© !

*u 28-Drain outlet

95



PAF302 D/M series

AIR UNIT (MIST/ MICRO MIST FILTER)

For more information
Please scan

- PA302D is designed for removal of foreign matter as well as
oil mist (Element: 0.3um)
- PA302M is designed for removal of foreign matter as well as

! oil mist (Element: 0.01um)
: Symbol e
____________ B Specification
s =T § O § Model PAF302D/M
I ’ Bore No. 8A 10A 15A
. Port size 1/4 3/8 112
3 D: 0.3um Medium Air
TS Operating pressure range (*) 0.05~1 MPa
1 5 ’ i Proof pressure 1.5 MPa
Y i Ambient temperature — 5~+60°C (No freezing)
S Filter element 0.3 um, 0.01 pm
| M: 0.01um Drain capacity 35cm®
Weight 3659

* Standard unit contains semi-auto-drain function when operating pressure
below 0.05 MPa.

* Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.
B Order example

PAF302D = 8A - ND - B - U

[ I Blank: Without bracket l

/\ Caution

Metal bowl

Before assembling or disassembling, push the
lock plate down to the end, and confirm that is
detached from the body then rotate the bowl,
otherwise the lock plate will be deformed or the
body will be scratched.

1.Sliding plate down 2. Rotating the bowl

g §r o T f
EI [ 9 1 o
© 5
= (O

Port size
Model . B: C type bracket
8A: 1/ Bowl Port thread
Flter element 15A; 1/2 Blank: PC bowl Blan_k: Rc thread
D:03um M: Metal bowl G._G thread
M: 0.01x m N: Nylon bowl NPT : NPT thread
Blank: Semi—auto drain
D: Auto drain valve (FMRF300)
B Option accessories
68 ‘
0
N
0|
Auto drain valve
8.5 28.5 36.5
| = .
~ | 1—7 t N N
N 0
:2
9 oll
2x1/4
2x3/8 [] U
2x1/2
Port size J_|:| U NG o
< N~
- 2
T @6-Drain outlet —W

L ‘ ©8-Drain oiutlet
96

PAF302D/M-D PAF302D/M-M PAF302D/M—-MD

Metal bowl Metal bowl! + Auto drain valve
62.2 < <
I &
|
i
[ I
i
i
9 o]l o
N
~ —~
< -
Z D
©
©5-Drain outlet

28-Drain outlet



PAF*™01 A/D/M series

AIR UNIT (AIR /MIST / MICRO MIST FILTER) For more information

Please scan

- PAF401Ais designed for draining and removal of foreign
matter. (Element: 5um)

E Symbol - PAF.401.D/M is designed for removal of foreign matter as well
e .. 44 . as oil mist (Element: 0.3um / 0.01um)
—— — >+ ™ Specification
@ bl Model PAF401A/D/M
[ A:5Hm Bore No. 8A 10A 15A
T Port size 1/4 3/8 1/2
: ’ i Medium Air
; Y i Operating pressure range (*) 0.05~1.5 MPa
.E;i ~I-J:-O-f-5-p-r;1“‘ Proof pressure 2 MPa
Ambient temperature — 5~+60°C (No freezing)
ks :. i----------} Filter element 5 pum, 0.3 ym, 0.01 um
! Drain capacity 70 cm®
Y i
! ! Weight 480 g
M: 0.01um * Standard unit contains semi-auto-drain function when operating pressure

below 0.05 MPa.
* Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.

B Order example

PAF401D |~|8A -0~/ D [~ B |- 0
-V

Model Exterior color | Blank: Without bracket B Option accessories
Fiter element Blank: Black & silver | B: C type bracket
DA_ -0534‘ m W : Gray & white Port thread
S eem . Blank: Rc thread
M= 0.01«m Port size G: G thread
8A: 1/4 Blank: Semi—auto drain NPT > NPT thread
10A: 3/8 D: Auto drain valve (FMRF300)
15A: 1/2
70
65
39
‘ 1116 34 34
% | co* .
cha = j—
f gl 5
© n -
Sl Gl K
[ =)

=

—

©

(154)

©

_ | | @5-Drain outlet

97



| Capacity

PISCO.

MPa

MPa

MPa

B Flow feature

PAF401A (Filter element: 5 um)

8A Primary pressure 1 MPa
o 0.8 — ©
et I o
§ 0.7 —| — =
@ 0.6 [—~——] =
505~ N
%'0'4 — ~ b
g oo o \IAV
ol \ [
ég 0.1 - AL T
0 1000 2000 3000 4000 5000
Flow ¢min.(ANR)
PAF401D (Filter element: 0.3 uym)
rimary pressure a
8A Primary pl 1 MP.
[} 0.8 —] o
§ 0.7 —— - =
3 0.6 —— ~_
s 05 — ~ \\
2 0.4 ~—] N
© 0.3 ~ T~ N %
s 02 — \\\ ~ N \ A
® 0.1 [~ N VN
w
0 1000 2000 3000 4000 5000
Flow ¢min.(ANR)
PAF401M (Filter element: 0.01 um)
rimary pressure a
8A Primary 1 MP.
© 09 o
§ 8-8 S s
2 7 — ]
> 05
S04 =
€ 03 [ N
8 0.2 — N \\ \ N
o 0 N
& o ANER N
0 1000 2000 3000 4000 5000

Flow ¢min.(ANR)

10A Primary pressure 1 MPa
o 0.8
507 \\\
7] [t I
2 06 —
=05 — \
Q v — T~ \
> 04— <
o3 N N ——
502 i ~
é 0.1 N T
0 1000 2000 3000 4000 5000
Flow ¢min.(ANR)
10A Primary pressure 1 MPa
o 0.8 —T—]
2 —
207 ———] =]
fm==Sm=
a0 i — 1
> 0.4 —] T~ \\
g 0.3 ~ N N \ A)
0.2 v
8 ~ N[ X \
R SEAVAA \
0 1000 2000 3000 4000 5000
Flow ¢min.(ANR)
10A Primary pressure 1 MPa
o 0.8 —
— T—
3 0.7 f——r]
8 0.6 — \\
o —
505 — N
S04 — N N
803 |1 \\\\\‘ N N
g o7 [ s IS N
% 0.1 AN \
c/) \
0 1000 2000 3000 4000 5000

Flow ¢min.(ANR)

98

MPa

MPa

MPa

15A Primary pressure 1 MPa
o 0.8
307 S —
a I — —
8 0.6 —] .
505 — =
g 0.4 = .y
S 0.3 ——] y
8 0.2 ] S
® 0.1 —
()
0 1000 2000 3000 4000 5000
Flow ¢min.(ANR)
15A Primary pressure 1 MPa
o 0.8 — T
2 —
207 — ] ]
206 —]
= [~
o 05 [t i ~
% 0.4 | 3
S 0.3 —] ~,
§ 0.2~
8 0.1 g
(%)
0 1000 2000 3000 4000 5000
Flow ¢min.(ANR)
15A Primary pressure 1 MPa
o 0.8 —T]
307
7} T —
€ 0.6
) 05 — — \\
Q- ~ D ~N
>04 I
T 0.3 [ N
-8 [~ N \ \\
§ 02 e v
3 N
® 0.1 N
(2]
0 1000 2000 3000 4000 5000

Flow ¢min.(ANR)



PAFS0I1 D/M series

AIR UNIT (MIST / MICRO MIST FILTER)

Symbol
- L E----------E
b D: 0.3um

5y - — 10
B T
= O
E':@ Cl)
g M: 0.01um

B Order example

PAF501D = 20A|-|MD =| B = O

1 Port size I

Model

B: L type bracket

8A : 1/4

10A : 3/8 BOV\_"
Flter element 15A : 1/2 Blank: PC bowl
D:03um M: Metal bowl
M: 001z m N: Nylon bowl

Blank: Semi—auto drain

D: Auto drain valve (FMRF300)

B Flow feature
PAF501D (Filter element: 0.3 ym)

For more information
Please scan

B Specification

Model PAF501D/M
Bore No. 20A 25A
Port size 3/4 1
Medium Air

Nylon bowl, PC bowl: 0.05~1 MPa
Metal bowl: 0.05~1.5 MPa

Operating perssure range (*)

Nylon bowl, PC bowl: 1.5 MPa
Metal bowl: 2 MPa

Proof pressure

Ambient temperature — 5~+60°C (No freezing)

Filter element 0.3 yum, 0.01 ym

Nylon bowl, PC bowl: 75 cm®
Metal bowl: 70 cm®

Drain capacity

Nylon bowl, PC bowl: 1180g
Metal bowl: 1300g

Weight

Blank: Without bracket

L type
Port thread bracket
Blank: Rc thread
G: G thread

NPT : NPT thread

* Standard unit contains semi-auto-drain function when operating pressure
below 0.05 MPa.

* Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.

* Replace filter element at least once per year or when pressure drop reaches
0.07 MPa.

B Option accessories

20A Primary pressure 0.7 MPa 25A Primary pressure 0.7 MPa
© ©
o o
g 0.7 —— g 0.7
> 06 © 06
o . o
2 05 ? 05 s ——
1] T ]
S 04— S 04—
\
> 03 — > 03
§ 0.2 — —— § 0.2 ————] —
\
g o1 S 0.1 —
@ @
»w o0 0
0 5000 10000 15000 0 5000 10000 15000
Flow #min.(ANR) Flow #min.(ANR)
PAF501M (Filter element: 0.01 ym)
20A Primary pressure 0.7 MPa 25A Primary pressure 0.7 MPa
© ©
a 07 o 07
= = s
©» 06 E— o 06
hud — | st
\
@ 0.5 F———o] § 0.5 A
\
o 04 — o 04
Q 03 \.\ Q. 03 \'\
> 0. — . I ————
g — g —
'g 0.2 — 'cC) 0.2 i
g o1 P~— 8 o1 E——
@ @
»w o0 0
0 5000 10000 15000 0 5000 10000 15000

Flow ¢min.(ANR)

99

Flow ¢min.(ANR)



| Dimensions

PISCO.

92
e
i
(O NE
|
i
,,,% ,,,,,
!
= | :
O ~—19
68 45 70.2
13 3.2
N
: &

FG O : BRE
— [ M = [SEE
— [52]

| |
[ i
i 2x3/4
| 2x1
! Port size
© .
('5 L
& i
|
i
|
i
i
i
‘u @6-Drain outlet
PAF501D/M—-M
Metal bowl
92
e
o
(OZaN©
|
i
,,,% ,,,,,
!
- | :
& ~——19
68 45 70.2
13 3.2
N
. [Te]
i A
£ : T
st moom oy
,,,,E,,,, | —
] RN
i !
{ | 2x3/4
; i 2x1
i g ! Port size
: = :
! o !
(@ - !
! :
i |
i |
1 i
1o !
‘— Il

*u 25-Drain outlet

/

PAF501D/M-D

Auto drain valve

92
T v T
i
/@
|
i
. ,,,k ,,,,,
1
| £
O S——""0/
68 45 70.2
13 3.2
N
: : ‘ & T
o LD ‘ T
- - | M o | 5
— 1 @
e 1
; (1 3
!
T
i 2x3/4
i 2x1
I Port size
6? |
N
<
8
‘u 28-Drain outlet
Metal bowl + auto drain valve
92
T v T
L
/@
|
i
. ,,,k ,,,,,
1
| -
O S——"0/
68
13 ‘ ‘ 3.2
| N
. "¢} I
; : : « P
"a 1 CD' hw ©
— T — N
- | @
et -1
; i
| !
I w 2x3/4
! 1 21
! . I Port size
| ™ |
; 2 ;
N |
® i
|
|
|
i
© !

*u 28-Drain outlet

100



PATFRMOI series ar UNIT (F.R.UNIT)

For more information

Please scan
B Specification
Model PATFR401

Bore No. 8A 10A 15A

Port size 1/4 3/8 1/2
Medium Air

Operating pressure range (*) 0.05~1.5 MPa

Proof pressure 2 MPa

Standard type:0.1~0.85 MPa
Regulated pressure range
High pressure type: 0.1~1.5 Mpa

Ambient temperature — 5~+60°C (No freezing)

Filter element 5 um+0.3 pm+0.01 ym
Attachment Pressure gauge (PG-20), L type bracket
Weight 2106 g

* Standard unit contains semi-auto-drain function when operating pressure
below 0.05 MPa.

* Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.

B Order example

B Option
PATFR401 =8A = L0 - NCO = E1~ B = O accessories

l ¢—‘ . l (Option) :
Model Portsize  Exterior color Pressure oo t;ygaeci:‘:ket
8Af 1/4  Blank: Black & silver swithch i
122; ?fg W : Gray & white E1: MP41P-022 Port thread
: E2: MP41P-022—QD Blank: Rc thread
E5: MP41P-042 G: G thread
E6: MP41P-042—QD NPT : NPT thread
(Option) ACCESSORIES < * Refer to page 5-12 for MP41.
Type Pressure gauge Drain valve
Blank: Blank: Pressure gauge (PG—20) Blank: Semi—auto drain
Stan dér d type C: External pressure gauge (PG—40) + Gauge adapter set (A—PAR401) D: Auto drain valve * PG-40 (C), A-PAR302 (A)
P A: Gauge adapter set (A—PAR401) (FMRF300) and MP41 (E*) can not be

selected at the same time.
H: High C: External pressure gauge (PG—40) + Gauge adapter set (A—PAR401) . . ) . I
pressure type | A: Gauge adapter set (A—PAR401) Blank: Semi—auto drain 222;‘{;?3“&?2 A?F?;gz

PATFR401 L type bracket PATFR401—B I C type bracket

232 38 40 232 )

% 4140 40 40 35 (— o o | " "
IR 11 b m
e BEROEE — 5
- FT?T@% lﬂégj' H L) Q ~ FTT I
e + 4 2x1/4 I it

(154)
(154
(170)

®

| 2x1/2 _

I Port size

[

|

{ ® ® ®

{ 25-Drain outlet {ﬂS—Drain outlet

Tl

101



PAFR302Z series ar UNIT (F.R.UNIT)

For more information
Please scan

B Specification

Model PAFR302
;- = Bore No. 8A 10A 15A
' i H . Port size 1/4 3/8 1/2
::‘ . - = | _'I Medium Air
[ ; Operating perssure range (*) 0.05~1 MPa
T Option: MP41 Proof pressure 1.5 MPa
N Regulated pressure range 0.05~0.85 MPa
Ambient temperature —5~+60°C (No freezing)
SymbOI Filter element Standard: 5um, Option: 40um
Drain capacity 35cm®
Attachment Pressure gauge (PG-20), bracket
. Weight 490 g

* Standard unit contains semi-auto-drain function when operating
pressure below 0.05 MPa.

* Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.

B Order example

PAFR302= 8A=-NCO - E1- 0O =HT~ O

Model Port size (Option) Flter element Port thread
8A: 1/4 Pressure Blank : 54 m Blank: Rc thread
10A: 3/8 swithch 40u : 40x m NF?T GNltjh_lteid .
: _ : t

15A: 1/2 E1: MP41P—022 (Option) rea

E2: MP41P—022-QD Shutoff valve

ES: MP41P-042 HT: MVHT-302-3H

E6: MP41P-042-QD * Refer to page 4-46.

(option) ACCESSORIES «<————  * Refer to page 5-12 for MP41.

Bowl Pressure gauge Drain valve

Blank: PC bowl | Blank:Pressure gauge(PG—20)
M: Metal bow! C: External pressure gauge (PG—40) + Gauge adapter set (A—PAR302)
N: Nylon bowl A: Gauge adapter set (A—PAR302)

Blank: Semi—auto drain
D: Auto drain valve (FMRF300)

* PG-40 (C) and MP41 (E*) can not be selected at the same time.
* Be sure to use above check valves when redirecting the air flow on the inlet side of the lubricator.

/\ Caution
B Flow feature
Metal bowl
8A PriPARy pressure 10,1 5A PriPARy pressure Before assembling or disassembling, push the
° o 0.7 MPa o o 0.7 MPa lock plate down to the end, and confirm that is
% 5 0.6 — % 5 0.6 — detachgd from the body th_en rotate the bowl,
® 05 — ?205 otherwise the lock plate will be deformed or the
I )
O 04 004 body will be scratched.
203 >03 1.Sliding plate down 2. Rotating the bow
T o2 S o2 —
S 0.1 S 0.4 ﬁ/}/ﬂ ! I
3 0 3 0
n 200 600 1000 1400 & 200 600 1000 1400 'é‘“l ) v Il o
Flow #min.(ANR) Flow #min.(ANR) <=> E
ko) 5
N :

102



PAFR302-HT vit shutoft vaive

For more information
Please scan

B Accessories

120
55.9 64.1 (68.5)
351 413 345
12.5 ‘
e —
il 65 |
AlE FREFAATION > M | Me2as
LR ENURIFEEAE >
o= | & 17
1® — r
< ] 1 olw L
5 L S5 Pyl
(¢} i
H © 2x1/4 11 . I
O 5x3/8 1 Pressure | ‘
— 2x1/2 —_— gauge (PG-40)
- Port size
~ Adapter set
3 (A-PAR302)
u @6-Drain outlet

PAFR302—-D*-HT PAFR302—M*-HT PAFR302—-DM*—HT

Auto drain valve Metal bowl Auto drain valve + Metal bowl
559 ) 64.1
y‘” & & &
’@ N N N
) ~ N
@ lﬂ
©
ul
- N
N~ N~ -
n < D
lﬂ | [ﬂ 2 5 3
|
I = l
I @5-Drain outlet .

4_\_] 8-Drain outlet

8-Drain outlet

103



PAFRMOI] series arunt FrRuNm)

For more information

. . Please scan
B Specification
] Model PAFR401
Bore No. 8A 10A 15A
= Portsi 114 38 112
T, ort size
- -
Nimdi - Medium Air
L |
J § = s ¥ Operating perssure range (*) 0.05~1.5 MPa
Proof pressure 2 MPa
e Standard type: 0.1~0.85 MPa
- =] Regulated pressure range
| S High pressure type: 0.1~1.5 MPa
= E ymbOI Ambient temperature —5~+60°C (No freezing)
Ha . %‘ @ Filter element Standard: 40um, Option: 5um
o _ﬁ I_'J\- Drain capacity 70 cm®
- Attachment Pressure gauge(PG-20),L-type bracket
Weight 800 g

* Standard unit contains semi-auto-drain function when operating pressure
below 0.05 MPa.
* Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.

B Order example

PAFR401 = 8A = O = HAOP - E1 - |:| -HT- O

i Port size (Option) Flter element H \ﬁ
Model 8A: 1/4 pre’;sure Blank 40m

10A: 3/8 swithch “5um ©
: ption) Port threa
15A: 1/2 E1: MP41P—022 Shuioff valve o o fhread
Exterior color E2: MP41P-022—-QD . o ank: Re threa
B o MPATP—Od HT: MVHT—302—3H G: G thread
Blank: Black & silver : - * . .
W : Gray & white E6: MP41P—042—QD Refer to page 4-46. NPT : NPT thread
(Option) ACCESSORIES < * Refer to page 5-12 for MP41.
Type Pressure gauge Drain valve Pressure switch
Blank :Pressure gauge(PG—20) Blank: Semi—auto drain

Blank:

Standard type C: External pressure gauge (PG—40) + Gauge adapter set (A—-PAR401)

A: Gauge adapter set (A—PAR401) D: Auto drain valve (FMRF300)

P: Pressure switch
(MPS series)

H: High C: External pressure gauge (PG—40) + Gauge adapter set (A—PAR401)

pressure type A: Gauge adapter set (A—PAR401) Blank: Semi—auto drain

*PG-40 (C) and MP41 (E*) can not be selected at the same time.
* PAFR401-W pressure gauge with set (A-PAR302).

B Flow feature

8A PriPARy pressure 0.7 MPa 10A PriPARY pressure 0.7 MPa 15A PriPARy pressure 0.7 MPa
06 06 06
S [ \\\\ D‘S o [ —— g 2 I —
5305 5305 ~—— 5305 —
@ oa —— \\ 2 os | N 2 oa — e
a —~—_ ~N a ~ s 1 ~——
> 03 <~ >03 — >03 1
© [ ] ® T
T o2 P~ T 02 = T o2 —
0.1 0.1 0.1
3 . . 3 . 3 . —
800 1600 2400 3200 4000 800 1600 2400 3200 4000 800 1600 2400 3200 4000
Flow ¢min.(ANR) Flow ¢min.(ANR) Flow ¢min.(ANR)

104



PAFR 01/ PAFR™OI-HT

Dimensions

B Accessories

72 (70.4)
66 374
‘ N ——
1 J :: EB L
Pressure Adapter set
gauge (PG-40)  (A-PAR401)
44 38 40

12

(94)

(154)

5-Drain outlet

105

For more information
Please scan

PAFR401-D* |

Auto drain valve

72

66

44

12

— ©
< AN
= > |
o
©

| [e=i=9]

8-Drain outlet



PAFRSOI] series arunrFRUNT)

For more information
Please scan

B Specification

' l Model PAFR501
] s Bore No. 20A 25A
. Port size 3/4 1
_'—__J_F o - -
] Medium Air
: m Nylon bowl, PC bowl: 0.05~1 MPa
L—“ = T . Operating perssure range ()
. = Metal bowl: 0.05~1.5 MPa
. Nylon bowl, PC bowl: 1.5 MPa
Option: MP41 Proof pressure Y
- -y Metal bowl: 2 MPa
Regulated pressure range 0.1~0.85 MPa
Ambient temperature — 5~+60°C (No freezing)
- Filter element 40um
e
Rial I _ _ PC, Nylon bowl: 75 cm®
Drain capacity
|E Metal bowl: 70 cm®
E‘l Symbol Attachment Pressure gauge(PG-20), L-type bracket
—
2 PC, Nylon bowl: 1940 g
* Weight
Metal bowl: 2060 g

* Standard unit contains semi-auto-drain function when operating pressure
below 0.05 MPa.

* Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.

B Order example

PAFR501 |- 20A - MCOJ |~ E1- O

! ‘ i

Port size (Opti
ption)
Model 20A : 3/4 Pressure Port thread
25A @ 1 swithch Blank: Rc thread
E1: MP41P-022 G: G thread

E2: MP41P—022—QD NPT : NPT thread

E5: MP41P-042
E6: MP41P-042—-QD

(Option) ACCESSORIES < * Refer to page 5-12 for MP41.

Bowl Pressure gauge Drain valve Panel nuts

Blank:PC bowl | Blank:Pressure gauge(PG—20)
M: Metal bow! C: External pressure gauge (PG—40) + Gauge adapter set (A—PAR302)
N: Nylon bowl A: Gauge adapter set (A—PAR302)

Blank: Semi—auto drain

D: Auto drain valve (FMRF300) J: Panel nuts

*PG-40 (C), A-PAR302 (A) and MP41 (E*) can not be selected at the same time.

B Flow feature

Filter element 40um Filter element 40um

20A PriPARYy pressure 0.7 MPa o 25A PriPARYy pressure 0.7 MPa
©
o o
< 0.6 g 0.6
o 0.5 o 05
g 04 [ é 04 ]
S . ——— g — ]
o V. —] a 0.
5 0.1 — 5 0.1
o o o
? 0 * 0 -

0 5000 10000 0 5000 10000
Flow ¢min.(ANR) Flow ¢min.(ANR)

106



PISCO.

| Dimensions

Panel mounting hole

262.5

Max. 5.5

r—t—a B Accessories

(83)
68 (50.4) 70.2 49.8
13 \
| |
| |
e i M62x1.5 | 1li / ~ i |
Al ! 1 i : ]
G \ 3
H [ H ] N
8 N
I © T
Pressure |
gauge (PG-40)
Adapter set
2 (A-PAR302)
&

"| @6-Drain outlet

PAFR501-D PAFR501-MD PAFR501-M |

Auto drain valve Metal bow! + auto drain valve Metal bowl
92 92 (50.4) 70.2
68 68 68
13 13 13
|
‘ H
= | ] - | . = i M62x1.5 L =
=" i 2 Iy ~ T ™ - -
e p 3 | 71 & 5 % \ 8
‘ ol T ‘ o T ‘ f : | N
- 8 = 8 - : &
] S | S r liranilk I
T S T T &
1 ! ! — M
‘ ! ! 2x3/4 !
i i 2x1 i
i i Port size i
| i i
—~ | —~ i i <
=) ™ I I -
g ® g ® i 8
S 8 \
|
i
m i
|
© i

) 08-Drain outlet ] 28-Drain outlet ¢5-Drain outlet

107



PACT302

SeriesS ARUNIT (E.RLUNIT)

-

B
J ?_.*.'.'.._1'-"| | ' =
< | B
,_n"__——-uﬂ, w I |I
— T
!'.1. n 'l L | L
| | | Option: MP41
[ L .r
s=n
T

B Order example

B Specification

For more information
Please scan

Model PACT302
Components PAF302, PAR302, PAL302
Bore No. 8A 10A 15A
Port size 1/4 3/8 1/2
Medium Air
Operating perssure range (*) 0.05~1 MPa
Proof pressure 1.5 MPa
Effective orifice 32mm’® | 34mm’
Regulated pressure range 0.05~0.85 MPa

Ambient temperature

— 5~+60°C (No freezing)

Filter element

Standard: 5um, Option: 40um

Lubricating oil capacity

65c.c

Min. flow for oil drip

501/min |

60 I/min

Recommended lubricating oil

Turbine oil ISO-VG32

Attachment

Pressure gauge (PG-20),
T-type bracket

Weight

115g

* Standard unit contains semi-auto-drain function when operating

pressure below 0.05 MPa.

* Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.

PACT302=8A- NCO - E1/- 0 -T8 - O

v

l

o

v

(Option)

BY—PASS PORT SIZE l

Port size (Option) Flter element
Model 8A: 1/4 Pressure  Blank : 5um Port thread
10A: 3/8 swithch 40U =d0um | gy o | T8 1/4 1 o Re thread
15A: 1/2 ) 8 YP T10: 3/8 ank: Rc threa
E1: MP41P-022 bracket S/ G: G thread
E2: MP41P—022-QD Ts: 1/ NPT : NPT thread
E5: MP41P-042 .
E6: MP41P—-042—QD Chleck ng; ;;g
(Option) ACCESSORIES «——— * Refer to page 5-12 for MP41. valve ’
Bowl Pressure gauge Drain valve
Blank:PC bowl Blank :Pressure gauge (PG—20) Blank: Semi—auto drain
M: Metal bowl C: External pressure gauge (PG—40) + Gauge adapter set (A—PAR302) D: Au.to drain valve (FMRF300)
N: Nylon bowl A: Gauge adapter set (A—PAR302) ’

*PG-40 (C) and MP41 (E*) can not be selected at the same time.
* Be sure to use above check valves when redirecting the air flow on the inlet side of the lubricator.

B Flow feature

/\ Caution

Metal bowl

Before assembling or disassembling, push the
lock plate down to the end, and confirm that is

8A PriPARYy pressure 10,15A PriPARy pressure detached from the body then rotate the bowl,

oo 07MPa o 0.7 MPa otherwise the lock plate will be deformed or the
o £ 06 —] a = 06 — ] body will be scratched.
Z 205 ' =205 =T

g 0-4 p—— 2 0'4 1.Sliding plate down 2. Rotating the bowl

> 03 — =02 o §F ¢ t

.8 0.2 .8 0.2

G 0.1 g 0.1 [ © 0

(8] (8]

D 0 0

2 200 600 1000 1400 2 200 600 1000 1400

Flow ¢min.(ANR) Flow ¢min.(ANR)

=]

108



| Dimensions

PISCO.

194.2

B Accessories

(65.5)

©

|

PACT302-D* |

Auto drain valve

64.1

214

157.1

- 28-Drain outlet

PACT302-M* |

Metal bowl

64.1

214

147.2

[|_@5-Drain outlet

PACT302-DM* |

Auto drain valve + Metal bowl

') '}
Pressure Adapter set
gauge (PG-40) (A-PAR302)
351 413
< —
: L]
| ESLL® ulg
H )&4 i~}
! i
2x1/4 . [) :
2x3/8 [] []
2x1/2
< Port size } H‘
h
- »H @6-Drain outlet
%
PACT302-T
T type bracket
243.2
64.1 66 )
. ]
& 9] 9]
[ © Z 1;77;1
@_,_E | i
I g B
- Port
y:r‘ !____!, Bracket P
- T8 1/4
T10 | 3/8
T15 | 1/2
@6-Drain outlet
%
PACT302—K
Check valve
257.2
64.1 66 63 64.1
I P
< l l P IN By-pass port
: - L~
© T ’
@ bod

1471

=|

* Threads for IN and
OUT ports are not
machined.

Port
Check valve

K8
K10

1/4
3/8

109

194.2
641 66
< | |
N $mﬁ
© ©
© o I
| ! U
e i
e i
i
ol
|
©8-Drain outlet




PACTHOI1 series arunt FRLUNT)

i

' | R =,

= Wl e | =
L o i |

A

()]

Option: MP41

B Specification

For more information
Please scan

Model PACT401
Components PMF401, PAR401, a401
Bore No. 8A 10A 15A
Port size 1/4 3/8 12
Medium Air
Operating perssure range (*) 0.05~1.5 MPa
Proof pressure 2 MPa

Regulated pressure range

Standard: 0.1~0.85 MPa
High pressure: 0.1~1.5 MPa

Ambient temperature

—5~+60°C (No freezing)

Filter element

Standard: 40um, Option: 5um

Lubricating oil capacity

200c.c

Min. flow for oil drip

301/min | 651/min | 801/min

Recommended lubricating oil

Turbine oil ISO-VG32

Attachment

Pressure gauge (PG-20),
L-type bracket

Weight

1812 g

* Standard unit contains semi-auto-drain function when operating
pressure below 0.05 MPa.

* Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.

B Order example

PACT401 = 8A= O - HAOP= E1- O - T8 = O

! — v ¥
i Port size (Option) Fiter element  (Option) ¢
. : BY—PASS PORT SIZE
Model BA: 1/4 Pressure  Blapk : 40um Port thread
10A: 3/8 swithch U ou T8: 1/4 .
. T type Blank: Rc thread
15A: 1/2 E1: MP41P—022 bracket| 110:3/8 G: G thread
Exterior color E2: MP41P-022-QD T15: 1/2 | NPT: NPT thread
Blank: Black & silver E5: MP41P-042 .
W : Gray & white E6: MP41P—-042—-QD Chleck K'fg; ;?g
(Option) ACCESSORIES < * Refer to page 5-12 for MP41. valve :
Type Pressure gauge Drain valve Pressure switch

Blank: Pressure gauge (PG—20)
C: External pressure gauge (PG—40) + Gauge adapter set (A—PAR401)
A: Gauge adapter set (A—PAR401)

Blank: Semi—auto drain
D: Auto drain valve (FMRF300)

Blank:

Standard type )
P: Pressure switch

(MPS series)

H: High
pressure type

C: External pressure gauge (PG—40) + Gauge adapter set (A—PAR401)

A: Gauge adapler set (A—PARA01) Blank: Semi-auio drain

* PG-40 (C) and MP41 (E*) can not be selected at the same time.
* PAR401-W pressure gauge with set (A-PAR302).

* Be sure to use above check valves when redirecting the air flow on the inlet
side of the lubricator.

B Flow feature

Filter element 40um Filter element 40pum Filter element 40um

8A PriPARy pressure 0.7 MPa 10A PriPARy pressure 0.7 MPa 15A PriPARy pressure 0.7 MPa
0.6 0.6 0.6
T O T O T O
o < [—— o = o <
=305 =305 < =305
@ T~ 173 1) —
0 04 \\ 0 04 [~ o 04 ——
g — \ Q. \ N [o} —
>03 ~ >03 — > 03 —]
S 02 — \\ S 02 —~ \\\ S 02 —
S 04 I~ [N S 04 . \ S 04 —
o O AN o U ~J o 0
w w o [0}
400 800 1200 1600 2000 2400 800 1600 2400 3200 4000 800 1600 2400 3200 4000

Flow ¢min.(ANR) Flow ¢min.(ANR) Flow #min.(ANR)

110



| Dimensions PISCO.

B Accessories PACT401-D

) 230 (70) Auto drain valve
rﬂ,‘ rﬂ,‘ 36| 230
‘ - 35 40 40 40 40 35
r—% — % % I 13113

RGBS 1O o]
NN | o | I

Pressure Adapter set :, H"» A lra | @F, T

gauge (PG-40)  (A-PAR401) I =

5 f}mE{? ey

35__40_ 40 40 40 _ 35 38 40
13 13 \ e !
6 & \
it o £
© i f’jjgmll @ -t~ ARy -
= | | s
T T cHeH =
— — - -—f+-4E--H-1-—-F=F=1—-F—-1-- . L N
52 g i L J b —_['_@8-Drain outlet
2x1/4
. | ‘ 2x3/8
53 ! 2x1/2
= ‘ Port size
|

*T | b'd
__||#5-Drain outlet

PACT401-T*

T type bracket

©
PACT401-K*
Check valve
Port
e Bra?:ket P
277 < T8 | 1/4
35 40 40 40 47 40 35 T10 3/8
13 13 P
o £ \M T15 | 112
(o]
© * i {/})@E[E ) %%:1 N 5-Drain outlet

MPS Series
PACT4O1 —P pneumatic pressure switch

(154)

35 495 40
| a8

16

=
2x1/4

Port

Check valve' P f ! gx?g

s X
K8 1/4 - ‘ Port size
K10 3/8 ;
* Threads for IN and OUT ports are not machined. @5-Drain outlet

111



PACTSOI1 series arunt FRLUNT)

For more information

. . Please scan
B Specification
| ’
= B Model PACT501
=" g - -t Components PAF501, PAR501, PAL501
I E-J l ﬂ ¥ - ' [ — Bore No. 20A 25A
- . | ] 5 Port size 3/4 1
- : ot wm Medium Air
_-',:E - e Option: MP41 Operating perssure range (*) 0.05~1 MPa
= | Proof pressure 1.5 MPa
I Regulated pressure range 0.05~0.85 MPa
—— s Ambient temperature —5~+60°C (No freezing)
! % I Filter element 40um
: I e Lubricating oil capacity 200c.c
-_*é- o= Min. flow for oil drip 251/min 33 1/min
= Recommended lubricating oil Turbine oil ISO-VG32
Attachment Pressure gauge (PG-20), bracket
Nylon bowl, PC bowl: 4200 g
Weight
Metal bowl: 4440 g

* Standard unit contains semi-auto-drain function when operating
pressure below 0.05 MPa.

* Choose auto-drain FMRF300, the pressure range is 0.15~1 MPa.

B Order example

PACT501 /- 20A- MCO - E1-T8 - O

i Port size (Option) (Option) l
Model 8A : 1/4 Pressure Module Port thread
10A : 3/8 swithch mounting bracket  giani: Re thread
18A = 1/2 E1: MP41P—-022 T8: 1/4 G: G thread
E2: MP41P-022-QD  T10: 3/8 NPT : NPT thread
E5: MP41P-042 T15: 1/2
E6: MP41P-042—-QD
(Option) ACCESSORIES «—————— * Refer to page 5-12 for MP41.
Bowl Pressure gauge Drain valve

Blank:PC bowl | Blank:Pressure gauge (PG—20)
M: Metal bowl C: External pressure gauge (PG—40) + Gauge adapter set (A—PAR302)
N: Nylon bowl A: Gauge adapter set (A—PAR302)

Blank: Semi—auto drain
D: Auto drain valve (FMRF300)

*PG-40 (C) and MP41 (E*) can not be selected at the same time.

B Flow feature

Filter element 40pum Filter element 40um
20A PriPARy pressure 0.7 MPa 25A PriPARy pressure 0.7 MPa
S 06 S 06
= =
© 0.5 | © 0.5
? 0.4 ? 04 =—
g I g .
s 0.3 — s 0.3 pa——
ke I k]
c 0.1 c 0.1
3 o 3 -
@0 @0
®» o 2000 4000 6000 8000 10000 ®» o0 2000 4000 6000 8000 10000
Flow #min.(ANR) Flow #min.(ANR)

112



| Dimensions PISCO.

304 B Accessories PACT501-D

Auto drain valve

—~—— 46 53 106 5348
+ L —— 20 ‘
| i 3 l@ @
i = !
Pressure Adapter set T "r ® ‘ E.j] H ® 1
gauge (PG-40)  (A-PAR302) > :
| S
46 53 106 53 46 :
- 20 ‘ !
-~ H <) !
: % . g 000
A L i < i
ENT=TNE I
1 ! i !
e 111 1 |
=
! - || @8-Drain outlet
| I 2x3/4
| i ” 2x1
el ; Port size
N |
D0
|
00 i
| PACT501-T
! T type bracket
N __|| @6-Drain outlet
337.5
~T—]
&1
PACT501—M
Metal bow! 2
K Port P
N Bracket
T8 1/4
T10 | 3/8
T15 | 172
—_[1. @6-Drain outlet
PACT501—MD
Metal bowl + auto drain valve
46 53 106 53 46 504 70 46 53 106 53 46
e l20 \ ! =8 _ 20 \
N 7| E ‘ I N r;‘n&
e ED i . . I i i
o | 4 ‘ g 5 | ( g Nﬁfﬁ | 4 i
i €] ® I s} | ® [ |
1 ! "r ‘ r‘-' H Al mEan /1 "r ‘ r‘-' ” 1
e 1 161l L Ml LI o1l
! = ! 3 ‘ :
! i f A1 | !
1 _ | 2x3/4 | ‘ |
i | 1 2x1 ! l 1
< ' | : I ) |
S 5 = Port size 1 ‘3 = —
& | 2
|
® ® ! ® ®
i | ; |
B __||_@5-Drain outlet -

__| |_28-Drain outlet

113



PAR30Z2 Serie@S PRESSURE REGULATOR

For more information

. . Please scan
—) B Specification
| | | Model PAR302
= Bore No. 8A 10A 15A
Option: MP41 Port size 1/4 3/8 1/2
- = Medium Air
 ——— Symbol Max. operating pressure 1 MPa
— Proof pressure 1.5 MPa
£anE &9
.. E LTJ\J Regulated pressure range 0.05~0.85 MPa
3 B i Stamdard Ambient temperature —5~+60°C (No freezing)
Attachment Pressure gauge (PG-20), Bracket
e E—— ' S T® Weight 270 g
L=l
Backflow

B Order example

PAR302K =8A- 0 -0 - E1-0
——rc

*The backflow mogule can not be exchange with
gauge. When choosing the flow diretion is left to
right, the knob is up

* Standard type regulator can not release the outlet

Model EXHAU_ST Pi’ogis?nl)” pressure completely, even if inlet pressure was cut
. Blar?lj:eggzalrg?ype sv?/ilhléhe Port thread  off, and the backflow function (K) must be applied to
B\ggk.k%tandfardt_ Q: Non—relieving type E1: MP41P—022 Blank: Rc thread Ccompletely remove the residual pressure.
K: Backflow function G: G thread

E2: MP41P-022—QD
E5: MP41P-042
E6: MP41P—-042—QD

* The (Q) non-relieving type regulator is used. When
the output pressure is higher than the set pressure
,the output pressure will not flow out through the

NPT : NPT thread

Panel mounting hole  Port size * Refer to page 5-12 for MP41. exhaust hole.
8A: 1/4 .
: Blank: Standard type (PG—20) . )
242.5 10A:3/8 ¢ 'ryiemal pressure gauge (PG—40) + PG-40 (C), A-PAR302 (A) and MP41 (E*) can not
15A: 1/2 Gauge adapter set (A—PAR302) be selected at the same time. . N
R A: Gauge adapter set (A—PAR302) * Refer to page 5-11 for the option of digital pressure
[t} switch MP41 (E*).
o
3
40.5 =
‘ B Accessories B Flow feature
62.2 (68.5) 8A Primary pressure 0.7 MPa
T 007
L5
=206
,,,,, T o —
] > 04
‘ Z
N , - 1 J 03 =
i [
-I' 'r L g 02
rrrrr 0 0.1 T
l J_ n Y -
L NJ 0
Pressure Adapter set 500 1000 1500 2000 2500
gauge (PG-40) (A-PAR302) Flow ¢min.(ANR)
10A, 15A Primary pressure 0.7 MPa
32 35.1 36.5 F oo7
s 32
14.5 @ 0.6
Q05
a
> 0.4
© S o3
P c —
Q 0.2
s n :
N é H o 041
- 0
500 1000 1500 2000 2500
f_\@ Flow #min.(ANR)
. @t/
N
o o o




| Backflow function instructions

PISCO.

B Installation direction

When choosing the flow direction, the backflow module
can not be exchange with gauge. If you have special
order request, please contact the business.

ouT

o=

ouT

B
i

B Precautions

Backflow
module

e When the air supply is cut off, the inlet pressure less than
outlet pressure, the residual pressure return to the inlet side.

o Please set the inlet pressure to at least 0.05MPa higher than
the set pressure.

115

B Working principle

Normally, as the inlet pressure (IN) is higher than the setting
pressure (pressure of outlet), the backflow valve is closed. If the
inlet pressure is cut off, backflow valve will be opened and the
outlet pressure is exhausted to IN port.

Normal air supply

IN
N
- 4 =
r‘ ~N =
K 4~ 4
@ )
N 1
Backflow valve closes
Cut off air source
IN ouT
1 1

N JLN

@

Backflow valve opens



PARY O] SerieS PRESSURE REGULATOR

B Specification

For more information
Please scan

Model PAR401
Bore No. 8A 10A 15A
E e Option: MP41 Port size 1/4 3/8 1/2
My Medium Air
. Symbol
s "y Max. operating pressure 1.5 MPa
i ;u_-'-".:'. % @ Proof pressure 2 MPa
paewl | T A
£ ] |' T ] Regulated pressure Standard type: 0.1~0.85 MPa
— Standard range High pressure type: 0.1~1.5 MPa
% @ Ambient temperature — 5~+60°C (No freezing)
Tt Attachment Pressure gauge (PG-20), L-type bracket
L=
< eight 450 g

B Order example

Backflow

PAR401K =8A- O - O -HAP - E1- O

i

Model rior color (Option)
Exterior colo Pressure
Blank: Black& silver swithch
Blank: Standard W: Gray& white .
K Backflow function E1: MP41P-022 Port thread
E2: MP41P-022—QD  Blank: Rc thread
. E5: MP41P-042 G: G thread
Port size EXHAUST E6: MP41P-042-QD  NPT: NPT thread
8A: 1/4 mechanism
10A: 3/8 Blank: Relieving type .
15A: 1/2 Q: Non—relieving type  (Option) ACCESSORIES

* The backflow module can not be exchange with gauge.
When choosing the flow direction is left to right, the knob is up.

* Standard type regulator can not release the outlet pressure completely,
even if inlet pressure was cut off, and the backflow function (K) must be

applied to completely remove the residual pressure.

* The (Q) non-relieving type regulator is used. When the output pressure
is higher than the set pressure, the output pressure will not flow out

through the exhaust hole.

B Accessories

Type Pressure gauge Pressure switch
. Blank: Pressure gauge (PG—20) P Pressure
Blank: .
switch (MPS
Standard type A
series)

H: High
pressure type

C: External pressure gauge (PG—40) +
Gauge adapter set (A—PAR401)

A: Gauge adapter set (A—PAR401)

* PG-40 (C), A-PAR302 (A) and MP41 (E*) can not be selected at the

same time.

* Specification (W) gauge adapter set (A-MAR302).
* Refer to page 5-11 for the option of digital pressure switch MP41 (E*).

(70)
36

&)

70 )
66 Pressure Adapter set
gauge (PG-40) (A-PAR401)
44
‘ 12 38 40
[
e —
| M
| |
mINE |
I ; ™N ;
(2} SE=SE 5o ‘% (—
] ) l
' TN
H 3
o s =
R H

Port size

PAR401-P

MPS Series
pneumatic pressure switch

98 49.5 40
34 8
i
|
i
i
<
22 =
wn
; ©
32
r - o |-((—+-
2 |
® 2x1/4
A i 2x3/8
U ! 2x1/2
Port size

116



| Capacity / Backflow function instructions

B Flow feature

8A Primary pressure 0.7 MPa

MPa

Secondary pressure

© o o
o

© o
o o

o
IS

0.3

TR

800 1600 2400 3200 4000
Flow #min.(ANR)

10A Primary pressure 0.7 MPa

0.6
0.5
0.4
0.3
0.2
0.1

MPa

Secondary pressure

—
—

800 1600 2400 3200 4000
Flow ¢min.(ANR)

15A Primary pressure 0.7 MPa

0.6
0.5
0.4
0.3
0.2
0.1

MPa

Secondary pressure

[

800 1600 2400 3200 4000
Flow #min.(ANR)

B Installation direction

When choosing the flow direction, the backflow module
can not be exchange with gauge. If you have special
order request, please contact the business.

IN == ouT ouT IN

@ 1Y e

ouT IN IN ouT

e | » 100

B Precautions

e When the air supply is cut off, the inlet pressure less than
outlet pressure, the residual pressure return to the inlet side.

e Please set the inlet pressure to at least 0.05MPa higher than
the set pressure.

B Working principle

Normally, as the inlet pressure (IN) is higher than the setting
pressure (pressure of outlet), the backflow valve is closed. If the
inlet pressure is cut off, backflow valve will be opened and the
outlet pressure is exhausted to IN port.

Normal air supply
IN

—1 [

Backflow valve closes

Cut off air source
IN ouT

ORI

Backflow valve opens

117



PARSOI] Seri@S PRESSURE REGULATOR

For more information
Please scan

B Specification

I = - Model PAR501
f Bore No. 20A 25A
~ ! Port size 3/4 1
"o B - - Medium Air
- H-‘T-—'J - Option: MP41 Max. operating pressure 1.5 MPa
22 Proof pressure 2 MPa
Regulated pressure range 0.05~0.85 MPa
_.__ W | Sym bol Repeatability +7% F.S.
' vfiﬁ ! Ambient temperature — 5~+60°C (No freezing)
q% @ Attachment Pressure gauge(PG-20),L-type bracket
- - = Weight 1460 g
- e

B Order example

PAR501 =|20A -~ O - E1/- O

Model Port size (Option)
20A: 3/4 Pressure Port thread
25A: 1 swithch Blank: Rc thread
E1: MP41P-022 G: G thread
E2: MP41P—-022—-QD NPT : NPT thread
E5: MP41P-042
E6: MP41P-042-QD

Blank: Standard type (PG—20)

C: External pressure gauge (PG—40) + Gauge adapter set (A—PAR302)
A: Gauge adapter set (A—PAR302)

J: Panel nuts

* PG-40 (C) and MP41 (E*) can not be selected at the same time.
* Refer to page 5-11 for the option of digital pressure switch MP41 (E*).

| B Accessories

(82.75)
49.75

Panel mounting hole

262.5

| &

Max. 5.5

=~/ ]
@
[ ] Pressure Adapter set T

(A-PAR302)

gauge (PG-40)

13

(124.7)

46.7

3.2

Port size

118

MP.

MPa

MPa

B Pressure characteristics

Supply pressure: 0.7 MPa
Secondary pressure: 0.2 MPa

20A Flow: 20 ¢/min.(ANR)
o 0.24
3 0.23
8 0.22
a yor=
0.21 ~ —
(% 0.20 ™~
o
< 0.19 —
]
g 0.18
w
0.1 02 0.3 04 05 06 0.7 0.8 09 1.0
Supply pressure MPa
Supply pressure: 0.7 MPa
Secondary pressure: 0.2 MPa
25A Flow: 20 ¢/min.(ANR)
© 0.24
3 023
1%
© 0.22 7
[o%
0.21 =
Fay
g 0.20 —
S 0.19 =
8 0.18
Do
0.1 0.2 0.3 04 05 06 0.7 08 09 1.0
Supply pressure MPa
B Flow feature
20A Primary pressure 0.7 MPa
)
‘; 0.6
n 05
o
a 04
2 03
g 0.2
S o —
8 0.1
SC) 5000 10000
Flow ¢min.(ANR)
° 25A Primary pressure 0.7 MPa
S 06
@
o 0.5
Q 04
>
% 0.3
2 02
3 0.1
o)
(2}
0 5000 10000

Flow ¢min.(ANR)



PAIRIOO series

For more information

Please scan
B Specification
Model PAIR100
Bore No. B6A
Port size 1/8
Medium Air
Max. operating pressure 1MPa
Min. operating pressure Setting pressure+0.05 MPa
Proof pressure 1.5MPa
2K: 0.005~0.2 MPa
Regulated pressure range 4K: 0.01~0.4 MPa
8K: 0.01~0.8 MPa
Sensitivity 0.2% F.S.
Repeatability +0.5% F.S.
Air consumption(*) 4.40 /min(ANR) F.S,
Ambient temperature - 5~+60° C (No freezing)
Attachment Bracket
Option Pressure gauge (PG—33S)
Weight 150g
* For supply pressure 1MPa
| Order form (Example)
@ Adjustable press. range
PAIR100 = 6A = 2K - C - | 2 « o
¢ ¢ i ¢ ¢ 0.005~0.2MPa | 0.01~0.4MPa | 0.01~0.8MPa
Precision Regulator Port Size @) ©) @ Gauge
PAIR series 6A:1/8 ©) Gauge Port 3
: Blank Without pressure gauge
Adjustable Thread Hhout pressure gaug
Press. Range C Pressure gauge (PG—33S)
@ Port thread
Blank G NPT
Rc thread G thread NPT thread
| Dimensional drawing(mm)
42
28 210.5
| \
Panel mounting hole
:r(_
=
z X
Panel r 1
Symbol 3) 2
% @ M5x0.5
N 045 @
= e
,r 5> 3 1 ]
N \_928.5 © ‘“\"’ é
Bleed | S
T ]
=] ! =] (=]
s WA A oV 9 .m0
&) TR e
T S
T Exn N2x1/8 35 2x1/8
Pressure Port size
35 gauge
port size

119




| Capacity

PISCO.

B Flow feature

2K Primary pressure 0.5 MPa

© 0.20

o

s \
g

> 0.15

[}

(%}

o

S

> 0.10

]

o

5

§0.05

o)

n

0 50 100 150 200 250 300 350

Flow ¢min.(ANR)

B Relief characteristics

Back pressure
2K 0.5 MPa
0.5
©
o
=
o 0.4
>
[2]
[ %]
o 03
S
g
3 02
c
Q
i
& o1

140 120 100 80 60 40 20 O
Flow ¢min.(ANR)

B Pressure characteristics

2K Supply pressure: 0.7 MPa

Secondary pressure: 0.2 MPa
Flow: 0 #min.(ANR)

& 0.204

=

o 0.202

et ==

2 0200 =

(%]

Q 0.198

a

2 0.196

]

°

[

8 0 03 040506 0.7 08 09 1.0

o)

(]

Supply pressure MPa

4K Primary pressure 0.7 MPa
g 0.4
=
)
503 ﬁ\,
a \
5 \
202
g N\
]
e)
g |
8 01
o]
[0}
0 50 100 150 200 250 300 350 400
Flow ¢min.(ANR)
Back pressure
4K 0.7 MPa
0.7
©
o
= 06
<4
205
3
“3_ 0.4 \
g 03 e
©
g 0.2
o v \
3 . N
200 160 120 40 0
Flow ¢min.(ANR)
4K Supply pressure: 0.7 MPa
Secondary pressure: 0.2 MPa
Flow: 0 ¢min.(ANR)
S 0.204
= 0.202 —
N T
2 0.200 =
[%] —
9 0.198
a
2 0.196
©
°
ey
8 0 0.3 04 05 0.6 0.7 0.8 0.9 1.0
o)
w

Supply pressure MPa

120

Secondary pressure MPa

Secondary pressure MPa

8K Primary pressure 1 MPa
0.9
0.8
—
0.7 \
0.6 \
0.5 \
0.4 —
0.3 \
0.2
0.1
0 100 200 300 400 500 600
Flow #min.(ANR)
Back pressure
8K 1 MPa
0.9
0.8
0.7 \
0.6 N
0.5
04 N\
0.3 \
0.2 \
0.1
300 250 200 150 100 50 0
Flow ¢min.(ANR)
8K Supply pressure: 0.7 MPa
Secondary pressure: 0.2 MPa
Flow: 0 ¢min.(ANR)
S 0.204
= 0.202
g - —
7 0.200 k-
L 0.198
S
2 0.196
]
o
c
8 0 0.3 04 05 06 0.7 0.8 09 1.0
o)
2 Supply pressure MPa



PAIRZ00 series

For more information

B Specification

Model PAIR200

Bore No. 8A

Port size 1/4

Medium Air

Max. operating pressure 1MPa

Min. operating pressure Setting pressure+0.05 MPa
Proof pressure 1.5MPa

Regulated pressure range

2K: 0.005~0.2 MPa

4K: 0.01~0.4 MPa

8K: 0.01~0.8 MPa

Sensitivity

0.2% F.S.

Repeatability

+0.5% F.S.

Air consumption(*)

4.40 /min(ANR) F.S.

Ambient temperature

- 5~+60° C (No freezing)

Attachment Bracket
Option Pressure gauge (PG—40S)
Weight 300g
* For supply pressure 1MPa
| Order form (Example)
D Adjustable press. range
PAIR200, - 8A /- 2K/~ |C/~ . x « o
¢ ¢ i ¢ ¢ 0.005~0.2MPa | 0.01~0.4MPa | 0.01~0.8MPa
Precision Regulator Port Size @ ©) @ Gauge
PAIR series 8A:1/4 @ Gauge Port :
) Blank Without
Adjustable Thread an fhoul pressure gauge
Press. Range C Pressure gauge (PG—40S)
@ Port thread
Blank G NPT
Rc thread G thread NPT thread
| Dimensional drawing(mm)
212.5
Panel mounting hole
<
3
=
Y A
Panel ~ r A *
Symbol
(55) .30
&9 ‘
T
- M6x0.5
m.
::“_! -
° Li ’:\
o
ol ~| ]
Bleed | _ ©
| Dz 5 P Ul e —
va Y (
S”Pﬁ‘rw | g i au
RUILN ol 3 N o
P _k zlr @
S | 2x1/8 ]
‘ 59.2 Pressure gauge 50 2x1/4
port size Port size

121



| Capacity

PISCO.

W Flow feature

Primary pressure

2K

0.5 MPa

$0.20

=

g

> 0.15

7]

17

5

2‘0.10 \
S

8

8 0.05

o)

n

0 100 200 300 400 500 600 700
Flow ¢min.(ANR)

B Relief characteristics

Back pressure

2K

0.5 MPa
05
©
s
o 04 \
5 \
2 N\
%]
© 03
o
g
0.2
2 N
e}
?
& 0.1
500 400 300 200 100 0

Flow ¢min.(ANR)

B Pressure characteristics

2K Supply pressure: 0.7 MPa
Secondary pressure: 0.2 MPa
Flow: 0 ¢min.(ANR)
o 0.204
o
i 0.202
= ]
3
2 0200 /&/
QO 0.198 =
S
2 0.196
]
o
c
8 0 03 0405060708 09 1.0
o)
(2}

Supply pressure MPa

Secondary pressure MPa

Secondary pressure MPa

Primary pressure

4K

0.7 MPa
0.4
0.3
\\
0.2
N
\
0.1
0 100 200 300 400 500 600 700 800 900
Flow #min.(ANR)
Back pressure
4K 0.7 MPa
0.7
0.6
05 N
0.4 \
0.3 \\
0.2
0.1
600 500 400 300 200 100 O
Flow ¢min.(ANR)
4K Supply pressure: 0.7 MPa
Secondary pressure: 0.2 MPa
Flow: 0 ¢/min.(ANR)
& 0.204
=
® 0.202
= il
2 0.200 B ——
& ——
o —
5 0.198
Py
g 0.196
°
c
8 0 0.3 04 0.5 06 0.7 08 09 1.0
o)
2 Supply pressure MPa

122

Secondary pressure MPa

Secondary pressure MPa

Primary pressure

8K 1 MPa
0.9
0.8
0.7
0.6 N
0.5 iy
0.4
0.3 g
0.2
0.1
0 200 400 600 800 1000 1200
Flow ¢min.(ANR)
Back pressure
8K 1 MPa
0.9
0.8 i
0.7
N
0.6
0.5
04 N
0.3 N—
0.2
N
01 N
600 500 400 300 200 100 0
Flow ¢min.(ANR)
8K Supply pressure: 0.7 MPa
Secondary pressure: 0.2 MPa
Flow: 0 ¢min.(ANR)
& 0204
=
® 0.202
= =]
7 0.200 &-/
» —
2 0.198
5 0
Py
g 0.196
°
c
8 0 0.3 04 0506 07 0.8 0.9
o)
(2}

Supply pressure MPa



PAIR300 scries

For more information

B Specification
Model PAIR300
Bore No. 8A 10A 15A
Port size 1/4 3/8 1/2
Medium Air
Max. operating pressure 1 MPa
Min. operating pressure Setting pressure +0.1 MPa
Proof pressure 1.5 MPa

2K: 0.005~0.2 MPa

Regulated pressure range

4K: 0.01~0.4 MPa

8K: 0.01~0.8 MPa

Sensitivity

0.2% F.S.

Repeatability

+0.5% F.S.

Air consumption(*)

11.5 I/min(ANR) F.S.

Please scan

Ambient temperature

- 5~460° C (No freezing)

Attachment Bracket
Option Pressure gauge (PG—40S)
Weight 875 ¢

* For supply pressure 1 MPa.

I Order form (Example)

@ Adjustable press. range

‘ PA|R200J-8AJ- 2K-[a' 2K 4K 8K
¢ ¢ ¢ 0.005~0.2MPa | 0.01~0.4MPa | 0.01~0.8MPa
Precision Regu\ator Port Size @ @ @ Gauge
PAIR series 186?& 113//48 Adi u?ab\e Gauge TErOer; d Blank Without pressure gauge
15A:1/2 Press. Range C Pressure gauge (PG—40S)
®@ Port thread
Blank G NPT
Rc thread G thread NPT thread

| Dimensional drawing(mm)

212.5

Panel mounting hole

<
X
]
=
_T
Panel t

h
1.3

|
A = B ‘ | !
Rjﬂ!%ﬂm 3% j ==2p
Bleed £ {—(ﬂ 2155 — M = 3 C Ty 1
i 2x1/8 | R N
== Prissyre gauge T’T — 1 3
i port size t
SUP ~ E\ f}\( \: out % 7%787 If\ = D C\ \D
TR NG T L] LA N g 12
= A s T - e N & = ——
Pressure gauge
68 port size 68 N2x1/4

2x3/8
2x1/2
Port size




PISCO.

| Capacity

B Flow feature

Primary pressure Primary pressure Primary pressure
2K 0.5 MPa 4K 0.7 MPa 8K 1 MPa
0.9
0.2 0.4 0.8
g A\ g \ g N
s \ s \ s 07 .
o © 03 ~ 2 06
3 3 3
7} \ 7] N \ 2 05
<N 7] »n 0.
o \ o A\ g
g 01 "‘\ g 02 N a 04
= e 2 g3
@ @ g O
E -8 0.1 -8 0.2
e} Qo o r
(8] (8] (&
Q [0} o 0.1
w 7] w
0 1000 2000 3000 4000 5000 0 1000 2000 3000 4000 5000 6000 7000 8000 0 1000 2000 3000 4000 5000 6000 7000 8000
Flow ¢min.(ANR) Flow ¢min.(ANR) Flow ¢min.(ANR)
B Relief characteristics
Back pressure Back pressure Back pressure
2K 0.5 MPa 4K 0.7 MPa 8K 1 MPa
1.0 \
0.5 AN 0.7 0.9 N
g g g
= \ = 06 N S 08
© 04 N ® \ g o7
o o st . N
= S5 05 = S N
? \ ? N @ 06
g 03 \ S . 4 \d
Q a v a 05 N
> > ey
T 02 S 03 g 04
e) - ke o
c C < 03
9 g 0.2 o
g g \ ® 02
o o1 N o4 - wn N
’ 0.1
0 3500 3000 2500 2000 1500 1000 500 O 0 4000 3000 2000 1000 0 0 6000 5000 4000 3000 2000 1000 O
Flow ¢min.(ANR) Flow ¢min.(ANR) Flow ¢min.(ANR)
B Pressure characteristics
2K Supply pressure: 0.7 MPa 4K Supply pressure: 0.7 MPa 8K Supply pressure: 0.7 MPa
Secondary pressure: 0.2 MPa Secondary pressure: 0.2 MPa Secondary pressure: 0.2 MPa
Flow: 0 ¢min.(ANR) Flow: 0 ¢/min.(ANR) Flow: 0 ¢/min.(ANR)
o 0.202 © 0.202 o 0.202
s s s
0.201 0.201 0.201
1) o | o —
5 0.200 5 0.200 — S 0.200
7] — n L— 7]
g 0.199 g 0.199 % 0.199
S 0.198 S 0.198 & 0198 L~
> = >
g 0.197 g 0.197 g 0.197
g 0.196 g 0.196 g 0.196
8 0 03 04 05 06 0.7 08 09 1.0 8 0 03 04 05 06 07 08 09 1.0 8 0O 03 04 05 06 0.7 08 0910
2 Supply pressure MPa n Supply pressure MPa n Supply pressure MPa

124



| Precautions (Read before installing)

PISCO.

(o))
A\ Caution

1. If the air supply line contains drain or particlate, etc., the
primary pressure fixed throtlle can become clogged leading to
malfunction, and therefore, be sure to use an air fiter (PAF)
& mist separator,

2. Never use a lubricator on the primary side of the regulator, as
this will posttively cause the fixed throttle to become clogged
and result in a malfunction. If lubrication is required for
terminal devices, connect a lubricator on the secondary side.

o2

/\ Warning

1. When to be during maintenance, first reduce the precision
regulatorset pressure to zero, and completely shut off the
supply pressure.

2.When a pressure gauge is to be mounted, remove the plug
after reducing the regulator pressure set pressure to zero.
(Step a—b—c)

a. Release pressure
setting to 0

(@ b. Remove
the plug

c. Mounting the
pressure gauge

o3

Product Precautions
/\ Caution

The primary pressure is relatively high (approx. 0.5 MPa or
more), the set pressure is low (approx. 0.1 MPa or less),
and when operated with the secondary side released to the
atmosphere, there may be pulsations in the setting pressure,
In this kind of situation, operate with the primary pressure
reduced as much as possible, or increase the set pressure
somewhat and restrict the secondary side line (add and adjust
a stop valve, etc.)

When used for the purpose of a relief function, and capacity
of the precision regulator is large, the exhaust sound will be
loud when being relieved, the operation with a silencer (MSR*)
mounted on the exhaust port (EXH port). (Silencer refer to
Other Auxiliary Equipment)

125

OH

/\ Caution

1. Do not use a precision regulator outside the range of
its specifications as this can cause failure. (Refer to
specifications.)

2. When mounting is performed, make connections while
confirming port direction (indications).

3. Screw a panel nut with the proper torque when mounting onto
a panel. (be listed as follows)

Model PAIR100 PAIR200 PAIR300
Torque (kgf) 12.5 21 21

LLooseness or faulty sealing will occur if tightening torque is
insufficient, while thread damage will result if the torque is
excessive,

/\ Warning

4. If a directional switching valve (solenoid valve, mechanical
valve, etc.) is mounted on the primary side of the the
precision regulator  and repeatedly switched ON and OFF,
wear of the nozzle/diaphragm section will be accelerated and
a discrepancy in the seting value may occur, Therefore, avoid
using a directional switching valve on the primary side.
In the event a directional switching valve will be used,
install it on the secondary side of the precision regulator,

5. Air is normally released from the bleed hole (the hole on
the side of the body's mid—section). This is a necessary
consumption of air based on the construction of the precision
regulator, and is not an abnormality.

6. In order to avoid operation mistakes, make sure to tighten the
lock nut after pressure adjustment.

Regulator
pressure set

Panel nut Lock nut

Bleed hole



PISCO

USUN UNUABULABSINSA DINA | P enandecintertrace
NANDEE INTER-TRADE CO.,LTD. | f ronceemervoce

¥ : marketing@nandee.co.th

314,316,318,320,322 waaiunii 32 auuiuni up9j9Ianas LIAAINT NN, 10120
Tel : 0-2675-8230 (Auto), 0-2675-8240 (Auto) Fax : 0-2212-1448, 0-2213-0360 @ :www.nandee.co.th




